P-CP-KH00234 5

8903 1989 03

O QOO OO

OO OO OO OO O OO O

1 PC12-E8031C 1

(KOINS)

9107 : 1991 07 ( ):

OO OO

Fal

(S)” 3AMYACTH ONA EETEHEHACDCOR
YA +TOI807ID333



FEMABX

46-2

BliRAH

23

" 3AMYACTH ONA GETEHOHACOCOR
+T3120710333



R

PH75-25 4B B 77 — Lt X942 7Y~ h(P-CP-KH00234)

am B X

mEES TEME mEES FEME
1 1=YFASSY 24 91-4K V7' ASSY
2 "'V ASSY 25 WAE VTR YIRASSY
3-1 A—4—ASSY(8903~9107) 26 NF1-LKY7
3-2 A—-4—-ASSY(9108~) 27 E' =Lk -4, £ -LA¥K—4(2)ASSY
4 A-3ASSY 28 T-F79ELASSY
5 431A-4ASSY 29 - 7oALY T ASSY
6 NYFNASSY 30 YYYEIYIVIY-INAE VY
7 F1-7 4K —4ASSY 31 ARYMLIVFA—LASSY
8 7°5%4)% YASSY 32 7'-LASSY
8-1 7°5%4)% YSUBASSY 33 £'—LASSY
9-1 RYN'ASSY(8903~9507) 34 799ASSY(1). (2)
9-2 KYNASSY(9508~) 35 ENEAHMASSY
10 RYN'YYIFASSY (9508 ~) 36 BIEHEASSY (7 - LlEE )
11 SHENNUY (I 37 BIRVVEASSY
12 h)R4—-ASSY(9508~) 38 E-LRYNNOYYINAE VY
13-1 avkA-1L74¥ASSY(8903 ~9205) 39-1 EEMET)YINAE VS (8903 ~9506)
13-2 ahA-)L7{¥ASSY(9206~) 39-2 EENMEDYINAE V) (9507 ~)
14 A=V RIVASSY 40 /b= V7 ASSY (R E )
14-1 AMYFFREER 41 7 =LAEYIVY) VAV
15 NI =Y . RYNE =Y ASSY. 424-4390h 142 FYON-BUFTESE. ATV HERIEN VY
16 H4WE9ASSY 43 F1BHTVIVIASSY
17 A—449ASSY 44 FE2BHV) VT ASSY
18 ATY7°ASSY 45 EIBITVUTASSY
19-1 A=Y RYYINAE VS (8903 ~9302) 46-1 27 LN A0YRFIVIN L7 (8903 ~9008)
19-2 1ZYRERYYINAE VS (9303 ~) 46-2 27 N 4BYFIYIN 7' (9009 ~)
20 kA=A V7 ASSY(1=YMA) 47-1 ZBHASSY(8903~9201)
21-1 KV MR INAE VY (8903 ~9302) 47-2 ZEHASSY(9202~)
21-2 RV MM I)YINAE VY (9303 ~) 48 Y vYEASSY(70Mal)
22 FINETYANTIMNN NP AYYINAE VY 49 Y YYEV A ASSY (7000, YR El)
23 Y1—4. NE1-LNAEVY 50 NIVANFTYAN VT ASSY

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



FE&EB
PH75-25 4B B 77 — Lt X942 7Y~ h(P-CP-KH00234)

mEES TEME mEES FEME
51 1-Y3U7L-FASSY
52 TItHY-ASSY
53 Y—ILASSY
54 1Z9RI9UMLVE SP-CVR17K )
55 F34730ha-VASSY (LN SPCVR17KF)
56 F5VAIFPTO ASSY(XZ55-13-1)
57 DXT7MNE
58 N Favko-p
59 N747 % IFASSY

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



Y FASSY

=

" 3AMYACTH OMA GETOHODHACOCOR

+7T9I20710333



P-CP-KH00234

1ZYPASSY

%5 BRES BREF YK my L ZREE %
PB00-M1001A 1=YFASSY
PB00-M1001B 1ZyPASSY PF1/4
1 |PE10-M1001A 7'—-LASSY 1 mBEBESNSER
1 |PE10-M1001B 7'—LASSY 1 mBEESNSE
2 |PC10-E7001J ' V7°ASSY 1 mBES2SR
3 |PB20-E7001E KYINASSY 1 8903~9107 mBES-1SE
3 |PB20-E7001G FYNASSY 1 9508~ mBEES-1SR
4 |PB45-M1001A AVPA-LI{YASSY 1 8903~9205 mEBEBES1-1SHR
4 |PB45-M1001B IVPE-LI{YASSY 1 9206~ mB&ES13-13E
5 |PB50-M1001A IVMA=LINRILASSY 1 mBEB14SR
5 |PB50-M1001B IVME-LINRILASSY 1 mBBES14SR
6 |PB60-M1001A TAV3s9ASSY 1 mEBES16SR
6 |PB60-M1001B TANAU9ASSY 1 mEBES165E
6 |PB60-M1001C T4 ASSY 1 mEES16SE
7 |PB60-M1002 )A—33U9ASSY 1 mEBES1TSE
8 |PB74-M1001A ATY7'ASSY 1 mBES18SHR
8 |PB74-M1001B ATY7°ASSY 1 mBHES18SR
9 |PB81-M1001 A=Y RYYINAE VY 1 8903~9302 mBEBEES19-158R
9 |PB81-M1001A AP OYINAE Y 1 mBEBES19-1388
9 |PB81-M1001B AZYMNAYYINAE VY 1 mEES19-15R
9 |PB81-M1001C AZYMNOYINAE DY 1 mEES19-1388
9 |PB81-M1001D AZYMAYYINAE VY 1 9303~ mEBES19-158R
10 |PB81-M1002A K2R INAE VY 1 8903~9302 mBEES21-15R
10 |PB81-M1002B RV MRV AE VY 1 9303~ mB&ES21-281E
11 |PB81-M1003B FINRTYAMTIMA M TN ALY mEES25R
12 |PB82-M1001 DE-8—NF1-LNAE VY 1 mEBES23SR
13 |PB83-M1001A WNAE VT R YY) RASSY 1 mBES255R
13 |PB83-M1001B NAE VY K y)RASSY 1 mE BTSSR
13 |PB83-M1001C WAE V) K 9)RASSY 1 mEBBES255R
14 |PB77-M1001A =LY -4 1 mBEES2ISR
15 |PB45-M0006D T—F79RILASSY 1 mBHES28S R
16 |PB91-M1001 NN AR = 1
17 |PB93-M1001 THt%Y—-ASSY 1 mBEES2SER
18 |PB94-M1001 H4)ILHSASSY 1
18-1 VENNZIZESEZ () 2
18-2 YL LIVY4—(TH4R) 2
18-3|PX66-E0001 7°b—-b 2
19 |PB98-M1001 1-Y3U7V—PASSY 1 mBEBESSISR
20 |AR20-N0022 77977V = 2
21 |AR20-Y0002A =771+ 2
22 |PE17-M1021B AP =MLV (A YIT)) 1 mEBESISE
23 |PB51-M8507 ADYRLAYRE-)LASSY 1 mBEBESINSE

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1113




P-CP-KH00234 1=pPASSY 1

%5 BRES BREF YK my L ZREE %

24 0101-16130 i JVNH) M16X130 4

25 |0501-1613 TYMH) 4

26 |0510-1610 TYMEYYH) 4

27 |0130-1230 Kb M12X30 4

28 |0701-1230 YRV 4

29 |0130-0620 KLk M6X20 8

30 |0500-0605 FIb 8

31 |0701-0615 YRV 8

32 AL b 65WXT6X300L 2

33 |PB71-M1001 #7°7L—LASSY 1

33 |PB71-M1001A #7"7L—LASSY 1

33-1PB71-M1002C #7°7L—4 1

33-2|PB71-E7006A YA =N (A) 2

33-3|PB71-M1015A 4 -+ (B) 1

33-4PB71-M1016C $4FH—F(C) 1

33-5PC71-M7011 AT— 8

34 |PB77-M1006 £ =LHH —4(2)ASSY 1 mEES21SR
35 |PB50-M1002D IV UDER VYA 1

1089 1113

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



R TASSY

LS ZAMYACTH ANA EETOHOHACDCDE
| +T9IEN7INI33

> .;\xwu ™

oy P
55




P-CP-KH00234

#V7°ASSY

%5 BRES BREF YK my L ZREE %
PC10-E7001J H'V7°'ASSY

1 |PC11-E7009E K V7 r—AASSY 1

2 |PC11-E7007E F=2hn—(E57) 1

3 |PC12-E7001E A—43ASSY 1 8903~9107 mBES-1SE

3 |PC12-E7001F A—4ASSY 1 9108~ mB&EBE3I-25 R

4 |PC13-E7010B NYNASSY 1 mEES6SH

5 |PC14-E7001D F1-74K —4ASSY 1 mEBESTER

6 |PC19-E7001D w848 LUhN—ASSY 1

6-1 |PC19-M7001 MLyhn— 1

6-2 PC19-M7002 MLYUT—A4 1

6-3 PC19-E7015 TLhY—MRA7VYZMILT L) 1

6-4 |AA00-M0005 K ILMW5/8-11) 120L 1

6-5 |AA20-M0003 FYMW5/8-11) 1

6-6 |1310-1435 EUATEIYF) 2

6-7 1310-1440 (} 1

6-8 |0730-1432 UbVAY 3

6-9 |1300-4025 YORIVIN S, 3

7  |PC19-E7006A 7'=97'37Yk (PH14) 2

8 |PC19-E7007A 7'—Y PH14 2

9 |1300-2015 A7y 4

10 |PC19-E7009C w—hn— 6

11 |PC19-E7016 h327 (K=Ihn'=) 18

12 |PC19-E7011B A7V (F=hn =) 18

13 |AK10-EO0001A NN WEFIN4) 18

13 |AK10-E0001B NN WEFIN4) 18 0604~

14 |PC19-E7012A OV (K=Ihw =) 6

15 |PC-43000F-(6A) w4000y 5

16 |VB00-MO0019B 7 7%3U% YASSY 1 mBES8SHE

16 |VB00-M0019C 7723 FASSYFANE-4Y%) 1 mBES8SHE

17 |0821A-18155 A8YN R WMMC-MC,P2.5) 8

18 |0101-1650 K IWMH) M16X50 32

19 |1320-0824 £y 4

20 |0520-0815 FYb 8

21 |ZA21-21613 n—=rov5+9r M16,P1.5 H 32

22 |0701-1846 YYOV/VVAY 8

24 |0730-0816 7Y% 8

25 |PC19-E7014A NWEY 1

26 |PC19-E7018 9797 WiV =3 LGE—hin' =) 18

27 |PC19-E7017 AN=H(H=AN-) 18

28 |PC10-E7001J-29 74X U (210M/M) 4

29 |PB82-M7001 NEI=-L = WA VT 1 mBEES23SR

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1114




A—#4—ASSY(8903~9107)

22
% 29
4

+T3120710333




P-CP-KH00234

A-4—ASSY(8903+9107)

3-1

%5 BRES BREF YK my L ZREE %
PC12-E7001E A—-4ASSY

1 |PC12-E7002D A-47L—A4 1

2 |PC12-E7003B YX7h A 1

3 |PC12-E7004B ¥¥7t B 1

4 |PC12-E7005A IVN7L-b 4

5 |PC12-E7006K A—7ASSY 2 mBEBES4ISHR
6 |PC12-E7012B TV YAMR LR 4

7 |PC12-E7040 n-FYR-4 4

8-1 PC12-E7030C A7AMI{FASSY 4 E R
8-2 |PC12-M7004 -3¢ 1944) 1 EILIE
8-3 |PC12-M7005A YYIMAFAMI /1) D40 1

8-4 |ZU01-6206ZZ K =LA T 1 s F
8-5 62062Z-LP03 K =WANTYLT @ Y=T7) 1 s A
8-6 1565-3015 ATY77v9 S-30 3

8-7 |1555-6220 ATY709" H-62 1

9 |PC12-E7032C 7V 7 4F B-7ASSY 4

9-1 PC12-E7033B IV TV AN Y 7h 1

9-2 |PC12-E7034A A-3GY 7N AN) 1

9-3 162082Z-LP03 RUN-T ATV 2

9-4 |1555-8025 ATV H-80 2

10 |PC12-E7023B =77 1

11 |PC59-E7005G 42)—-4ASSY 1 mBEBESSSR
12 |PC98-E3011 Ar=N7L—h 4

13 |ZS50-C8100B BY=2Z97 N 4

14 |ZU00-22220B NTIY 1

15 |TCN12015014 14 1LY—ILINBR) AP4346B7 1

16 |1565-4517 ATY7YY S-45 4

17 |1555-6825 A7) H-68 8

18 |SA1-45BSS ANJBLT YV 4

19 |C2N-1/4-PT1/8 FA-72MITAVT A4 2

20 IN2-21/4 F1-7 1

21 |ZS50-B8100 JN=-2=97° W 1

22 |0100-1655 Kb M16X55 16

23 |0130-1635 ' JLh M16X35 14

24 |PC12-E7029 NWEV 1

25 |0131-2035 " JWA(H) M20X35 12

26 |AA00-M0009 b H M20X62L P1.5 12

27 |0101-1685 i IMH) M16X85 8

28 |0510-1610 FYMEYYH) 24

29 |0701-1640 YRV 22

30 |0520-3024 FYh P35 8

31 |0500-2016 TYb 20

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

87940




P-CP-KH00234

A-4—ASSY(8903+9107)

3-1

%5 BRES BRAH-HR my L ZREE %
32 |0500-1613 FTYb 24
33 |0510-2012 TIMBEYY) 20
34 |PC12-E7042 7b—b 6
35 |PC12-E7038 A% 6
36 |PC12-E7041A AT— 4
37 25NN YMI 47 12.9M/M) 8

1089

87940

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



A—4A2—ASSY(9108~)

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

A—4%—ASSY(9108~)

14 |ZU00-22220B
15 |TCN12015014
16 |1565-4517

17 |1555-6825

18 |SA1-45BSS

19 |C2N-1/4-PT1/8
20 |N2-2-1/4

21 |ZS50-B8100

22 |0100-1655

23 |0130-1635

A'TIUH 100X180X46
14— (NBR) AP4346B7
ATY7YY S-45
A7) H-68

ANUBLT Y2

F1-7 74974V IN'H)
YUIVYIRFI-T
JN=-2=97° I

Kb M16X55

Wb M16X35

3-2
%5 BRES BREF YK my L ZREE %
PC12-E7001F A—-4ASSY
1 |PC12-E7002D A-47L—A4 1
2 |PC12-E7003B YY7MA) 1
3 |PC12-E7004B Y¥7MB) 1
4 |PC12-E7005A IVN7L-b 4
5 |PC12-E7006K A—7ASSY 2 mBEBES4ISHR
6 |PC12-E7012B TV YAMR LR 4
7 |PC12-M7006 nANYR=4(1) 2
8 |PC12-E7030D AFAM (N ASSY 8
8-1 |PC12-M7004A A—-7(AC4A) 1
8-2 |PC12-M7005C YYIMAFAMI /1) D40 1
8-3 |ZU01-6908ZZ/P03 K" —ILATYUH (R YN—-7") 1
8-4 69082Z-LP3 NTIUY 1
8-5 1565-4017 ATY7v9 S-40 3
8-6 15556220 ATY709" H-62 1
9 |PC12-E7032C 7V 7 4F B-7ASSY 4
9-1 PC12-E7033B IV TV AN Y 7h 1
9-2 |PC12-E7034A A-3GY 7N AN) 1
9-3 162082Z-LP03 RUN-T ATV 2
9-4 |1555-8025 ATV H-80 2
10 |PC12-E7023C Y=W)T-7 1
11 |PC59-E7005G 42)—-4ASSY 1 mBEBESSSR
12 |PC98-E3011 Ar=N7L—h 4
13 |ZS50-C8100B BY=2Z97 N 4
1
1
4
8
4
2
1
1
16
14
1

24 |PC12-E7029
25 |0131-2035
26 |AA00-MO0009
27 |0101-1685
28 |0510-1610
29 |0701-1640
30 |0520-3024
31 10500-2016

AWEY

i IWM(H) M20X35
&Lk H M20X62XP1.5
i IMH) M16X85
TYMEYYH)
YRV

T9b P35

FTYb

N N W — = =
O 0 N N O NN DN

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1116




P-CP-KH00234 A—4—ASSY(9108+~) 3-2

%5 BRES BRAH-HR my L ZREE %

32 |0500-1613 FIb 32

33 |0510-2012 TIMBEYY) 20

34 |PC12-E7042 7b—b 5

35 |PC12-E7038 A% 6

36 |PC12-E7041A AT— 4

37 |AA50-K0001 2V YAYMIAX6.4 8

38 |PC12-M7007 N AN YR -4(2) 2

39 ARM =L 1

1089 1116

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



O—3ASSY




P-CP-KH00234 A—7ASSY 4
%5 BRES BREF YK my L ZREE %
PC12-E7006K A-3ASSY

1 |PC12-E7007G A-564 ) 1

2 |PC12-E7008B A—7%7b 1

3  |PC12-M7003 Y=WT—7 2

4 |PC12-E7010C =77 2

5 |PC12-E7011A A)=7" 2

6 |2001-1165 0Yu4 1AG165 2

7 |2001-1080 0'v% 1AG80 2

8 |TC 9512013 T4 LY=L INBR) AE3994A0 4

9 |0891-0808 YR 2(6H9T T, 98 i F) H 2

10 |1555-7540 ATY7s9 H-175 2

11 |ZS50-B8100 HY=RZ97 I 2

12 |ZS62-0180705 7°54" SPA01-000J 2

13 |ZU00-22316 A=7A 7YY 2

14 |ZS62-0121210 7°5%" SPA04-000J 2

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1117




5 RAA—ZASSY

(5)” 3AMYACTH ONA GETOHOHACDCOR
A +191Z0710333



P-CP-KH00234

412—4ASSY

5 BRES

BB HIX

%

"%

Bt
H
Ji0.3%
3

PC59-E7005G
PC12-E8031C
PC59-E7007B
PC12-E7024A
PC59-E7003B
PC59-E7012A
PC12-E8022
PC12-E7029
PC59-M0001
LVG-75-110P
0130-1635
0701-1640
0130-1225
0701-1230
SM-A02-05-+%01

0 N O G b W DN =

—_— ) e ) - O
A W N = O

42)—4ASSY
ab e hy %y

FrRLg (9ar-4)
434-9h7—

197 9% 7MA34-9)
T4 7 9ASSY(434-4)
NWES

NWEY)

4314—4 057200-1351
T-nF747% %
I M16X35

Y ORIV RV

R IVF M12X25
YORVIVVAY

7b—h

EE - T~ <= T o B

1089

1118

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



!!!!!!!!!!



P-CP-KH00234

NYMNASSY

%5 BRES BREF YK my L ZREE %
PC13-E7010B NYFASSY

1 |PC13-E7005C TU8 NN 1

2 |PC13-E7011B 70UV YR 3

3 |PC13-E7012B SrRWIN 1

3 |PC13-E7012C PRIWIS 1 0204~

4  |PC13-M7001 IRV 1

5 |PC13-E7007 9797°(ININ) 16

6 |PC13-E7014 YSVIAGWIN! 4

7 |PC-63204C WYN MR Vb 20

8 |0500-1210 VA 26

9 0701-1230 YYOV/VVAY 26

10 |0720-1/2 26 7798790 % 24

11 |0730-1223 7Y% 26

12 |0100-1245 Kb M12X45

13 |PC13-M7002 hI—

14 |0181-1270 K IWMY=9) H

1089 1119

JAMYALCTH OMA EETOHOHACDCODE

+191E0710333




Fa—THHR—2ASSY

[S)” 3AMYACTH ONA GETOHEHACDLCOR
P A +79IZ0710333



P-CP-KH00234 F1-7 4K —4ASSY 7

%5 BRES BREF YK my L ZREE %
PC14-E7001D F1-7 4K —-4ASSY

1 |PC14-E7002D F1-7 %K -4 -4 1
2 |PC14-E7003E FIVRITHR —4 1
3 |PC14-E7004E FYRITNAT 1
4  |PC14-E7009A 1-U7487°4(91) 1
5 |PC14-E7010F nN=7hv79 1
6 |PC14-E7008B [ 1
7  |PC14-E0019A AMTEY 1
7-1 |PE11-E8096 ATVUTE Y 1
7-2 |PE14-E0024 4% =200 1
8 |2001-1155 0Yu4 1AG155 1
9  |AA00-EO0007A /A 4
10 |UNC5/8-40L FIWMIEVR40MM, V2 UNC 5/8)| 2
11 |0100-1660 Kb M16X60 4
12 |0100-1645 Ik M16X45 6
13 |0130-0820 KLk M8X20 1
14 |ZA20-22016 n—FBY4+9k M20,P2.5 H 4
15 |0500-1613 VA 10
16 |0500-0865 VA 1
17 |0720-2032 ObVAY 4
18 |0701-1640 YYOV/VVAY 10
19 |0730-0816 ObVAY 1
1089 1120

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



TSRBXFTASSY

3AM4YALCTH ONA EETOHOHACODCDE
A +7T9I20710333




P-CP-KH00234

7°744)% ¥ ASSY

Fob

sy

He HRAES LR my L ZREE =
VB00-M0019B 7 7%3U% Y ASSY pui e NC|
VB00-M0019C 7°7#4)% ¥ ASSY 9009~ Xt A~ a]

1 |VB00-M0020B 7°5%48)% ¥SUBASSY(¥—4LR) 1 mBE&HEES-15HE

1 |VB00-M0020C 7°7#4)% ¥ SUBASSY 1 9009~ REESc-13B GHLE

2 |VB11-MOOO1A F=2hn'—(1) 1

3 |VB11-M0006C —2hin'—(2) 1

4  \VB31-M0007 77%3U% % 3

4  |VB31-MOO07A 7729 Y 3 9009~ WREE

5 |VB31-MOO0SA 19T %% 1

5 |VB31-M0008B 19T %% 1 9009~ WREE

6 |VB33-M0004 7-A 1

7  |VB33-E0006B VAw)) 3

8 |VB51-E0005B Y=E¥Y7° VB99-03 1

9  |VB51-E0006C h7—(7°7%9)% %) 1

10 |VB53-M0002 JIHEY 8

11 |[MX250A0-20N-01 TANE-50r0Y9%) 1

12 |ZU00-6036 w =LA TYY 1

13 |ZU00-6932 K =LA T 1

14 |SL04-5009NR NTVY 6

15 |TCX 4 18021518 14— AR4906EO 1

16 |0991-1028 WYYk 3

17 |0891-0610 YRR 2(6HYTF IR IHE) H 1

18 |AB-01 774 1

19 |ZS62-0381008 7°5%" SPA03-000J 2

20 |2002-1130 0Yv4 1BG130 1

21 |2002-1160 0Yv4 1BG160 1

22 |VB61-M0037 09 1AG414.6 VB00-M0003A-26 T3

22 \VB00-MO0003A-26 oYy (3M/M) 2 MBS 3L THR 55

23 |2001-1210 0')v4" 1AG210 1

24 |1555-7525 ATY7)U9" H-T5 3

25 |AB50-M0002 VAV 1

26 |AA00-M0008 R IWb 8

27 |0520-1815 FYb 8

28 |0701-1846 YRV 8

29 \VB61-M0038 oYy 1AG379.4 VB00-MO003A-26T3E XX

29 |VB00-MO0003A-26 oYY (3M/M) 2 ME {1 CTHR5E

30 |0141-1645 &Ik HP2.0 4

31 |0701-1640 YRV 12

32 |0520-1613 FIb 8

33 |0141-1650 b H P20

1089 1121

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



TS5421)XF7SUB ASSY

L
=
=
=
=
==
=
=
il
LT
=
=]
=
E
=

+7T9I20710333




P-CP-KH00234 7°724)% ¥ SUBASSY 8-1

#e HRAES LR my L ZREE =
VB00-M0020C 7°744)% ¥SUBASSY % it A /]

1 |[VB11-MO0012A hn'— 1

2 |VB31-M0027A ¥ %(1) 1

3 |VB31-M0028C ¥ %(2) 1

4  |VB31-M0029A 7739y 3

5 |VB31-M0030B 159=F %% 1

6 |VB33-M0016 7-4 1

7  |VB33-E0010 VAWl 3

8 |VB51-E0010A 7 7%3Uh7— 3

9 A'7YUH" NJ306 6

10 |VB61-M0039 0')v9" 1AG299.4 VB00-M0003A-26 T5EX
10 |VB0O-MOO03A-26 0Yu% (3M/M) 2 MES L THRFE

11 |VB51-M0021 h7—(FAVE-H) 1

12 10991-0815 TYIRYY2(609TF M HF) H 3

13 |1555-7225 ATY709 H-T72 3

14 |1565-9030 ATY7Y S-90 1

15 |0701-1640 A7 IR 8

16 |0140-1650 Kb M16X50 8

1089 1122

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



9-1 v /NASSY (8903~9507)

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

£YN'ASSY(8903+9507)

9-1

Fob

iy

“we BRES ERRBFR- AR B e o e
PB20-E7001E HYNASSY 8903~9507

1 |PC21-E7001G RYNEUYASSY 1

2  |PK22-E3001B YN 47 %7h 1

3  |PK22-E3002B AY=7 2

4 |PK22-E3003A Y= YIR 2

5 |PK22-E3004A 71 2

6 |PK22-E3005C Va2 2

7 |PK22-E3007B FYINFI-Uhn - 1

8 |PK23-E3001A 7' L—FASSY 1

9 |PK23-E3002 U487 L—F(A) 1

10 |PK23-E3003 47° -+ (B) 1

10 |PB23-M8502 2 VRV NOV) ) 2 8903~

11 |PK23-E3004A IVN7L-F(A) 1

12 |PK23-E3005A IVN7'L-F(B) 1

12 |PB23-M8702 IVNT V=R @EIN) Yun's 2 9104~

13 |0100-1445 Kb M14X45 8

14 |0500-1411 FTYb 8

15 |0701-1435 YRV 8

16 |PK24-E3001A AFANA =R 1

17 |PC22-E7003E A7 79VAh = EHEIN) 1

17 |PB21-M7003A A7 79vah =N Cun') 1 9106~

18 |0550-1000 949+ P1.5 2 0550-1050% 18 1IE

19 |0730-1016 7Y% 6

20 |PK29-E3007C A/3 25M/M H=600 1

20 |PB21-M8716 A/J3(20M/M) PH65,75 Yuh'4 1 9106~ =700

21 |PC-65007A A7°04h RS60-60T 1

22 |PK22-E3009 A7°'07Yk RS60-11T 1

23 |PK22-E3008B AN— 2

24 |Z7J70-0601068 A—3FI-Y #60-68L(D.ID) 1

25 |PC20-E8002A 17'¥-9%—% ORB-S-280-2PC| 1 PH14-52} g —

26 |PB22-E7001E HYNIL—L PH14,PH75 1

27 |PC22-E7005B 1-UT787°4(%) 1

28 |PC22-E7006A eyiVyAIVIA 1 PH14-52} 7] —

29 |PC25-E7001C 4 R4—ASSY

30 |PC25-E8002B h)=AK U7 K84 H100G 1

31 |PC25-E8003 7 UNANY MA-B2 1

32 |CIN1/4-PT1/8 1494— 2

33 |LIN1/4-PT1/8 AAILH 2

34 N2-21/4 F1-7°(6.35M/MX3.21M/M) 3

35 |ZH60-B15%kk £ =—ik—A(15M/MX18M/M) 1

36 |PC25-E8005 h797° 6

37 |0130-0825 iR Ib 3

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1123




P-CP-KH00234

£YN'ASSY(8903+9507)

9-1

%5 BRES BREF YK my L ZREE %
38 |0500-0865 FIb 3
39 |0701-0820 YORVYID YA 3
40 |0100-0640 R IWb 3
41 |0701-0615 YOOV/VVAY 3
42 |ZF40-006018 1444 KCT06-010N 2
43 |O1T6X**k*xCU MY 47°(CU,6M/MXT1) 1
44 |PC-65013C [ 4
45 |PC22-M8004 RYN AR 4 PH14-52p & —
46 |HC-E0400C RYNYY A ASSY 1 PH14-520&]—
47 |PC21-E7012B RINN LN - 2
48 |2002-0140 0')y4" 1BP140 2
49 |1420-1550 - 1
50 2001-1050 0Yv%" 1AG50 2
51 |2001-1060 0% 1AG60 2
52 2001-1160 0Yu4" 1AG160 1
53 #Yh25Y21(M10,P1.5,15L) 1
54 0991-0812 YR 26097 H MY E) H 3
55 |1555-7525 ATY709" H-75 2
56 |0100-1655 Kb 2
57 |0701-1640 YRV 2
58 |0100-1235 A 11
59 |0100-1245 /A 2
60 0500-1210 FYb 2
61 0701-1230 YRV 13
62 |0720-1225 7Y% 3
63 |0100-1445 /A 4
64 |0701-1435 A7 IR 4
65 |0100-1060 R Ib 1
66 0130-1020 Kb 4
67 |0500-1008 FYb 5
68 |0701-1025 YOIV VAY 4
69 |0730-2032 7YY 8
70 |1300-4030 ATUIREY 8
71 |ML92-A0013 T=M—rEYHIASSY(R) 1
72 IML92-A0020 T=Ir —rEYIASSY(L) 1
73 |PC-43415 VYI(NWES DPY 1
74 |PC-43416 NWEV (NWES DD 1
75 |0100-0830 R Ib 1
76 |0500-0865 FIb 2
77 10701-1230 YRV 2
78 FI-Y 250L tU7{12M/MXP15 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1123




v /YASSY (9508 ~)

12-11

12-9

[ ]
8
B
=

[ |
= [
=
i £
Ea
-

+
=
:
=




P-CP-KH00234

£YNASSY(9508)

9-2
%5 BRES BREF YK my L ZREE %
PB20-E7001G HYNASSY 9508~
1 |PC21-E70011 RYNEUYASSY 1
2 |PB22-E7001E FYNIL—L PH14,PHT5 1
3 |PB22-M1001 A7°39van -4 1
3-1 |PB21-M7003A A7 79vAh =N (und) 1
3-2 |PB21-M8729 7'7rk 1
3-3 |AS20-K0002 h357°ASSY(R—Ibhn'—) KA-30| 1
3-4 ML91-A0198 PRIV PDY 1
4  |PB21-M7001 FYNYPTFASSY 1 mEBES10SER
5 |PB21-M8721 EVY X YFASSY 1
5-1 |PB21-M8722 A% 4
5-2 PB21-M8723 AR (LH) 1
5-3 PB21-M8724 14N (RH) 1
5-4 PB21-M8725 V% 2
5-5 PB22-M8706 A% 2
6 |PB21-M8716 A/3(20M/M) PH65,75 1
7 |PB21-M8710A FI-Vhin - 1
8 |PB21-M8718 KYNDN-ASSY 1
8-1 |PK29-M5011 AL WEIN DN =) 1
8-2 PB21-M8719 AT— 2
8-3 |PK29-M5012 RINAN =47 1
8-4 |PK29-M5014 794 2
8-5 |0730-2445 7Y% 2
8-6 |1300-5045 A7y 2
8-7 |AS10-M0003-1000  |FI—Y 6M/M 2 WERSIHvH
9 |PC22-E7005B A-UT787°4(0%) 1
10 |PC22-E7006A VYAV 1
11 |HC-E0400C RYNY A ASSY 2 mBES1NSE
12 |PB21-M8727 1-E"YhE-4ASSY 1 ASSYTHBTRAE S 12-1~ 12111255
12-1|PC20-E8002A 17'3v-9%—% ORB-S-280-2PC| 1 BARANVK YT
12-2|PK22-E3009A A7°'07Yk RS60-11T 1
12-3|PK24-E3001B AFANA =R 1
12-4/0130-1060 K JLh M10X60 1
12-5/0500-1008 VA 1
12-6/0100-1235 Ik M12X35 3
12-7/0720-1225 VA 3
12-8/0701-1230 YRV 5
12-9/0100-1245 b M12X45 2
12-10/0500-1210 iy 2
12-11/0991-0812 YR 26097 H MY E) H 2
13 |ML92-A0020B T=M"—rEYHASSY LH 1
14 |ZJ70-0601070 A—5FI—Y #60-70L(D.1D) 1

1089 90828

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



P-CP-KH00234

£YNASSY(9508)

9-2

%5 BRES BREF YK my L ZREE %
15 |PC25-M8501 hYAE—ASSY 1 mBEE125R
16 |PC22-M8004 RYN AR 4

17 |PC21-E7012C FINFLUAN-ASSY 1

17-1/2002-0140 0% 1BP140 1

18 |PB21-M7005 1YHASSY 1

18-1/PC-43415 I LYENYT) 1

18-2|PC-43416 WEV(NWES OIS 1

18-3/0500-0865 FYb 2

18-4/0701-1230 YRV 2

18-5/PE17-M0064 FI-y 1

19 |2001-1120 0Yv%" 1AG120 1

20 |AP40-MO0001 £’ D20X72L 4

21 |1300-5035 AT YIREY 4

22 0690-2030 7Y% 4

23 |0100-1445 b M14X45 4

24 |0500-1411 FYk 4

25 |0510-1408 TYMRYY) 4

26 |0130-1020 Kb M10X20 4

27 |0500-1088 FIb 4

28 |0701-1025 YRV 4

29 |0100-1655 I M16X55 2

30 |0501-1613 FYh H 2

31 |0701-1640 YYOV/VVAY 2

32 |ML92-A0013B T=W4"—FEYHASSY RH 1

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

90828




10




P-CP-KH00234 YN YUY TPASSY(9508 ) 10

%5 BRES BREF YK my L ZREE %
PB21-M7001 FYNYYIPASSY

1 |PB22-M8502 VAN N AS ) 1
2 |PB23-M8701 7'L-FASSY 1
2-1 |PB23-M8502 VL VAV NC VY 2
2-2 |PB23-M8702 IVNT L= 2
2-3 |0130-1450 Kb M14X50 8
2-4 |0500-1411 FTYb 8
2-5 |0701-1435 YRV 8
3 |PC22-M3804A Y=WiEIIR 1
4 |PK22-E3003A Y= YIR 1
5 |PK22-E3002B AY=7 2
6 |PK22-E3004B 79y 2
7  |PK22-E3005C YIb -1 2
8 |PC-65007A A7°B4Yh RS60-60T 1
9 |PK22-E3008B AN—H 2
10 |PC22-M3806A AN —#(D65X50XT1.0) 4
11 |PC22-M3807 AN —%(D65X50XT2.0) 4
12 |2001-1050 0% 1AG50 2
13 |2001-1060 0')v%" 1AG60 1
14 |1555-7525 ATY7)U9" H-T5 1
15 |0100-1235 Ik M12X35 4
16 |0701-1230 Y ORIV 4
17 |0991-0812 TYrRYY2(609TF M F) H 3
18 |0991-1016 #YrRY)2(H) P1.5 1
19 |ZJ41-15050 ¥—(1J377l) 15X10X50L 1
1089 1125

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333






P-CP-KH00234 SRENVE YN 11

%5 BRES BREF YK my L ZREE %

0 |HC-E0400C YNV ASSY 1

1 |HC-E0401B ARV 1

2 |HC-E0402C WAV WINCYRSIVE D) 1

3 |HC-E2003A IR GEIN YA 1

4 |HC-E0403 ERMEHINYV)IE) 1

5 |HC-E2005 Y9 +Ib 1

6 |UPH 456010 Uny%y CU0577D5 2

7 |DKH304269 AN~ 1

8 |UPI30385 un vty 1

9 |2001-1055 04" 1AG55 1

10 |2001-0020 0')v%" 1AP20 1

11 |HC-E2006 YUV 1

12 |HC-E2007 VYA 3

13 |HC-E2008 VA 1

14 |ZP00-030028 AUUEY 1

15 |HC-E0404 UNYENT=FEIN )T 2

16 |HC-E0405B AYRHn - 1

17 |0270-0505 AN ATT) 3

18 |HC-E2010 b N 1Y YA 1

19 |0520-1008 FY+ P15 1

20 |2001-0007 0')v4" 1APT 1

X |HC-E0400C(KIT) RIN YR =IEYb 1 ~200907 HRBEEA SRR
OHDREE. VT EBENDLELR,
—RRBEHRT D -N-NvFVEERT

1089 1126

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



12

H1)yXHA—ASSY (9508 ~)

PA

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234 HJRAA—ASSY(9508 ) 12

%5 BRES BREF YK my L ZREE %
PC25-M8501 HASASSY 9108~

1 |PC25-E8002B h)—-AK V7 K84 H100G 1

2 |PC25-E8003 7 UNANY MA-B2 1

3 |PC25-E8004B 77k 1

4  |ZF40-006018E 1444 KCT06-010E 2

5 |LIN-1/4-PT1/8 ILKFR) 2

6 |N2-2-1/4 YUIVYYRFI-T 3

7 |ZH60-A15100 £ == k—A(15M/MX17M/M) 2 IMEL L BR 55
8 |PC25-E8005 9797 6

9 |0130-0825 Kb M8X25 3

10 |0500-0865 FIb 3

11 |0701-0820 Y ORIV RV 3

12 |0100-0640 Lk M6X40 3

13 |0701-0615 YORVIVVAY 3

14 |PC25-M8001A 7°59h 1

15 |CIN-1/4-PT1/8 FA-72MITAVT A4 2

16 FN47° DEXT1.0 1

1089 1127

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



13-1 akA— LT A4 ASSY (8903~9205)
AEREEHE

" 3AMYACTH OMA GETOHODHACOCOR
+7T9I20710333



P-CP-KH00234 IVA-L74¥ASSY(8903+9205) 13-1

%5 BRES BREF YK my L ZREE %
PB45-M1001A U= {YASSY 8903~9205

1 |ZK20-F4300 AUME=74% HJ52E85 1

2 |AK20-MO005A ADYRILI4¥ 9000L 5GZ1167 1

3 |PX14-M0049A T9894%7° 7 9b 1

4 |AK40-M0023 -4 1

5  |AK40-MOO09A -4 1

6 |1310-1024 [ 1

7 10720-1020 7Y% 1

8  |1300-2520 A7y 1

9 |1310-0822 [ 1

10 |0720-0818 7Y% 1

11 |1300-2015 A7y 1

12 |ZC10-012176 997" SA120-12-7 5

13 |ZC10-008156 597" SA120-08-7 5

14 0130-0620 A 10

15 |0500-0605 TYk 10

16 |0701-0615 A7 IR 10

17 |0130-0518 ] 1

18 |0720-0510 7Y% 1

19 |1300-1210 A7y 1

20 |AK40-M0015A -4 1

21 |0510-0535 TYk 1

1089 1128

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



13-2 AYhA—)LT A ¥ASSY(9206~)
ABREHiE BEREF#HE

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234 IVMA-)L74 ¥ ASSY(9206) 13-2

%5 BRES BREF YK my L ZREE %
PB45-M1001B IVbE=T—7 WASSY 9206~

1 |AK20-N0403B ' WF74% L=4500 5GZ1002 1

2 |AK20-MO005A AOYMLI4¥ L=9000 5GZ1167 | 1

3 |PB45-M1002B £°v7A/b0-LASSY 1 FFE16~24508

4 |AK40-M0025 -4 1

5  |AK40-M0015A -4 1

6 |1310-1024 [ 1

7 10720-1020 7Y% 1

8  |1300-2520 A7y 1

9 |1310-0622 [ 1

10 |0720-0616 7Y% 1

11 [1300-1612 A7y 1

12 |ZC10-012176 997" SA120-12-7 10

13 |0130-0620 Kb M6X20 10

14 |0500-0605 FIb 10

15 |0701-0615 Y ORIV RV 10
PB45-M1002B K'v7"IuMO-LASSY

16 |PB45-M1003 777k 1

17 |PB45-M8505 -4 1

18 [1310-0512 [ 1

19 [1300-1215 A7y 1

20 |0720-0580 7Y% 1

21 |PX51-M0042 AR 1

22 |JA43-A0002D AMINASSY(T77471% 8M/M) 1 AYIVN AN —1F TERSE

22-1|JA43-A0098 #°%¥Y7° 5711462 1

22-2|JA43-A0097 Y= $¥Y7° 5GP1001 1

22-3/0510-1006 TYb 2

22-4/0701-1025 YYOV/VVAY 1

22-5/0720-1020 7Y% 1

22-6/JA43-A0160 LRIV - 1

23 |JA41-A0066 TAYN—2A7 =Y 1

24 |AL60-M0027 YYAIVUN 1

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1129




14 kA — )L/ JLASSY
AL00-M0012

13-3
13-2

PB52-M1002A

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234 aukA—- LN 2 JLASSY 14

%5 BRES BREF YK my L ZREE %
PB50-M1001B IV R ILASSY
1 |PB51-M1001A WRLE IR 1
2 |PB51-M1002A AYFINFI 1
3 |PC52-E7013 DR DAV 1
4 |PC52-E7014A AT— 1
5 |PC52-E7015A DER I 1
6 |PB51-M8505 FU7 aubA= LI —-ASSY 1
6-1 |PC52-E7004C ARYMLLIN = 1
6-2 PC52-E7005B N29(A) 1
6-3 PC52-E7010D i A(B) 1
6-4 PC52-E7021 AN 1
6-5 [ZK10-A3711 177 (FS 1Y) 1
7  |PC52-E7002E AQYMLLIN—ASSY 1
7-1 |PC52-E7004C ADYMLLIN = 1
7-2 |PC52-E7006E )s9(B) 1
7-3 PC52-E7010D i A(B) 1
7-4 PC52-E7021 AN 1
7-5 |ZK10-A3711 17 &S 1Y) 1
8 |PC52-M1007 KV7 =Y ASSY 1
9 |PC52-E7016B RYN = ASSY 1
10 |PC52-M7002 4a4=437 b 1
11 |AH-3175E 7% —(24V) 1
12 |AL60-MO0106 LY347" %"= HNOO1-04 1 068700-0701% 4]
13 |ALO0-MO0012 I-%9"707°ASSY 1
13-1/ALO0-MO0013A 7-%v9"327° PY110 1
13-2|0510-0805 TYk 1
13-3/0720-0816 ObVAY 2
13-4/AL00-M0014B AT=(1) 1
13-5/AL00-MO0015 AT—(2) 1
13-6/0130-1025 KLk M10X25 3
13-7/0500-1008 FTYb 3
13-8/0701-1025 YYRIVIVPAY 3
13-9/0550-0816 V4 K Wk 1
14 |PB52-M1002A DI WEIAIVL EDLE D) 1
14-1PB52-M1003 =K YIRASSY 1
14-2|PB52-M1005B 7'7rIMRH) 1
14-3|PB52-M1006B 7°7MLH) 1
14-4/0130-0825 IV M8X25 4
14-5/0701-0820 YOOV/VVAY 4
15 |PB52-M1001A F=L7°L—-F1) 1 mB14-1388
16 |PB52-M8502A #=L7V—H2) 1
17 |PC52-E7018 #=L7V—H3) 1
1089 80832

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



P-CP-KH00234

AVbA=LNRILASSY

He HRAES LR my L ZREE =
18 &—)b3"L(10X10X900L) 1

19 |AP6W122-R N4BYb527°(7h) DC24V 1 mB 141588
20 |S-2AW MILALYTF 2 mB14-158
21 |ACSN0-234-S2-C2003 |[HARAYF 1 mE14-1388
22 |S-308 MILALYF 5 mB 14138
23 |MD0610086 sWASDYA(UN YEVEY: 10 SE14-1381
24 |DW31-P15-CP MNAVEINT I (YT V) 1

25 K IA1EYY7(DW31H4) 1

26 MavtyMCh42P) 1

27 K IA1FYY7(CHH) 1

28 |T-15-14P 484 1

29 |L-615-5P 77 7°L—} 1

30 |SIB01-06 T4F- 2

31 |ERC16-06 41—+ 1

32 |ZL10-3010 E1-2" 10A 2

33 |F-7111-4P E1-R" KL (4P) 1

34 £¥7"44%31-F(VCT12) L=3300, 1

35 Y7 94%3-F@YY) L=10M 1 IvY vavkba-LE-4
36 |AL20-K0015 4"s9%+9+ MD8010056 10

37 |7228-3085 K A13%94 1 1YY vavka-ILE—4
38 |18044-1/2,17075-1/2 A#94F K Yh' 4,10 hN—9%) | 2

39 |AA40-M0001 )7 77 AF— A-176-13 2

40 |PC52-E7029 #7741 AMINASSY 1

41 FI-Y 3

42 FI-UHR-MEIRIEYYTAD )| 3 YA69117&R—
43 VA 3

44 10130-1020 Lk M10X20 3

45 |0701-1025 YRV 3

46 |0130-0820 Kb M8X20 2

47 |0701-0820 YRV 2

48 |0130-0612 R IV M6X12 10

49 |0701-0615 YYRIVIVPAY 12

50 |0270-0612 A9)1 4

51 05000605 FYb 6

52 0270-0420 A9)1 4

53 |0500-0432 FIb 13

54 |0701-0410 YRV 6

55 |0270-0412 A41)a 3

56 |0270-0320 A9AINATT) 8

57 |0500-0324 FYb 20

58 |0701-0307 YORVYID 12

59 |0270-0312 A9)1 6

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

80832




P-CP-KH00234

VA= RILASSY

#e HRAES LR my L ZREE =
60 |7229-3085 FIR4I%H4 1

61 |0270-0516 s 6

62 |0500-0540 FTYb 12

63 0701-0504 YOOV/VVAY 12

64 |0280-0516 ANAH74T7T) 6

65 |PC55-E7003 7'7rk 1

66 |PC52-E7020A 794 1

67 PB33-M1005 IVIMNYIT 4774 1

68 (ZL10-3015 E1-2" 15A 2

69 |ZH60-A08100 E"=-)bik-A D8X10X1000L 1 L=3RR MBI THRSE
70 [17211-1 EFR 42293(TVE AN -Y%) 1

71 31—-1(0.75X5.1M) 1

72 1-}'(3.0X5.2M) 2

73 |1360R A294(FR) ELYIR 1

74 |S-301 M IWLALYTF 1 mB14-13818
75 |AL20-MO0011 M ILALYTF 2 mB14-13818
76 |PC52-E7017D JYL—K"Y)RASSY 1

1089

JAMYACTH ANMA EETOHOHACODCDE

80832

+191E0710333




14-1 Ay FHEEER

15 21 (BLRAYF) 20 20 75 19 U4OYrZUT:5R)

- \\ \ \ /

= N FEjMANUAL N2 )l PANEL
Witz \sTor IFEG
REMF FOR€V. TItIL 75
ACCEL CHANGE
BEjauTo 1) REMOTE

ON
A

ON

PERAT

WORK LAMP ELECTRIC

WATER PUMP

74 20 75
= S—2AW 5—822
[
VY N
ie]|efeli
ON-OFF ON-OFF-ON ON-ON @ @ @
ON-ON

" 3AMYACTH ONA GETOHOHACOCOR
+T3120710333



P-CP-KH00234 AMYFFERREX 14-1

%5 BRES BRAH-HR my L ZREE %
AMYFIA NMFR

15 |PB52-M1001A #—=L7°L—M1) 1

19 |AP6W122-R N40Yr527°(7h) DC24V 1

20 |S-2AW MIIVALYF 2

21 |ACSN0-234-S2-C2003 |hLA(YF 1

22 |S-308 MIIVALYF 5

23 |MD0610086 TLEXYYT (M VAAYF) 10

36 |AL20-K0015 4y9%+Y+ MD8010056 10

74 |S-301 MIIVALYF 1

75 |AL20-MO0011 MIIVALYF 2

1089 80921

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



15 RoTH =2 IRyF—IASSY. AaA—ETH Uk
PB52-M1007
&f
4
~1
7
7
1 A
T
%
8
PC52-E7016B PC52-M7002

11

S

. V.4

A

" ZAMYALCTH ANA EETOHOHACDCDE

+7T9I20710333



P-CP-KH00234

RV =Y BINE =Y ASSY. §ar-4eUk

%5 BRES BREF YK my L ZREE %
PB52-M1007 RV = ASSY

1 |PC52-E7023B 7'VYy¥ -y 350K 1

2 |ZF92-006014E 212494(5"-Y") KGA06-020E 1

3 |ZF93-000060 1=4U(KU 6-B) 1

4 |ZF90-006018 14494(KLN6-PT 1/8-B) 1

5 |FJ80-301 WEY 1

6 |ZC10-006146 997" SA120-06-7 4

7 |0130-0615 Kb MEX15 4

8 |0500-0605 FYb 4

9 |0701-0615 YRV 4

10 179N 47°(SUS304) M1.2T6X4000SA| 1 AMBS 31 THRFE
PC52-E7016B FYN =Y ASSY

11 |PK52-M5010A 7L = (In) 250K 1

12 |ZF92-006014E 214#94("=Y") KGA06-020E 1

13 |KC-6PT1/4-B WNATI4ITAVY 1

14 179N 47°(SUS304) M1.2T6X4000SA| 1 AMBS 3 THRFE

PC52-M7002
15 |PC52-M7003A
16 |PC52-M7004
17 |PC52-M7005

Jar=4vob

43)—4ASSY 1005691381

Y I#L—4ASSY 076100-0110
*—(a%49%)

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1131




16 FAILEJASSY

8903~9305

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

FT4NV45)ASSY

iy

we HaES EHELFR- AR EEqpey o BE
PB60-M1001A T3V IASSY 8903~9305
PB60-M1001B T4V 3UHASSY 9306~ 9504
PB60-M1001C TAV3 9ASSY 9505~
1 |PB61-M1001B % VY] 1 8903~9305
1 |PB61-M1001C V0%V 1 9306~
2 |AT30-E0002B Wik—hn—(1) 2 8903~9305
2 |AT30-E0002B k=N —(1) 1 9306~0104
2 |AT30-MOO003A k=N - 1 0105~0604
2 |AT30-M0003B IUik—Ihn - 1 0605~
3 |AT50-E0005 7474 1
4 |PB61-E8010A #4953V A —F SS600 1
5 |PK61-M5010 YRV 1 0501 (E5BEDABRATT
5 |PA61-M1032A I *YFASSY 1 0502~
5-1 |CPB-10T YRV 1
5-2 PA61-M1033A 77k 1
5-3 |0102-0535 iR VMSUS304) 1
5-4 |0702-0513 A705 7w (SUS304) 1
5-5 |0130-0512 A 1
5-6 |0701-0513 YYOV/VVAY 1
5-7 |0722-0616 795%(SUS304) 1
6 |AH70-E0002B WY%U(JUT AN AR) D240X300 | 1 9306~
7 |12813-1102 I774MAILAYPASSY 1
8 |PB61-ES8008A LAV =" (—EA-49%) 1
9 PB61-E8009 #—%A4yF(071400-0780) 1
10 |ZS62-0341414 7°5%" SPA06-000J 2
11 |0130-1025 itk M10X25 8 9306~ E$ZEE16—8
12 |0500-1008 FIb 8 9306~ E%ZEE16—8
13 |0701-1025 YRV 8 9306~ E#ZEE16—8

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1132




17

13

A —AR3JASSY

" 3AMYACTH OMA GETOHODHACOCOR

+7T9I20710333



P-CP-KH00234 94—448,9ASSY 17

%5 BRES BREF YK my L ZREE %
PB60-M1002 DE—4309ASSY

1 |PB61-M1003 9A—58504 PH75-25 470194 1
1-1 24087805 7917409 20A 1
1-2 |270796-04 IXArAhTY 2
1-3 |ZH50-B12070 £ Z-k—-2 1
1-4 |4055-1625 F=AN YN 2
2 |PB61-M1004 Nur 2
3 |EA65-W5130 VA=4490—Y 0 (L=950) 2
4 |PB60-M8503A b 1
5 |LS66-00312 *vv7° 1
5-1 |LS84-WO0003A F=An"Y%U(NBR) M90 1
6 |HF-K9051A FI-y 1
6 |HF-K9051A-SUS FI-(SUS) 1
7 |PB60-M8504A NWEV GY ek V) 1
8 |0500-1008 FYb 4
9 |0510-1006 TYk 2
10 |0130-0825 b M8X25 4
11 |0730-0816 7Y% 4
12 |0701-0820 YYOV/VVAY 4
13 A"JLh 65WXT6X800L 2
14 ALk 65WXT6X380L 1
15 |0220-0825 B Wb 3
16 |0500-0865 TYb 3
17 |0510-0805 VA 3
1089 1133

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



18

XTvFTASSY

A

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

ATY7'ASSY

iy

we HaES ERRBFR- AR B e o BE
PB74-M1001A ATY7 ASSY 8903~9204
PB74-M1001B ATY7°ASSY 9205~

1 |PB74-M1008 LIFATYT' 1

2 |PB74-M1009 YIMUMYIR 1 8903~9204

2 |PC79-E7014A YIMUMNEYHR 1 9205~

3 |PB74-M1002A ATY7°(1) 1

4 |PB74-M7501A 7°7rIM1) 1

5 |PB74-M7502A 7'5IM2) 1

6 |PB74-M1004A AT=(1) 1

7 |PB74-M1006 AT—(3) 1

8 |PB74-M1007 AT—(4) 1

9 |PC74-E7010 ATY7 1

10 B-1-4 FAOINY 2

11 |0130-1230 Kb M12X30 6

12 |0701-1230 YYOV/VVAY 6

13 |0130-1030 Kb M10X30 8

14 |0500-1008 FIb 3

15 |0701-1025 YRV 8

16 |0730-1016 7Y% 3

17 |PB74-M8507 ATY7 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1134




19-1 dA=wkNAROYYHIRAEL Y (8903~9302)

50
53 90 25 91 52
15 —-
50
" g 55 54 65
TANI—5— 59 56 66 T3 £ TASSY
60 25 50 61 67
76 79 18 62 53 53 64 52 62 o
B ) 63 ﬁ
| T 26
38r I
i TN 1 12
N B s Ll
1] 15 : = i 1 _ 1 C -
21~ /[ 11 154 56 |
41 59 43 e A 62 61 L
60 . B+ >14 } ) 63 ) } }
62 36 )% 23 | 1
80 37%/ &l - 2 !
30 i ‘ 32 L4 ||
E— n - - 71
| / = 72
| u 73
// T\ .
24 88 29 23 46 47 57
89 58 |
61
J— LA/ALT o 63
Jovs TA IMEVTRYIR TAINELY
. 848 35 | 10 33 7
40B 42 59 85 87 69 34
40A 60 8 \ |
8 60 1
81 — log R FASSY
39
[ ] . 1l 3/20 \\ 68 Kﬁﬁ/
t = =1 ) Uw
74 17 45 82 9 1322 19 44 \
1 [ PR L R L
KL—o~
41 31 48 49 9 5
19
16 f A=
; 1 = == %
77 f T
62 78 27 30

A-AX1E

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

YRR RYYINAE V) (8903+9302)

19-1

Fob

iy

“we BRES ERRBFR- AR B e o e
PB81-M1001 AZYRN N RYYINAE VY 8903~8812
PB81-M1001A AZYMNAYYINAE VY 8901~8905
PB81-M1001B AZYMNRYYINAE VY 8906~

1 |ZH92-100114 # =N )L7° T400-11/4B 1

2 |PB81-E8014 10340FIYIN V7 DT8P1-06 | 1

3  |PB81-M1008 Yyt 2

4 |PB81-M1009 Yok 1

5  |AF40-M0012 747" 8(PH75-25) 2

5 |PB81-M1020 747" 3(PH75-25) 2 9003~ CHLoZEEA

6 |ZF05-000100 IR (FRFR) SLCO8-000J 2

7  |HL204-04 AADFAVEATLE 1

8 |ZF08-000034 Y9I+ 4— STA06-000J 3 8903~8905

8 |ZF08-000034 Y774 — STA06-000J 2 8906~

9 |AF40-M0003 7497429 SFC08-000BH4 4

10 |ZF05-000114 IR (SSTL 11/4) 1

11 |ZF51-015012 INK =97k KLN15-040N 1

12 |ZF57-015038 Ik AR(KLF15-030N) 1

13 |ZF05-000034 IR (FRFR) SLC06-000J 1 8903~8905

13 |ZF05-000034 IR (FRFR) SLC06-000J 2 8906~

14 |ZF02-112012 LY 1-Yu5' 7" 1(SBU12-040B)| 1

15 |ZF02-034012 7"9Y1 SBU06-040J 1

16 |ZF02-034014 7"9Y1 SBU06-020J 1

17 |ZF44-020034 I#95(*R) KSA20-060N 1

18 |ZF40-006018 1494 KCT06-010N 2

19 |ZF40-006014 31494 KCT06-020N 2

20 |ZF40-015038 J144% KCT15-030N 1

21 |ZF40-015012 1444 KCT15-040N 1

22 |ZF40-020034 1444 KCT20-060N 2

23 |ZF00-000034 =97° SNP06-000J 2

24 |AF40-MO0002A 7474 1 8903~8812

24 |AF40-M0013 7474 1 8901~

25 |AF00-E0002 =70 1 8903~8905

25 |AF50-M0134 7474 1 8906~

26 |ZF74-000012 £—A7%7°4 10-0808 1

27 |ZF74-000100 F—A7474 10-1616 4

28 |ZF74-000114 F—A74774 10-2020 1

29 |ZF78-000034 K—ATH74 14-1212 1

30 |ZF78-000100 f—A74°7°% 14-1616 4

31 |ZF78-000114 K—AT747°4 14-2020 1

32 |ZF79-000034 K—ATH74 15-1212 1

33 |ZF01-112114 =97 W (SRN12-100B) 1

34 |ZF61-23320950 Hh—ZASSY IB5.5-35X52-12NX950L, 1 R WEREE)

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1135




P-CP-KH00234

YRR RYYINAE V) (8903+9302)

19-1

Fob

iy

e HEES AL Y4X ma Sy SREd Ui

35 |ZF61-33320800 H—2AASSY IB5.5-35X52-19NX800L, 1 =4 % 4t

36 |ZF67-53320520 H—RASSY IB5.5-280X420-25NX520L| 1 h=F4% 4t

37 |ZF67-53320650 #—ZASSY IB5.5-280X420-25NX650L| 1 R PR D

38 |ZF67-53320800 #—AASSY IB5.5-280X420-25NX800L| 2 N4t

39 |ZF61-63320750 HK—2AASSY IB5.5-35X52-32NX750L, 1 R ER D

40-A|ZF61-43320680 H—2ASSY IB5.5-35X52-19NX680L, 1 I WERZO AT BN

40-B|ZF61-43320780 H—2AASSY IB5.5-35X52-19NX780L, 1 =M%t
=Z-BH%-HE

41 17YN47(0ST-2) M1.5T6X4000GL | 1 AMEBA s THR5E

42 17YN'47°(0ST-2) M1.5T6X4000GL | 1 AMBS 3 THRSE

43 179N 47°(0ST-2) M2T15X4000GL| 1 AMBA s THR5E

44 17YN'47°(0ST-2) M2T15X4000GL | 1 AMEA {51 CER5E

45 179N 47°(0ST-2) M2T20X4000GL | 1 AMBA s THR5E

46 179 47(0ST-2) M2T20X4000GL | 1 AMBA R TERES

47 179477 (0ST-2) M2T20X4000GL | 1 AMEA S THR5E

48 N'{7° STS38,34M/MX25M/MX1280 | 1

49 IN47° STS38,34M/MX25M/MX1400 1

50 |AF00-EO003 NIFZYTW 1 8903~8905

50 |8001-661 WNUFZIT W 2 8906~

51 |ZH16-219034 NYFZY7' )L 8001-662 1 8903~8905

51 |ZF02-010034 Ly a-vu9' 7 1 8906~

52 |4055-3225 K—AN YN 2

53 |KP-C-05 KT M~ 2 8903~8905

53 |Z2S62-012210 797 1 8906~

54 |ZC00-06035 H397 U Jbb 4

55 |AC10-K0001 )97’ 3

56 |AC20-E0002 %3v7° D15 2

57 |AC20-EO011A 9397 2

58 |0701-0820 YSRIV/PVai 2

59 |0701-0615 YORV/RVMa 5

60 0130-0614 Kb 5

61 |0130-0830 PW/AN 4

62 |0500-0605 iy 28

63 |0500-0865 Tk 4

64 |ZH65-019019 VDV S 1 8903~8905

64 |ZH65-019070 A-7°LYY¥ik—A D19X1000L 1 8906~ IMBEA L THR5E

65 |AF80—-MO0012A 7799 2

66 |0141-1235 RV HP1.75 8

67 |0701-1230 YSRIV/RPVai 8

68 |2002-1040 0')v%" 1BG40 2

69 |2002-0018 0Yv4 1BP18 1

70 |PB81-M1015B Vb= L7 ASSY 1 mEFEST20SR

1089 1135

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



P-CP-KH00234 2R RYYINAE V) (89039302) 19-1

%5 BRES BREF YK my L ZREE %
71 0130-1235 /A 3

72 |0500-1210 TYk 3

73 10701-1230 YYRIVDVPAY 3

74 |ZF79-000034 K—ATH74 15-1212 1

75 |ZF01-038014 =97°)l SRN03-020J 1

76 |ZF51-006018 INK =97 KLNO6-010N 1

77 |ZC00-06039 970 7°UR Ibb 1

78 |AC20-M0054 77k 1

79 |AF10-E0001 797 1

80 |AC10-K0007 997 2

81 |AC20-M0055 77k 1

82 |ZF00-000100 =97°, SNP08-000J 2

83 |ZF51-020034 IR =97l KLN20-060N 1

84 |ZF00-000014 97"y SNP02-000F PT1/4 1 8906~
85 |VH00-M0049 1U34VFIVIN VI S6AT-KO1 | 1 8906~
86 |ZF62-0030053 ik—2A IB15-70K-6N-530L 1 8906~
87 |ZF78-000014 H—A757°4 14-0404 PT1/4 1 8906~
88 |ZF02-012014 7"9Y1 SBU04-020F 1 8906~
89 |ZS62-0140906 7°54" SPA02-000J 1/4B 1 8906~
90 |2S62-0341414 7°54" SPA06-000J 3/4B 1 8906~
91 |ZF05-000100 I (ARFR) SLCO8-000F 1 8906~
1089 1135

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



19-2 A=ykNAFAYYyHINAE> 4 (9303~)

75 78
’f% 15
\/\/ .@ 62
38 @®—59

S o

39
) 4 %P g 74
/| 8 60
24 Y 16
2% ?i?& £ :
\56

S/
\

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

A=Y R AYYINAE VY (9303 )

19-2
%5 BRES BREF YK my L ZREE %
PB81-M1001D NMEYYINAE VY
1 |KZC20-450E FIVHaArH4 1
2 |PB81-M1008 Yok 2
3 |PB81-M1009 Y9k 3/4B 1
4 |ZF05-000100 IR (A1 R) SLCO8-000J 2
5 |ZF84-2012012 K—AT474(TNHK") HL204-04 1
6 |ZF08-000034 Yr9Yh74— STA06-000J 2
7 |AF40-M0003 749749 SFC08-000BH{ 4
8 |ZF51-020012E LK =97V KLN20-040E 1
9 |ZF57-015038E Ik AA(KLF15-030E) 1
10 |ZF05-000034 IV (AA1R) SLCO6-000J 2
11 |[ZF02-114012 LY 1-yu9'7"Y1(SBU10-040B)| 2
12 |ZF02-034012 7"9Y1 SBU06-040J 1
13 |ZF02-034014 7"9Y1 SBU06-020J 1
14 |ZF57-020034E IV (AR) KLF20-060E 1
15 |ZF40-006018E 1444 KCT06-010E 2
16 |ZF40-006014E 1444 KCT06-020E 2
17 |ZF40-015038 14494 KCT15-030N 2
18 |ZF40-020012E 1444 KCT20-040E 1
19 |ZF40-020034E 1444 KCT20-060E 2
20 |ZF00-000034 =97° 1l SNP06-000J 1
21 |AF40-M0013 K—ATH7°4 1
22 |AF50-M0134 7474 1
23 |ZF74-000012 £—A74%7°4 10-0808 1
24 |ZF74-000100 F—A747°410-1616 4
25 |ZF74-000114 K—AT747°4 10-2020 1
26 |ZF78-000034 F—A79774 14-1212 1
27 |ZF78-000100 f—A74°7°% 14-1616 2
28 |ZF78-000114 K—AT47°4 14-2020 1
29 |ZF79-000034 K—ATH74 15-1212 1
30 |ZFO1-112114 =97’ L(SRN12-100B) 1
31 |ZF61-23320954 fi—2 IB55-35K-12N-950L(GW)| 1
32 |ZF61-43300804 ik—2A 1B55-35K-19N-800L 1
33 |ZF67-53300524 f—2A 1B55-280K-25N-520L 1
34 |ZF67-53300654 fi—2 1B55-280K-25N-650L 1
35 |PB81-M1022 1 AK—AASSY 1
36 |ZF61-6330080 ik—A 1B55-35K-32N-800L 1
37 |ZF61-4330068 if—2A 1B55-35K—19N-680L 1
38 17947 (0ST-2) M2T20X4000GL | 1 AMBE L THRFE
39 179N47°(0ST-2) M2T20X4000GL | 1 AMBS 3 THRSE
40 17YN'47°(0ST-2) M2T20X4000GL | 1 AME {51 TER5E
41 179YN'47°(0ST-2) M2T15X4000GL | 1 AMBS 31 THRSE

1089 1136

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



P-CP-KH00234

A=Y R AYYINAE VY (9303 )

19-2

%5 BRES BREF YK my L ZREE %
42 17YN'47°(0ST-2) M2T20X4000GL | 1 AMBS 31 THRFE
43 17YN'47°(0ST-2) M2T20X4000GL | 1 AMES L TER5E
44 17YN'47°(0ST-2) M2T20X4000GL | 1 AMBS 31 THRFE
45 N'{7°(STS38) D34XD25 1

46 N'47°(STS38) D34XD25 1

47 |ZH16-219034 WYFZY7' L 8001-662 2

48 |ZF02-100034 71 SBU08-060J 1

49 |4055-3225 f=ANUN 2

50 |ZS62-012210 797 1

51 |AC20-M0052 7'7k 2

52 |ZC42-B02040040 AT— 1

53 |AC20-E0007 h397° 73k 2

54 |ZC00-06035 9707° UK Ibb 4

55 |ZC10-006146 597" SA120-06-7 3

56 |AC20-E0002 437" D15 2

57 |AC20-E0011A 397" 2

58 |0701-0820 A7 IR 2

59 |0701-0615 YRV 5

60 0130-0614 bk M6X14 5

61 |0130-0830 KL+ M8X30 4

62 |0500-0605 FIb 28

63 |0500-0865 FYb 4

64 |ZH65-019070 441ik—2R 3/4BX700L 1 IMEA s TER5E
65 |0141-1235 ' JWA(H) M12X35XP1.75 8

66 0701-1230 YYOV/VVAY 11

67 2002-1040 0Y)v% 1BG40 2

68 |2002-0018 oYv4 1BP18 1

69 |[PB81-M1015B avbA-L L7 ASSY 1 mEES20SR
70 |0130-1235 Kb M12X35 3

71 0500-1210 FYb 3

72 |ZF40-012038E 1444 KCT12-030E 1

73 |ZF79-000034 f—A747°4 15-1212 1

74 |ZF01-038014 =97° SRN03-020J 1

75 |ZF51-006018E 14494 1

76 |ZC00-06039 H357° UK Ibb 1

77 |AC20-M0054 77k 1

78 |AF10-E0001 799 1

79 |ZC10-020218 997 2

80 |ZC42-B07025025 AT— 1

81 |AC20-M0055 7'k 1

82 |ZF00-000100 =97°, SNP08-000J 2

83 |ZF51-020034E LK ZY7 L KLN20-060E 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1136




P-CP-KH00234

A=Y EYYINAE Y (9303 )

19-2
%5 BRES BREF YK my L ZREE %
84 |ZF05-000100 I (ARFR) SLC08-000J 1
85 |VH00-M0049 1074UFIYIN VT S6AT-KO1 1
86 |ZF62-00300534 #—2 IB15-70K-105-6N-530L| 1
87 |ZF78-000014 K—AT47°4 14-0404 1
88 |ZF02-012014 7% SBU04-020J 1
89 |ZS62-0140906 7°5%" SPA02-000J 1
90 |ZS62-0341414 7°54" SPA06-000J 1
91 |ZF58-020034 T4—h4=97° b KTK20-060N 1
92 |ZF71-000012 F—A74°7°4 7-0808 1
93 |ZF51-020012E ILK =97 KLN20-040E 1
94 |ZF06-000114 IR 1
95 |ZF62-2332048 ik—2 IB55-70K-12N-480L 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1136




arkO—J)L/NJ)LTASSY(A=whA)

20

—
—

+7T9I20710333

3AM4YALCTH ONA EETOHOHACODCDE

L N 7 gﬁw\.

)
,ﬂ@

@Uzw
S
120

™ ~

DD



P-CP-KH00234

akA=LN L7 ASSY(AZYNA)

20

Fob

%5 BRES BREF YK my L ZREE %
PB81-M1015B VA=V LT ASSY
1 |PB81-M1023 avka=pN V7 1
2 |ZF51-020012E IiR"ZY97° )L KLN20-040E 2
3 |AF40-M0004 7474 8
4 |AF50-M0010 7474 1
5 |ZF40-015038 J144% KCT15-030N 1
6 |ZF79-000038 £—A747°4 15-0606 2
7 |2001-0014 0v7 1AP14 8
8 |ZF02-038014 7% SBU03-020J 1
9 |PE81-E3022 7474 1
10 |ZF41-015038 AY% 312494 KCC15-030N 1
11 |ZF79-000014 K—AT7%4 74 15-0404 2

1089

1137

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



21-1 m_RoFTnARaY vy IISAE> % (8903~9205)

22

({

Q)
O)) ?
i @ 35

32

34 51 9

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

V7 R RYIN A eV (8903+-9302)

Fob

iy

“we BRES ERRBFR- AR B e o e
PB81-M1002A o7 RYYINAE VY

1 |PB81-M1010 7709 %R V7 (NV111-150R) 1

2 |PB81-M1011 ¥ 4vik'v7" PHS2531AAR 1 YN H

3  |PB81-M1012 FYHRVU7 PHS2519AAL 1 7-LFA

4  |PK83-M5208 $7°7°L—F 1

5 |PX15-M0019 R 40T IV 1

6 |PB81-M1004 $953un47°(1) 1

7 |PB81-M1005 VUVEVIXPAY) 1

8 |PB81-M1006 TIONTINITUY 1

9 |PB81-M1007A VUVEVLY PAE) 1

10 |AH40-M0019 N=70979 2

11 |PB81-M1013 $553UN47°(4) 2

12 6232-4-145041-12  |75Y¥°(HB 06T) 1

13 16232-4-145041-11  |75YY°(HB 04T) 1

14 |ZH92-000212 21/2iK =N 1L 7°(40040°%) 1

15 |ZH92-000114 11/4F =iV V7 (4005°%) 1

15 |AV00-S0006 F =71 1/4B 1 0201~

16 |2B(2CPX1W) FCH#43vik—2(420L) 1

17 [11/4B(2CPX1W) FCH#4%3v#k—A(1700L) 1

18 |11/4B(2CPX1W) FCH#4%3vik—A(760L) 1

19 |ZF67-53320650 fi—AASSY IB5-5-280-25N-650L 1 n=F4v 4t

20 |ZF63-43320850 f—ZASSY IB5-5-105-19N-850L| 1 n=F4¥ 4t

21 |ZF67-23321300 Hh—AASSY IB5-5-280-12-1300L 1 n=F4% 4t

22 |ZF61-43321000 #—RASSY IB5-5-35-19N-1000L| 1

23 |2001-1090 049" 1AG90 1

24 |2001-1040 04" 1AG40 1

25 |2001-0030 oY% 1AP30 1

26 |2001-1030 049" 1AG30 2

27 |2001-1065 0" 1AG65 1

28 |AC30-M0001 K—=R9727 1

29 |ZF51-010038 IR =97 )b KLN10-030N 1

30 |ZF74-000100 f—A74°7°% 10-1616 1

31 |ZF79-000100 K—A7274 15-1616 1

32 |ZF74-000034 F—A747°4 10-1212 2

33 |ZF74-000012 f—A74°774 10-0808 1

34 |HA208-06 K—=AT747°9(PT3/4) 1

35 |ZF86-000034 £ VT YN~ KP-C-05 1

36 |ZF05-000114 IVK'(SSTL 11/4) SLC10-000J| 1

37 |ZH16-232114 NYUFZY7°)b 8001-10102 1

38 |TB112,TP112 F—AN YN (TFANAYP) 2

39 |4055-5035 F=AN UM 4

40 |0100-1235 iR Ib 4

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1138




P-CP-KH00234 F V7OV A Y5 (8903+9302) 21-1

#e HRAES LR my L ZREE =
41 |0500-1008 FIb 4

42 |0701-1030 YORVYID YA 8

43 |0311-1230 K IWME6HYTF) HP1.75 4

44 10311-1055 K IVMMC 6197 FY%) 4

45 |07S1-1025 RTYUT TIR(EhITFIEMI03Y)| 12

46 |0311-1030 K IM6HITH) HP1S 8

47 |07S1-0820 R7YUH TS R(6HYTFYEMEIY) 4

48 |0301-0840 K WMENITH) H 4

49 |0301-0835 R IWMMETDY 1Y 6897 F9%) 4

50 N'47°(0ST2,10M/MXT2) 1

51 |ZF07-000034 IR (45°4R) 1

1089 1138

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



RTNnARKOY YL INAE2 S (9303~)

21-2
2
%0, ¢
Uy
HK=ZEH (44 oO—23
ERADE 9
10 \
33 @\\“’
14

29 43

32-
32

Q)
O)) ?
@? 31

30

%@

8

45%

(0

q(

/L

&
847

@)
=
S 27
S
& —28
'’

(

—33

—33

0" 3AMYALCTH OMA EETOHOHACOCOR
A +T9IE07I0333



P-CP-KH00234

RV NN EYINAE VY (9303 )

5

BaEs

BB HIX

%

Fob
s

iy
ERSH

"%

0 N O G b W DN =

W W W NN N DN DNDNDNDDNDNMNDN-A2A 2 2 A o a4 a4 o
N - O © 0 4 O a1 & WO N - O © 00 O G b WO N = O

32-1
33
34
35
36
37
38
39
40

PB81-M1002B
PB81-M1010A
PB81-M1011
PB81-M1012
PK33-M5009B
PK33-M5010
PB81-M1004A
ZF61-0330
PB81-M1007A
AH40-MO0019
PB81-M1013A
6232-4-145041-12
6232-4-145041-11

PB81-M1019A
ZF63-43320854
ZF67-23321304
ZF61-43321004
2001-1090
2001-1040
0311-1030
2001-1030
2001-1065
2001-1045
AC30-MO0001
ZF02-100034
ZF74-000034
ZF74-000012
AF50-M0018
ZF86-000034
TB-112
TP-112
4055-5035
0100-1235
0500-1008
0701-1030
0311-1230
ZA30-10025
0311-1030
ZA30-08020

o7 RYYINAE VY

7" NV111K150R-R1154B-1
¥'¥#K°V7° PHS2531AAR
$'¥ik'v7° PHS2519AAL
7190Y

RTFAVT Iy
$953un47°(1)

M7 LYY YiR—-A
$43un47°(3)

nN=7hv79

VUVEVLY PACY

77" (HB 06T)

77 (HBOAT)
#9%3Uk—A(FC) 2B(2CPX1W)AN
#9%3vik—A(FC) 1.25B(2CPX1W)
#993vk—A(FC) 1.25B(2CPX1W)
i—2 IB590F-280K-19N-730GW
ik—2 IB55-105K-19N-850GW
if—2 1B55-280K-12N-1300GW
ik—2A IB55-35K-19N-1000GW
0Yv% 1AG90

0'v% 1AG40

K IVN6HYTF) H P15

0Yv% 1AG30

049" 1AG65

09" 1AG45

h397°

71 SBU08-060J
K—A757410-1212
K—AT74 7" 10-0808

LY 1=y 7vva

VT Ib=I KP-C-05
NYFIN IR NI SUST/2B
NYFN VN SUS1/2B(30M)
F-AN VN

I M12X35

VA

RV PP A

K IWM6HHTT) H P1.75

7Y%

K IM6HITH) HP15

A2 IR (6HITTYF)

DO N D OO A PR DE NN = =EH dm D =E NN = =W DAl ) e e e e e e el = NN = = e e e e e

L=420
L=1700
L=760

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1139




P-CP-KH00234 F U7 N RYINAEV) (9303 ) 21-2

%5 BRES BRAH-HR my L ZREE %

41 |0301-0840 #6597 H 4

42 |0301-0835 K ILN6HITH) H 4

43 |ZF07-000034 Ik SLBO6-000F 1

44 |PE81-M1016 A =LI4E) 1

45 |2562-0381008 7°5%" SPA03-000J 1

46 |ZF84-2014014 K—AT747°4 HL204-02 1

47 |ZF02-038014 7% SBU03-020J 1

48 |ZF74-000014 K—AT4 74 10-0404 1

1089 1139

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



22

RYIINKTUARTZOR)ANARQYvHIRAEVY

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234 FYNRTVANTIMA M BYYINAE Y 22

%5 BRES BREF YK my L ZREE %
PB81-M1003B RYNRTYANTININ WAE VY
1 |ZF62-00300534 ik—2 IB15-70K-105-6N-530L| 2
2 |ZF62-03301354 fi—2 IB55-70KX105-6N-1350L| 1
3  |ZF62-03301154 f—2 IB55-70KX105-6N-1150L| 1
4  |ZF62-13300880 #—2 IB55-70KX105-9N-880L| 2
5 |ZF62-13300550 i—2A IB55-70KX105-9N-550L| 4
6 |ZF79-000038 K—=A747°4 15-0606 2
7 |ZF78-000014 K—AT47°4 14-0404 2
8 |ZF74-000014 £—A747°4 10-0404 2
9 |ZF05-000014 IR (FRFR) SLC02-000J 2
10 |AF50-M0136 AREAYHYL BI'S SSS02-030J| 4
11 |AF50-M0040 78778 PT1/4XPT1/4 2
12 |ZF55-000038 AN WY I{UE SUHT03-403 2
13 |ZF44-015038E J14#558(KSA15-030N) 2
14 |ZF51-015012E IR =970 2
15 |ZF44-015038E 1%94(KSA15-030N) 2
16 |ZF91-006014 NohyIAINR =Y 1
17 17YN'47°(0ST-2) M2T15X4000GL | 1 AMES S TER5E
18 |AC20-K0003 h7v7° 6
19 |AC20-M0001 7'7k 5
20 |AC20-M0057 7°59h 1
21 |0130-0840 KLk M8X40 6
22 |0500-0865 FYb 6
23 |0701-0820 YRV 6
24 |ZF74-000038 f—A74°774 10-0606 4
25 |ZF79-000038 K—AT74 74 15-0606 2
26 |ZF02-012038 7Y% SBU04-030J 2

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1140




23 DA—R. NFa—LNAEVT

)
S a3
&
F—4-2
S 35

w

gty
F

(@

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

9F—4. NE1-LANAEVY

23

%5 BRES BREF YK my L ZREE %
PB82-M1001 YA—9—NE1-LNAEVY

1 |[EA68-W5001A 94 —4#§"Y7°ASSY DM-180A2 1 mBEES24SR

2  |PB82-M3503 7°5 b 1

3 |PC82-M7008 A3 WTVr=aNAE Dy 1

4  |PB82-M7001 NEI-L = WAV 1

4-1 |ZH10-000034 PAFATILE 1

4-2 |PC82-E7007 7474 1

4-3 |ZH93-280034 K =l IL7°(3P) TN400-3/4B 1

4-4 |ZH10-000034 ARFRIIVEK 2

4-5 |ZF40-020034E 14#494KCT20-060E 1

4-6 |ZF00-000014 =97° Il SNP02-000J 1

4-7 |ZF06-000012 Ik SLA04-000J 1

4-8 PC82-E7011A NE1-L5"-Y" BA10 1

5 |ZH93-280034 K=V V7' (3P) TN400-3/4B 1

6 |ZH92-000034 # =N IL7" TK600-3/4B 2

7 |[EA66-W2050 A7°L=h"Y #5260KAKUDAI 1

8  |AF50-M0005 7474 PT3/4 1

9 |PB81-M1009 Yryh 3/4B 1

10 |PC82-E7002A 777k 1

11 |PC82-M0004 #4Lu¥ 2507-006 1

12 |ZF61-43300504 —2A 1B55-35X52-19X500 1

13 |ZF61-43300654 ik—2A IB55-35X52-19X650 1

14 |ZH65-019100 441ik—2A L=150 1

15 |ZH64-019100 YA —4—ik—A(SW19-6KX1000L)| 1 IMB A ERE L6508

16 |ZH64-019100 YA —5—k—A(SW19-6KX1000L)| 1 IMB I ERSE L= 75068

17 17947 (0ST-2) M2T20X4000GL | 1 AMES 37 B 55

18 17YN'47°(0ST-2) M2T20X4000GL | 1 AMBS I BR 55

19 17YN'47°(0ST-2) M2T20X4000GL | 1 AMBS ST BR 5

20 |ZF46-000200E Ik KLA-20-000E 2

21 |ZF40-020034E 14#494KCT20-060E 2

22 |ZF57-020034E Ik (AR) KLF20-060E 1

23 |ZF51-020034E ILR=Z97° )L KLN20-060E 1

24 |ZF78-000034 K—ATH74 14-1212 2

25 |ZF74-000034 F—A747°4 10-1212 2

26 |PC82-E7006A F=AN MK 1

27 |ZH11-000034 T4—(JISB2301-PT3/4) 1

28 |ZH10-000034 FAFRINE 4

29 |ZH04-100034 YrYMPT 3/4) 1

30 |ZF00-000034 =97°)l SNP06-000J 4

31 |ZF03-034038 7990 1

32 |ZH16-219034 WYFZY7' )L 8001-662 5

33 |EA66-W2034 H—2ZY7N 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1141




P-CP-KH00234

9F—4. NE1-LANAEVY

23

%5 BRES BREF YK my L ZREE %
34 |ZH64-0192000 Dt —4—k—2 1

35 |ZH64-012100 K—A(SW-12-6KXL1000) 1 IMB L ERSS L=600%6F
36 |4055-3025 F—AN UM 5

37 |4055-2225 K—ANUN 2

38 |4055-3425 H—AN UM 2

39 |AC20-E0007 977" 7°39h 1

40 |AC20-E0010 77k 2

41 |AC20-E0011A h7397° 3

42 |ZC00-06035 9707 UR Ibb 1

43 |ZC00-06022 9797 U Wb 2

44 0500-0605 FTYb 6

45 |0701-0615 Y ORIV RV 6

46 |0130-1030 Lk M10X30 3

47 |0500-1008 FYb 3

48 |0701-1025 YYOV/VVAY 3

49 |0130-0820 KLk M8X20 4

50 |0701-0820 A7 IR 4

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1141




24

A —2—1RTFASSY

" 3AMYACTH OMA GETOHODHACOCOR

+7T9I20710333



P-CP-KH00234

9A—4K Y7 ASSY

24

Fob

%5 BRES BREF YK my L ZREE %
0 |EA68-W5001 TIRR VT 1 24VMI-300009
0 |EA68-W5001A 974 —41K"Y7°ASSY DM-180A2 1 9406 ~ 24VSW-300865(1 \EAGG-A2002% 75
1 |MI-300009-1 -4 1 EA68-W5001

1 |SW-300865-1 -4 1 =909 hiv—&—1K1t
1-1 |MI-300009-9 1U~°5 DM-180A 1 EA68-W5001
2 |SW-300865-2 991 1

3  |SW-300865-3 IZ2'%YJ(NBR) DM-180AT1 1

4  |SW-300865-4 MzhIY—)L DM-180A1 1

5 |2001-1100 oYv4" 1AG100 1

6 |SW-300865-7 {1UA"5 DM-180A1 1

7 YR SUS E&YRY 1

8  |SW-300865-9 k—%45" DM 180A1 1

9 |C3604BD # =N V7°(FLY) DM-180A2 1 9506 ~

10 R IR AN = 2

11 |0100-0520 A 3

12 IR F R VIUY 1

13 YIYRTIFNIAY 1

14 |SW-300865-15 h—1k"Y7"5% DM-180A1 2

15 |0701-0615 YYOV/VVAY 4

16 |0100-0610 /AN 4

17 |ZU00-6201ZZ F=WA TG 1

18 |ZU00-608Z WHaNTIVY 1

19 NY%Y NBR 2

20 1700 %%97 2

21 |VB 8 144 A= 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1142




25 INMEV TRy XASSY

18\g

16 —g

/

7Y
W

7!

}

70
"
)

iy

7
)
)
Hills

R
\\\

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

NAE VY R YHAASSY

25

5

BaEs

BB HIX

%

Fob
s

iy
ERSH

"%

PB83-M1001A
PB83-M1001C
PB83-M1002A
PC83-E8022A

AOB-108-RC1(R)

AOB-108RC-1
AOB-108RC-2

VK00-E0003D(R)

PB89-M1001B
48272470
48333941
UMA-0061
PC83-E7004A
PC83-M7017

WNAE VY R YY) RASSY
NAE VT R YY) RASSY
WNAE VTR YR
H4V9—-3ASSY
HNI—779 14
TANV)—7398-4-)3
77 FANV)—7E-%)
NE1-LEV7'(R)
N7 ASSY

YUIAN NI
By WA
YZf=Lh7°'0Y9

TV YANIL—}

V7= (PHPQ14)

6

7 0891-0820

8 |PC-42305B

9 |PB81-E8011B
9 |AT80-M0004
9-1 |AT80-M0005

YRR 2(6HITF IR I E) H
%— 4.763X4.763X32L
#4930 741L3ASSY OFR1225
74L4ASSY 48338-0001
h—MJYY 741% 48338-1001

PB83-M1006
0311-10110
0520-1008
0701-1025
0130-1225
0500-1210
0701-1230
0100-1050
0130-1220
0130-1025
PB83-M1007

77 9b

Wb M10X110
T9b P15
YYOV/VVAY
I M12X25
FYb

ORIV RV
R IF M10X50
Ik M12X20
Kb M10X25
hn'—(3)

- 00 N b OO P P O DD DDA E E Em E, NN =N e e e e e e e e

DJ5V-H8-8C-2-E-T-KU4-H-84-JAT18
CVU-16-C-J39-W-350-10-JA
UMA-0061

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1143




26

INFa1—LKRT

-

o

A

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

NE1-LKVT

26

5 BRES

BB HIX

%

iy
ERSH

"%

VKO00-E0003D(R)
VK11-EO0002A
VK33-E0002C
VK31-E0002B
VK25-E0002A
VK21-E0002
VK32-E0002
VK19-E0022
ZU00-5204
ZU00-6204
SA 18.26 31.75 7.9
VK51-E0001
AS568-031
VK59-E0002A
1331-0816
0131-0816
0280-0612
0270-0614
7S62-0341414
ZS62-0180705
AR90-K0011
AJ20-M0001

0 N o b~ W N = O

N N = = A ad —ad —a = A = = ©
- O © 00 dJ oo o d» W NN =+ O

NE1-LKV7(R)
w7 -

A-4 VKO01-40
A=Y

IVN7°L-h
IVNFYY7

772 VK01-40
7708 =F VKO01-40
w =LA TIY

K =ATYIY

T4 Y—IW(VK01-40)
AN =H(T70Y)

0" %' (NBR) 44.17X1.78
A8—bLFVAYYY VKO1-40
JIIEY

w W H
A7+ 7F)
AN ATT)
7°3%9" SPA06-000J
7°54" SPA01-000J
1-53V7° L}

;\;_

— = NN N O 00 S A NN =N = =" NN DNMNDNNPLD== =

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1144



27 E—LHYR—4 E—LHYHHR—%(2)ASSY

PB77-M1001A

PB77-M1006

Fal

()" 3AMMACTH ONR GETOHEHALCDCOE
P A +79IZ0710333



P-CP-KH00234

E—-LHE—4. =LYk —4(2)ASSY

27

iy

%5 BRES BAEH- X s Pt FEEH %
PB77-M1001A E=LYk—4
1 |PB77-M1002C 7L—L 1
2 |PB77-M1003 TUvAUN - 1
3 |PB77-M1004 77k 4
4  |PA77-M5002 49%30a° 4 1
5 |PB77-M6010A 499347’ 1
6 |0131-1440 R IWMH) M14X40 7
7 |0500-1411 FYb 2
8 |0500-1408 FIb 3
9 |0701-1435 YRV 4
10 |0720-1426 7Y% 7
11 |0130-1225 Kb M12X25 4
12 |0500-1210 FIb 4
13 |0701-1230 YORVIVVAY 4
14 |PB77-M1008 £y 2
15 |0690-2530 7Y% 2
16 |1300-5040 YORIVIN S, 2
PB77-M1006 £’ —=L¥E-4(2)ASSY

17 |PB77-M1007
18 |PE11-M1040A
19 10130-1025

20 |0500-1008

21 |0701-1025

£ =LY —4(2)
YVNEY

KLk M10X25
TYb
YRV

N N DN = =

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1145




28

—k7o€JL ASSY

Fal

o

A

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

F=F79IVASSY

28

%5 BRES BREF YK my L ZREE %
PB45-M0006D 1—=F79RIASSY

1 |VE00-M0052 YY) ASSY(A =7 oENaY)| 1 mEES29SR

2  DG4V-5-2A-M-KU4-H-|6 YL/ANINIVT 1

3  DGSM-01X-10-JA-J [$¥7°7L—F 1

4 |PK40-M2003 7°79b 1

5 |PB45-M0007 7 7rIMA-FTIt) 1 HEK-FMAE

6 |PB45-M0008B 7°779b 6

7 |PK43-E3012 BINFLIN = 1

8 |PK43-E3013 YORIVI/RC e VoV 1

9 |AK40-N0027 B NTI4%3-)ASSY 2

10 |ZF00-000034 =97° 1l SNP06-000J 1

11 |ZF08-000034 Yr9Y+74— STA06-000J 1

12 |ZF02-034038 7"9Y1 SBU06-030J 1

13 |ZF40-012038E 1444 KCT12-030E 5

14 |ZF51-012038E ILK =97 KLN12-030E 1

15 |ZF40-012014E 14494 KC12-PT1/4-S 1 HEFK-FMFE

16 |ZF51-012014E IVKZY7' 0 KLN12-PT1/4-S | 1 HEK-FMI2{E

17 |ZF46-000120E Ik KLA12-000E 2 B EFHK-FM®D & E

18 17YN'(7°(0ST-2) M1.5T12X4000GL| 1 AMBES (31 TR S

19 |PK11-E3067A VIZZ 1

20 |1310-1022 [ 1

21 |1310-1040 [ 1

22 |1300-3020 ATUIREY 2

23 |0730-1016 7Y% 2

24 |0130-1220 b M12X20 4

25 |0500-1210 TYk 4

26 |0701-1230 A7 IR 4

27 |0100-1045 ' JLh M10X45 4

28 |0500-1008 FIb 4

29 |0701-1025 YRV 4

30 |AC20-E0014 h797° 2

31 |AC20-E0006 77k 2

32 |0130-0825 Kb M8X25 2

33 |0500-0808 VA 4

34 Ik 1/4-20UNCX38L 4

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1146




29

T—r7HoEILDYFASSY

A

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

A=b75EN) 058 ASSY

29

%5 BRES BREF YK my L ZREE %
0 |VE00-MO0052 BYY U ASSY(A -7 oA 1
1 |VE12-K0046 NI 1
2 |VE23-K0022 ¥vv7°(BY%) VE05-42 1
3 |VE32-M0034 E ALY 1
4  |VE34-M0034 EArOYN 1
5  |VE69-K0005 TYk 1
6 |ZP00-025016 ATVUTEY 1
7 2001-0012 ovy 1AP12 1
8 |2001-0022 oYy 1AP22 1
9 |2001-0044 oYY 1AP44 1
10 |2001-1050 0Yv% 1AG50 1
11 |0301-0845 K ILN6HITH) H 7

1089

1147

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



30

Uy EYIVIY—bIMEVYT

LS ZAMYACTH ANA EETOHOHACDCDE
| +T9IEN7INI33



P-CP-KH00234

YryEIY IV -bNAEVY

30

5 BRES

BB HIX

%

Fob
s

iy
ERSH

"%

PE17-M1021B
PC91-E7008A
PE17-E2132
PE17-E2134E
PE17-M2016
PE17-M1022D
PE17-M1049B
PE17-E2009C
PE17-M2023B
AH40-MOO005A
PE17-M1023A
PE17-M1024A
PE17-M1050
PE17-M1027B
PE17-M1020
AA20-MO0003
PC-43415
PC-43416

0 N O G b W DN =

— e ) e e ) e ) - O
© 0O d4 O a b~ W N = O

0130-1235
0500-1210
0701-1230
PE17-M1051A
PE17-M1067
0500-0865

N NN NN
H WO N = O

AH)-bVAEVY (DY)

F7URTTHR—A 5BX2.2M
(}
IV9)—bN47°(14E)
N'47°(5VVB1) SLP-H
aV9Y)—bv47°(55A)
a9 —-bn'47°(55B)
47977 5B
N47°9727° 5B

¥ 3MUMN5B)
7°7rIM1)

7°b—b

7°7r9IM2)

7°7IM4)

U ILMW5/8)
+YMW5/8-11)

W LYENYT)
NWEV (NWES DD
FI-Y D2XP15 L=350
b M12X35

FIb

YORVYID YA
7°7IM3)

AN—4

FIb

N = = O P B =t ml m N = =mE om0 NN = e el e e e )

1089

+191E0710333

1148

JAMYACTH ANMA EETOHOHACODCDE




31

ABAyk)LarkA—)J)LASSY

5 r
.

V.

& 13
&—12

" 3AMYACTH ONA EETOHOHACOCOE

+7T9I20710333



P-CP-KH00234

AOYMLaAVPO—-JLASSY

31

%5 BRES BREF YK my L ZREE %
PB51-M8507 ADYMLIVPO-JLASSY
1 |PB51-M8508 T=-497°39b 1
2 |PK45-M5017 avbA-)LE—4 23050013 1
3  |PK45-M5018C N AV 1
4 |AK20-M0004 avbA-L74% 5000L 5GZ1223 | 1
5  |PX51-M0042 AR 1
6 |ZJ40-04016 - (A7) 1
7 |0991-0506 YIRYY (60T F M F) H 2
8 |1310-0612 £y 1
9 |1300-1612 A7y 1
10 |0720-0616 7Y% 1
11 |0130-0825 KLk M8X25 2
12 |0500-0865 FTYb 2
13 |0701-0820 YRV 2
14 |JA41-A0066 VA N—2R7 =Y 1

1089

1149

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

7'—=LASSY

32

iy

we HaES ERRBFR- AR B e o BE
PE10-M1001A 7" —LASSY 8903~9105
PE10-M1001B 7' —LASSY 9106~
1 |PE11-M1001A t'—~LASSY 1 8903~9105 mBEEIBSHR
1 |PE11-M1001C £ —LASSY 1 9106~ mEBESIBSE
2 |PE12-M1001C h% {ASSY 1 8903~9112 mB&ES4T-158
2 |PE12-M1001D 4 {ASSY 1 9201~ mB&ES4T1-25 18
3 |PE13-M1001B 4=oT=7'I 1
4 |PE15-M1001A Y'hF4%191ASSY PT PE25-42| 1 8903~0504 mEBESIHSE
4 |PE15-M1001B Y'hF4%171ASSY 1 0505~ mEBESIHSE
5 |VB00-E0003C ™))% ASSY 1 mE TSGR
6 | VE0O0-MO0044A $799)4% ASSY 2M-11450 1 mBESIISH
6 |VE00-M0044D ¥799)9° ASSY 1 mBEBESIISE
7  |PE11-M1164 ¥ YASSY MO-715-1-0 1
8 |PE81-M1001A E=AYUN N BYINAE VY 1 mEBESIBSE
9 |PE81-M1002 A4 RYINAE VY 1 8903~ 9506 mEBS39-188R
9 |PE81-M1002A DEANBYYINAE DY 1 9507 ~ B & S39-25 18
10 |PE17-M1001B 7" =L)UY =AY 1 mEBESHSE
11 |PE19-M1001 E R VANV ELDED, 1 mBEES2SR
12 |PE19-M1003 Abyn 1
13 |PE19-M1012B LuryEs(1) TIMY 1K U/ 2
13 |PE19-M1501A LuryevQ) MY 1K E) 1
14 |PE11-M1014B £V (1) 1
15 |PE11-M1015A £V (2) 1 8903~9105
15 |PE11-M1015D £y (2) 1 9106~
16 |0560-07513 NTYU9HIh ANT5 2
17 |AA00-MO0016 KJLh H M18X155L P1.5 55
18 |0621-1816 AY9F+YMU) H 55
20 |0131-2040 'Lk 20X40XP1.5 1
22 |0131-1630 Kb M16X30 1
24 |0131-1470 KLk 6
24 |0131-1480 i IWMH) M14X80 6
25 |0701-1435 YYRIVIVPAY 6
26 |0131-1230 K ILMH) M12X30 18
27 |0701-1230 YRV 26
28 |0131-1025 K ILMH) M10X25 8
29 |0701-1025 A7V IR 8
30 |PE13-M1016 AN=H(FIMA) 55
31 |PE81-M1014 NTVY RI9YNAE VY 1 mBES2SR
32 |0131-1250 K IWM(H) M12X50 8
33 |PE10-M1502A AV WAVY

1089

JAMYACTH ANMA EETOHOHACODCDE

1150

+191E0710333




33

E— L ASSY

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

£’ —LASSY

33

BaEs

BB HIX

%

iy
ERSH

"%

10-1
10-2
10-3
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

PE11-M1001A
PE11-M1001C
PE11-M1002C
PE11-M1003D
PE11-M1004B
PE11-M1005B
PE11-M1006A
VE36—-M0012
PE11-M1105
PE11-M1007C
PE11-M1035A
PE11-M1106
PE11-M1107
PE11-M1008C
PE11-M1009E
PE11-M8539A
PE11-M1110
PE11-M1010A
VE36-M0014
PE11-E0028
PE11-M1011B
PE11-M1037
PE11-M1111
PE11-M1112
VEO00-M0045D
VEO00-M0046D
VEO00-M0047D
PE11-M1013A
PE11-M1017D
PE11-M1018D
PE11-M1019B
PE11-M1020E
PE11-M1021D
PE11-M1022D
PE11-M1023D
PE11-M1024D
PE11-M1025D
PE11-M1026D
PE11-M1027B
PE11-M1028D
PE11-M7033
0560-07513

£ —LASSY

£ —LASSY
1STE'—LASSY
2NDt"—-LASSY
3RDE"—LASSY

ATHE -LASSY
44199E9)09(A)
7™Y2(IT4N) 80X96X80L
AN—H

4 (B)

7"9%2(I74IN) 80X96X45L
AN—

AN—H

2NDYYE9YU9(A)
2NDYY 1Y) v9(B)
79%2(774N) 70X84X35L
AN =Y

8435929)09(A)
7™Y2(ITAN) 60X74X40L
h7—(B)

4 (B)

71

AN

AN—4
1STYYEYVY U4 ASSY
2ND7YEYY) U4 ASSY
3RDYYEYY) U4 ASSY
LyrIE™s(2)

£ (4)

£ (5)

£ (6)

£ A7)

£ (8)

E(9)

E»(10)

EV(11)

E(12)

£V (13)

E(14)

EV(15)

F9MM165,P3.0)
ATYUY Y AN1T5 P=2.0

W = N N = =t =t N = N N N = N = = em em em =kt DN = NN = NN D =t b e D =t N = e ek ek

PF3/8

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1151




P-CP-KH00234

£’ —LASSY

33

%5 BRES BREF YK my L ZREE %

29 |0560-06512 A 7YY+ AN13 P=2.0 4

30 |0560-05511 AT7YUS IR ANT1 P=2.0 1

31 |0560-04510 A 7Y+ ANO9 P=15 2

32 |PE11-M1030C 799%(2) D140X80.5X10 2

33 |PE11-M1031C 795%(3) D120X71X10T 2

34 |0131-1625 K IVMH) M16X25 2

35 |0701-1640 A7 IR 2

36 |0131-1235 Kk M12X35 2

37 |0101-1245 R IWMH) M12X35 8

38 |0701-1230 YRV 10

39 |0131-1035 #JLh M10X35 51

40 |0701-1025 YORVYD YA 51

41 |0991-0820 tYhRYY)2 1

42 |PE11-M1040A YONEV, 1

43 |PE11-M1150 7Y9ASSY(1) 1 mEBSUSE

44 |PE11-M1154 7Y9ASSY(2) 1 mEBESUSE

45 |ZS50-A8100 JN=-2Z97 N 15

46 |2S50-B8100 HY=RZ97' I 4

47 |PE11-M1034A +YMM75,P2.0) 2

48 |1300-100125 A7YRE"Y 10X125L 2

49 |PE11-M1172A FIb 2

50 |AF50-M0144 VYA 2

51 |PE11-M1178 Abyn 1
AE
45,46%9)-A=y7°
(FE#ENZNE
1A= 4EL

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1151




34 v ASSY (1). (2)
PE11-M1150

PE11-M1154

| 3AMYALTH AN GETEHOHACOCOR
A +191Z0710333



P-CP-KH00234 7Y9ASSY(1). (2) 34

%5 BRES BRAH-HR my L ZREE %
PE11-M1150 799ASSY(1)

1 |PE11-M1151 794 1

2 |PE11-M1152 779k (1) 1

3 |PE11-M1153A 7'59b (2) 1

4 |PE11-M1165 EU(743Y4) 20X48 1

5 |0690-2030 7Y% 1

6 |1300-0535 YRIVIN S, 1
PE11-M1154 79Y9ASSY(2)

7 |PE11-M8554 799 1

8 |PE11-M1156 7°39b (2) 1

9 |PE11-M1166 EU(T74IY%) 1310-1847 1

10 |0720-1830 7Y% 1

11 |1300-4030 ATYYREY 1

1089 1152

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



39

AR

BN AHASSY

(S IAMYACTH AN EETOHRHALCOLCOR

+T3120710333



P-CP-KH00234

EHAKARASSY

35

Fob

iy

#E BRES ERRBFR- AR (EE APy o e
0 |PE15-M1001A Y'hF4%191ASSY PT PE25-42| 1 8903~0504 PT3/8
0 |PE15-M1001B Y 9F4%1791ASSY 1 0505~

1 |PE15-M1002A 19+1N47° PT3/8 1 8903~0504

1 |PE15-M1002B 1vFN417" PF3/8 1 0505~

2 |PE15-M1003A 794147 PF3/8 1 8903~0504

2 |PE15-M1003B 794147 PF3/8 1 0505~

3 |PE15-M7005 AUINY=)l 215X195X9T 11

4  |PE15-M7004 A% 1

5 |0130-1225 IV M12X25 6

6 0701-1230 YRV 6

7 |2S62-0381008 7°54" SPA03-000J 1

1089

JAMYALCTH OMA EETOHOHACDCODE

+191E0710333

90102



36

TIREASSY (T —LfeEA)

(S) 15

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

TRIRBEASSY(7 - LKEE F)

36

%5 BRES BREF YK my L ZREE %
0 |VB00-E0003C ") )%ASSY 1
1 |VB11-E0001F MUl —A(PH14-525"Y9%) 1
2 |VB12-E0001C =2 —(PH14-52"99%) 1
3 |ZUOO-NF316 A=7A 7YY 1
4 |DG-E1174 Y1 0.2 1 WHEH
5 |VB31-E0001C DA-L%' ¥ 1
6 |VB51-M0027 AN=H (VN VY9%) 1
7 |ZS62-0381008 7°54" SPA03-000J 1
8 |DG-E1172 4 —Lx7b 1
9 |ZU00-6313 R =WATIY 1
10 |ZS62-0341414 7°54" SPA06-000J 3/4 1
11 |VB61-E0003 1’249k D220XT0.5 1
12 |VB51-E0002C =T 1
13 |TC 8011515 14— INBR) AE3761E0 1
14 |0740-7015 NTYUTTIYR AW14 1
15 |0560-7012 NTYYY T ANT4 1
16 |VB33-E0001D Y¥7h L=323 1
17 |VB21-E0001 VawlE2drX 1
18 |CR-15-2P0-30 MERVTFIVE VD) F-9% 1 246CC/REV
19 |SC 60 8212 14 Y—I(NBR) AC3222A0 1
20 |\VB21-E0002 Y INA IV VIES DX 1
21 |VB31-E0002A E'=4v% ¥ (z=25) 1
22 |VB21-E0004 MRV 'Y L 1
23 |ZU00-30312 A=7NTUUYT 1
24 |0100-1030 b M10X30 12
25 |0701-1025 ORIV RV 12
26 |0141-1235 # JWA(H) M12X35XP1.75 14
27 |0701-1230 YRV 14
28 |0131-1445 Kb M14X45 10
29 |0701-1435 YRV 10
30 |6316AV ZARYYY" 157.5X80X3.5 1
31 |VB51-E0003 AN 1
32 |VB61-E0005 N ArYk TO5 1
33 |VB51-M0025 n—(Euh1rv)9%) 1
34 \VB59-M0007 IVAC) LG AVIIES 1
35 |VB61-E0004 N ArYk T05 2
36 |VB61-E0001 N ArYk TO5 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1154




BRI HASSY

37

[ ]
B
=
=
i |
= M
=
Lo =
=
m E3
=L
+
[
:
o




P-CP-KH00234

EEARVYUH ASSY

37

Fob

iy

“we BRES ERRBFR- AR (EE APy o e
0 |VEOO-MO044A $799)04 ASSY 2M-11450 1

0 |VEOO-M0044D ¥799) 0% ASSY 1 9205~9208

1 |2M-10849 VU4 ASSY 1

1 |2M-11450 Y8 ASSY 1 9205~9208

2 |3M-10896 Yo F1-7 1

2 |2M-11446 Yo F1-7 1 9205~9208

3 |3M-10897 EAbvAYE 1

3  |3M-11637 E'AbyBEYR(J7F) PH75-25 1 9205~9208

4 |3M-10898 SV 1

4 |3M-11638 £ AR 1 9205~9208

5 [3M-10899 AYRHn - 1

5 [3M-11639 aYN AN —(%7%) 1 9205~9208

6 |3M-10900-1 AYN 7YY 1

7 |0OSI180165 9 Un"y%Y FU1481L0 2

7 |OSI190175 9 Un%Y FU1511L0 2 9205~9208

8 [ISI100115 9 Un"y%> FU1082K0 1

9 |DWI100114 8 4" AM/—)l FD4046F0 1

9 |DWIR100114 811.3 |4 AM/—Jl FD4046G0 1 9205~9208

10 |WRT18017418 9179 (WRT 180X174X18) 1

10 |WR19018225 9I7YY" GW0344P0 1 9205~9208

11 |2002-1170 0')J»%" 1BG170 1 8903~9204

12 |2002-1100 0')v% 1BG100 1

13 |\VH00-M0025 F7NNAOYMFIVIN LT ASSY, mB46-1508
13 |\VH00-M0052C A7 WNAOYMFIVIN VT ASSY| 1 9205~9208 fmB46-25 08
14 |0311-1075 Kb 6HITFYF) 3

15 |0991-0608 wYRYY 26097+ M0YHE) H 1

16 |0991-0810 tYRRYA6HITF MY E) H 1

17 |BRT2-175190 4-19YF |nN'99797)v9" B/C GN4839V0, 2 9205~9208

19 |ZS95-01170 WYI7Y7)0%9 G170 B/C 1 8903~9204

20 |AS60-N0002 I7X%7°59 H-015 2

21 |1502-0635 AF—R—(1/4) 6.35M/M 2

22 |2002-1195 04" 1BG195 1 9205~9208

23 |4M-11703 h5—(PH75-25 £7%) 1

24 |PE11-M1035A 7™Y2(ITAN) 80X96X45L 4

X |VEOO-MO044D(KIT) | ¥724V)u3 v—& Yk 1 ~200907 B RBEEMS o G BEERLD

OHDGEIL. Y/ BENDLELR.

—HARBEHRT DV NvFVFEETRT

1089

JAMYACTH ANMA EETOHOHACODCDE

1155

+191E0710333




E—LALERYNArKO)YIINA(EVY

AZREEHA

HERE$ 5

" 3AMYACTH OMA GETOHODHACOCOR
+7T9I20710333



P-CP-KH00234

E=AEYNRYYINAE LY

38

%5 BRES BREF YK my L ZREE %
PE81-M1001A E—=LYTUN N BYYINAE VY
1 |ZF67-13300674 ik—2 IB55-280K-9N-670L 1
2  |ZF67-13300734 #i—2 IB55-280K-9N-730L 1
3 |ZF67-13301654 ik—2A IB55-280K-9N-1650L 6
4 ZF67-13320764 K—2A IB55-280K-9N-760L-GW 1
5 |ZF67-13320824 H—2 IB55-280K-9N-820L-GW 1
6 |ZF67-13321744 #i—R IB55-280K-9N-1740L-GW | 4
7 |ZF67-13320684 H—2 IB55-280K-9N-680L-GW 2
8 |ZF67-13320874 #—2 IB55-280-9N-870L-GW | 2
9 |ZF67-13320624 -2 IB55-280K-9N-620L-GW 1
10 |ZF67-13320624 K—2A IB55-280K-9N-620L-GW 1
11 17YN'47°(0ST-2) M2T15X4000GL | 1 AMES L TERSE
12 17YN'47°(0ST-2) M2T12X4000GL | 1 AMBS 31 THRSE
13 |PE81-M1005 T47°4(1) PT3/8X25L 18
14 |PE81-M1006 747°4(2) PT3/8,30L 6
15 |PE81-E0006B T747°4(C) 6
16 |PE81-E0013 79V (A) 1
17 |ZF74-000038 K—AT7% 74 10-0606 12
18 |ZF78-000038 K—AT7%7°4 14-0606 14
19 |ZF79-000038 K—AT7%4 74 15-0606 2
20 |ZF55-000038 AN Y A4Uh SUHT03-403 4
21 |2C22-038004 WUFH397° MC38-4 2
22 |ZC22-038003 YVFH727° MC38-3 11
23 |2C22-038002 WFI707° MC38-2 4
24 |2C22-038001 WUFI707° MC38-1 12
25 |2C23-1038012 1°A7°YY1 RB38-12 65
26 |AC20-M0042 VINTAVITHT 2
27 |AC20-M0020 977779k 12
28 |PB81-M8315 h7v7°(37) L=94 4
29 |AC20-M0043 VINTAVITH TS 13
30 |PE81-M1007 AT— 2
31 |AC20-E0004 9797 2
32 |AC20-E0002 477" D15 2
33 |0100-0850 #"ILh M8X50 96
34 |0130-0825 i ILEM8X25 4
35 |PE81-M1013 A7YR=AN AN 1
36 |0500-0865 FYb 4
37 |0701-0820 YRV 100
38 |ZF40-015038E 31444 KCT15-030E 6
39 |ZF05-000038 IR (ARFR) SLCO3-000J 6
40 |AH00-M0018 #=-K-2 L=1000 1 IMEL L BR 55
41 |PE81-M1018 A—4%Y¥"31U+ JRO6DC 6

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1156




P-CP-KH00234

E=LAEYNFRYYINAE VY

38
%5 BRES BRAH-HR my L ZREE %
42 |AF50-M0133 DIV Yk 1
1089 1156

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



39-1

op

plz]
=

i [B] R ek o 1 \

19
17

285 ASSY
o W 1
| | l | 62
63
O
| 3
17
34
O O %4
45 17 31 1648
47 34 32 91
5 5
53 66
50
55
56 44
A% 1R
37

(o214

NAROYywHIRAE>4 (8903~9506)

25 1413 12

15 24 21
BE¥HH

258 910 ,\)LJJOvsASSY

11 24 20 f’%

| Tor)A
d=7 )

28
99
60

avka—)L/N)L7

ol
[e]
]
[e]

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

ZBENMMAYYINAE (8903 9506)

39-1

Fyb

EHERFEA

we BRES ERRBFR- AR B e o e
PE81-M1002 AXANRYYINAE DY 8903~9506

1 PE81-M1003 N L7 7' BYIASSY 1 Y=IN7 TGMC-3-PT-RV5-50-10

2 |PE81-M1004 AVkA=N V7T SZ3A-4R2T2 1 8903~9903 m B HF SIS R

2 |PE81-M1004A kA=A VT (THMNA ) 1 9904~0411 mEBES40SE

2 |PE81-M1004B avkE=bN V7 1 0412~ BEBS OB YN’ 2333-2-150851-01

3 |PE81-M1008 7°79h 1

4 |PE81-M1009 7°39b 1

5 |PE81-M8015 A7V =Y 1

6 |PE81-M8006B =739k 1

7 |ZF65-03322000 f—2 1B55-210K-6N-2000W 8 -M4vEE

8 |ZF67-13320600 —2 1B55-280K-9N-600W 1 n-F4vEEL

9 |ZF67-13320550 ik—2A IB55-280K-9N-550W 1 "

10 |ZF67-13320550 if—2 1B55-280K-9N-550W 1 "

11 |ZF67-13320550 ik—2A IB55-280K-9N-550W 1 "

12 |ZF67-13320600 fi—2 IB55-280K-9N-600W 1 "

13 |ZF67-13320600 ik—2 IB55-280K-9N-600W 1 "

14 |ZF67-13320600 f—2A 1B55-280K-9N-600W 1 "

15 |ZF67-13320700 ik—2 IB55-280K-9N-700W 1 "

16 179YN47°(0ST-2) M2T20X4000GL | 1 AMBE TERS

17 179N47°(0ST-2) M2T15X4000GL | 1 AMBS 3 THRSE

18 17YN'47°(0ST-2) M2T12X4000GL | 1 AMBS 31 THRFE

19 179YN'47°(0ST-2) M1T6X4000GL| 1 AMES (3L TERS

20 |AF50-M0119 7474 5

21 |AF50-M0006 7474 5

22 |AF50-M0105 7474 PT1/4X75L 4

23 |AF50-M0104 7474 PT1/4X55L 4

24 |ZF74-000038 f—A74°774 10-0606 8

25 |ZF78-000038 f—A74°7°% 14-0606 8

26 |ZF78-000014 K—AT47°4 14-0404 8

27 |ZF55-000014 AN WY AU SIT702-402 8

28 |AF50-M0042 7474 PT1/4 8

29 |ZF40-015012 14494 KCT15-040N 2

30 |ZF40-012038 14494 KCT12-030N 8

31 |PE45-MOO00SA t’v PE12,21,25 2

32 |PE45-M0007 7379 PE12,21,25 2

33 FI-Y(1M/M P=5 150L) 2

34 |ZF40-015012 14494 KCT15-040N 2

35 |ZF51-015038 IR =97 KLN15-030N 2

36 |ZF41-006018 AY) 349% KCC06-010N 1

37 |KGA06-020N =y arhs— 1

38 |SSS03-040J FATAYTIBYA 1

39 |ZF40-020012 1444 KCT20-040N 1

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1157




P-CP-KH00234 ZBENMPMNTYYINAE VY (8903+~9506) 39-1

%5 BRES BREF YK my L ZREE %
40 |ZF00-000038 =97°1l SNP03-000J 1
41 |ZF08-000038 Y79+ 74— STA03-000J 1
42 |ZF02-038014 7"9Y1 SBU03-020J 1
43 |ZF40-006014 1444 KCT06-020N 1
44 |ZF45-000060 1=7Y KUA06-000N 1
45 |AC20-MO0011 7°7)9b 14
46 |PE81-M1010A 9797°7°3Ih 2
47 |AC20-E0014 h7397° 16
48 |AC20-E0003 977" D20 2
49 |AC20-E0002 977" D15 2
50 |AC10-K0001 ny7 6
51 |0130-0825 /A 23
52 0701-0820 YYRIVDVPAY 25
53 |0500-0865 FIb 20
54 0130-0620 w b 4
55 05000605 TYk 4
56 |0701-0615 A7 IR 4
57 |0100-0470 Kb 2
58 |0701-0410 YYOV/VVAY 5
59 |0130-0414 KLk 3
60 |0500-0432 FIb 5
61 |ZF40-015038 31444 KCT15-030N 2
62 |[PE81-M1016 hn'— 1
63 |0500-0816 949 Tk 2
64 |ZF01-012038 =97°b SRN04-030J 1
65 |ZF71-000012 K—274'74 7-0808 1
66 |AC20-M0015 93277 79h 1
67 |ZF57-020034 IR (FR) KLF20-06N 1
68 |AF50-E0016 70y 1
69 |ZF78-000034 K—ATH74 14-1212 1
1089 1157

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



MmO NAROYYHISAE LS (9507 ~)

39-2

!

XD / //

EID

i¢

W\R)H/A
<7

3AMYALCTH OMA EETOHOHALCDCDE

+T3120710333



P-CP-KH00234

ZBENMNOYYINAE VY (9507 )

39-2
%5 BRES BREF YK my L ZREE %
PE81-M1002A A4 RYINAE VT 9507~
1 |PE81-M1509 N7 7 BYIASSY 1
2 |PE81-M1004A k-7 R -MPT 1 ~0411
2 |PE81-M1004B VM-I R —FPF 1 0412~
3 |PE81-M1020 H797 X9 0b 1
4  |ZF67-0330240 M7 VYYrR—2 8
5 |ZF67-1330060 M7 VYsriR—2 1
6 |ZF67-1330052 1979 3 LAk—AASSY 1
7 |ZF67-1330049 197y I’ Lk—-AASSY 2
8 |ZF67-1330045 1979 3 Lk—AASSY 3
9 |ZF67-1330047 M7 VYyr—ih—2 1
10 |ZF60-0330045 ik—2 1B55—-15K-6N-450L 1
11 |PE81-M1511 VI NS VL ELDED) 1
12 |ZC10-112176 nw7 4
13 |AC10-K0001 997’ 1
14 |PB81-E8015B =" (9 E)u1Y)) 1
15 FI-y 2
16 17YN'47°(0ST-2) M2T20X4000GL | 1 AMES S TER5E
17 179YN47°(0ST-2) M2T15X4000GL | 1 AMBES (31 TR S
18 17YN47°(0ST-2) M2T12X4000GL | 1 AMBS 3 THRSE
19 17947 (0ST-2) M1T6X4000GL| 1 AMBA s THR5E
20 |AF50-M0195 7474 5
21 |AF50-M0194 7474 5
22 |AF50-M0105 74749 PT1/4X75L 4
23 |AF50-M0104 7474 PT1/4X55L 4
24 |HA208-03 7474 8
25 |PE45-M0007A 7379 PE12,21,25 2
26 |PE45-MOO008A £’ PE12,21,25 2
27 |ZF59-012014E w—AtYY' 911y 8
28 |ZF06-000012 Ik SLA04-000J 1
29 |ZF40-112012E 1444 KCO12-040E 2
30 |ZF40-112038E 14494 KCO12-030E 10
31 |ZF40-115038E 14494 KCO15-030E 1
32 |ZF46-000120E Ik KLA12-000E 4
33 |ZF44-020034E 14#94(#2) KSA20-060N 1
34 |ZF40-020012E 1444 KCT20-040E 1
35 |ZF40-015038E 1444 KCT15-030E 1
36 |KGA06-020E WAEVAEEURFYE 1
37 |ZF40-106018E 1444 KC006-010E 1
38 |ZF78-000038 K—ATH47°4 14-0606 6
39 |ZF79-000038 K—AT74 74 15-0606 2
40 |ZF74-000014 £—A7%47°4 10-0404 1

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

73436




P-CP-KH00234

ZBENMNOYYINAE VY (9507 )

39-2
%5 BRES BREF YK my L ZREE %
41 |ZF78-000014 F—A7474 14-0404 8
42 |2002-0008 0')v%" 1BP8 1
43 |2002-0014 oYv4" 1BP14 30
44 |2002-0018 oYv% 1BP18 3
45 \WEP-0-243H RS 1
46 |ZF05-000038 IR (AA1R) SLCO3-000J 1
47 |ZF02-038014 7"%1 SBU03-020J 1
48 |AF50-M0186 ARARYTYR 1
49 |AC20-M0102 9707 AT 29
50 |AA00-M0041 Kb 22
51 |AC20-M0096B h707° 72
52 |AC20-M0098B h397° 2
53 |AC20-M0099B WA Y9707 2
54 |0130-0825 Kb M8X25 3
55 |0701-0615 YYOV/VVAY 58
56 |0130-0635 Kb M6X35 58

57 10130-0620
58 |0500-0605
59 |0130-0815
60 |0500-0865
61 |0701-0820
62 |0100-0470
63 |0701-0410
64 |0500-0432
65 |0130-0414
66 MZF7401-034012
67 |ZF40-020034
68 |ZF57-020034
69 |PE85-M1044
70 0500-0605
71 |0701-0615
72 |ZC00-06024
73 |PE81-M1019
74 |ZF46-000060
75 10130-0620
76 |ZC10-06146
77 |PE85-M1045

I M6X20

VA

Lk M8X15

FYb

YYOV/VVAY
KLk M4X70
YYOV/VVAY

FYb

KL M4X14

1T AR=RAZY7 I
J1#44 KCT20-060N
IR (AR) KLF20-060N
WA

FYb

YOIV VAY
9707° UK Ibb
7°779h

Ik KLA0O6—-000N
L M6X20
597" SA120-06-7
WA

L e e ) I ' I N S oo IR & & I & » I & IR <o JEN O O

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

73436




40

a2k —JL/NJLTASSY(ZEEHA)

| 3AMYALTH AN GETEHOHACOCOR
A +191Z0710333



P-CP-KH00234

IVME=ILN L7 ASSY(ZEE R)

40

%5 BRES BREF YK my L ZREE %
0 |PE81-M1004A kA= LT 1
1 |2333-3-156900-01  |Y497°444347 1
2 |2333-3-150851-01  [IJ)—=7\" L7 ASSY SC3A 1
3 6251-4-130471-26  |93487H b 4
4 |233-309-050101-4  |A'Uik'™D 4
5 |2333-3-156018-01  |RA7)U9 049347 4
6 |233-300-080002-3  InUNIH34T 1
7 |233-300-080003-3  InUNIH34T 1
8 |233-300-080006-3  |AUNILH3ET 1
9 |233-300-080007-3  InUNIH34T 1

1089

1159

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



TJ—LEYary)—rA(EVYT

41

30 38 7 43 36 34

" 3AMYACTH ONA EETOHOHACOCOE
+7T9I20710333



P-CP-KH00234

7 =LEIY V) -bNAE VY

41

%5 BRES BREF YK my L ZREE %
PE17-M1001B 7 =L37)3U9)-bNAE VY

1 |PE17-M1002C av9Y)—kv47°(55C) 1
2 |PE17-M1003A av9)—-bn'47°(55D) 1
3 |PE17-M1004B aU9)—biN47°(55E) 1
4 |PE17-M1005C Y%=k 47°(55F) 1
5 |PE17-M1006B 2v%Y-kV47°(55G) SLP-H 1
6 |PE17-M1007C a9 47°(55H) 1
7 |PE17-M1008C IV —bin47°(55J) 1
8 |OAH-M000030149  |[av9)—bn'17°(5PPB) 1
9 |PE17-M2016 N'47°(5VVB1) SLP-H 4
10 |AH91-M0024 VY -bN47°(5MZ) 5
11 |PE17-M1028A 2v%Y—=kvV47°(55K) SLP-H 1
12 |PE17-E2009C N47°9727° 5B 1
13 |AH40-MOO005A ¥"34VM5B) 13
14 |PE17-M1010B F—AH 4N PH75-25(%19h%) 1
15 |PE17-M1066A E'VASSY 1
16 M177°V—NSS) 52XT3.2 27
17 |0131-1235 &Ik M12X35 16
18 |0701-1230 YYOV/VVAY 16
19 |PE17-M1030 AT=(1) 1
20 |PE17-M1031 AT—(2) 1
21 |PE17-M1032 AT-(3) 1
22 |PE17-M1033 AT—(4) 1
23 |PE17-M1034 AT (5 1
24 |PE17-M1035 AT —(6) 1
25 |PE17-M1036 AT =T 1
26 |PE17-M1037 AT —(8) 1
27 |PE17-M1038 AT —(9) 1
28 |PE17-M1039 AT —(10) 1
29 |PE17-M1040 AT —(11) 1
30 |PE17-M1041 AT —(13) 1
31 |PE17-M1042 AT —(14) 1
32 |PE17-M1044 A T —(15) 1
33 |PE17-M1045 N4 7°(16) 1
34 |PE17-M1020 U ILMW5/8) 2
35 |AA20-M0003 FYMW5/8-11) 8
36 |AH40-M0025B £ 9 34 Ub 5B 4
37 |PE17-M7027B 5BAYNAT 9707 2
38 |PE17-M7021B N47°9327° 5B 1
39 |AA99-M0010 #77474YASSY 1 ]
40 |AH90-M0052 4K H—Z 5BX3M 1
41 |PE17-M1069 N472°97v7° 5B 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1160




P-CP-KH00234

PAINCID VIV 0

41

Fob

%5 BRES BRAH-HR my L ZREE %
42 |PE17-M2023B N47°9327° 5B 9
43 |PE17-M1048B NATHE =k 1
44 |0141-1645 K IVRH) M16X45XP2.0 2
45 |0520-1613 Tk 2
46 |0530-1610 FUb 2
47 |AA00-M0045 KL H M16XP2.0 4
48 |0701-1640 A7 IR 4
49 |AC40-MO0O001A Y4’ (D61) 6
50 |AC40-M0002A IV 3

1089

1160

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



FNYON—BAFER. XTIV THREBEN(EVT

42

" 3AMYACTH OMA GETOHODHACOCOR

+7T9I20710333



P-CP-KH00234 YN -ETESE. AT HRRRENAE VY 42
%5 BRES BREF YK my L ZREE %
PE19-M1001 FXAN-NYrIy)aY
1 |PE19-M1002A Fyhn- 1
2  |PE19-M1006 7°7rIM1) 1
3 |PE19-M1007 7'3IM2) 1
4 |PE19-M1008B 7'7r9MQ3) 2
5 |0130-0816 Kb M80X30 4
6 |0701-0820 A7 IR 4
PES1-M1014A NAV/ESLIIY (N
7 INB50-E0002A 774 1
8 |C2N-1/4-PT1/8 FA-7 74974V (AN9) 4 ZH40-006018
9 |L2N-1/4-PT1/4 F1-7 74974V (LH4) 4 ZH41-006014
10 |ZS50-A8100 JN=-2=97° W 4
11 N2-2-1/4 YYIVYYRFI-T 1 ZH50-0604000
12 759k — W16XT3 1

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1161






P-CP-KH00234

FIBITYUFASSY

43

Fob

iy

“we BRES ERRBFR- AR (EE APy o e

0 |VEOO-MO045A T4199E99Y 05 ASSY 1 8903~9204

0 |VE0O0-MO0045C F4199€99)05 ASSY 1 9205~9208

0 |VEO0-M0045D 441992905 ASSY 1 9209~

1 |2M-10798 Y8 ASSY 1 8903~9208

1 |2M-11451 Y)U8 ASSY 1 9209~

2 |2M-10797 Yo F1-7 1 8903~9208

2 2M-11447 WUaF1-7 1 9209~

3 |3M-11442 EArOYN 1

4 |3M-11445 AR 1

5 |3M-11444 AYRHn - 1

7 |0OSI150136 8.5 UnY%Y FU2149L0 2

8 [IS1 901059 Un"y%> FU1024K0 1

9 |DWIR 90104 811.3 4" AM—)L FD3913GO 1

10 \WR15014420 DITVIY 1 8903~9208

10 |WR15014320 9174 GW0340P0 1 9209~

11 |2002-1145 04" 1BG145 1 8903~9208

11 |2002-0140 0Y)v4" 1BP140 1 9209~

12 |2002-1090 0')v% 1BG90 1

13 |VH00-M0026 7 NNARYMFIVIN VT ASSY| 1 8903~9204 mB46-13H

13 |\VH00-M0053C 7 NNAOYMFIVIN VT ASSY| 1 9205~ B 46-25 08

14 6797 Y%K WMM10X75) 3

17 |ZS96-10136 NY97977v9" B/C GN4830FO| 2 8903~9208

17 |BRT2-136150 3-31BF |n"949797)Y%" E/L GN6493V0 2 9209~

18 |BRT2- 90105 3-19YF |nY9797)09" B/C GN4698VO| 1

19 |ZS95-01145 NYI7Y7)09" G145 B/C 1 8903~9208

19 |ZS95-10140 WYHTI7YU9 P140 E/L 1 9209~

20 |AS60-N0002 I73%7°549° H-015 4M-11106 | 2

21 [1502-0635 AF=IR =)L 1/4 2

23 |4M-11704 h7—(A) 1

24 |4M-11705 h7—(B) 1

25 |2002-1150 04" 1BG150 1

26 |PE11-M1035A 791 80X96X45L 4

X |VE00-MOO045D(KIT) |99 ua =&Y 1 ~200907 B RBEEMS o G BEERLD
OHDREE. VT BENLELR.,
—RRBEHRT D -L-NvFVEERT

1089

JAMYACTH ANMA EETOHOHACODCDE

1162

+191E0710333




!!!!!!!!!!



P-CP-KH00234

F2RBITY U3 ASSY

44

Fob

%5 BRES BREF YK my L ZREE %
0 |VE00-MO0046D 242991995 ASSY 1

1 |2M-11452 U8 ASSY 1

2 |2M-11448 WUEF1-7 1

3 |3M-11441 E'ArvOYR (2ND) 1

4  |VE32-MO0020A £ ARV (PH11-50%74CYL) 1

5 |3M-11443 Yk Hn'—(2ND) PH75-25 1

7 |OSI140125 9 Uny%y FU1320L0 2

8 [ISI80906 Un"%> FU0939KO 1

9 |DWI 809438 4 Zb—)l FD3720G0 1

10 |WR14013323 DI7YUY 1

11 |2002-0130 oY% 1BP130 1

12 |2002-1040 0')v% 1BG40 1

13 |VH00-M0054C L7 WNARIMFIVIN LT ASSY| 1 fmE46-25 08
14 |0311-1075 6097 +Y%K WMM10X75) 3

16 |0991-0608 6097 Y%K WMEM/MX8) 1

17 |BRT3-125140 3-19YF |n949797)Y" E/L GN6491V0 2

18 |BRT2-80 90 3-31BF |n'Y97977)v9 B/C GN4820F0| 1

19 |ZS95-10130 NYYTI7)09 P130 E/L 1

20 |AS60-N0002 I73%7°54° H-015 4M-11106 | 2

21 [1502-0635 AF=IR'=I(1/4) 6.35M/M 2

23 |4M-11706 n7—(A) 1

24 4M-11707 h7—(B) 1

25 |2002-1140 0% 1BG140 1

26 |PE11-M8539A 791 4

27 |4M-12206 AN 2

X |VEO0-MO046D(KIT) 44299104 =% Yb 1 ~200907 BRBEEAS G RBERILLS

OHDGEIL. Y/ BENLELR.

—HARBEHRT DV NvFVFEETRT

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1163




45

EIBI)UHASSY

3AMYALCTH OMA EETOHOHALCDCDE

+T3120710333



P-CP-KH00234

FEIBITYUF ASSY

45

Fob

iy

“we BRES ERRBFR- AR B e o e

0 |VEO0-MO047A 44399195 ASSY 1 8903~9204

0 |VEO0-MO0047D 443998905 ASSY 1 9205~

1 |2M-10565 VU4 ASSY 1

2 |2M-10604 Yo Fa1-7 1

2 2M-11449 Yo F1-7 1

3 |3M-10909 t"AbyAYE(3RD) PH75-25 1

3  |3M-11880 t°AkvOYF (3RD) PH75-25 1

4 |3M-10910 ALY 1

5 |3M-10911 Yk hn'—(3RD) PH75-25 1 N7V AEE

7 |OSI100 85 9 Uny%y FU1078L0 2

8 [ISI60706 Uny%y FU0746K0 1

9 |DWIR 60 74 811.3 4°AM/—)b FD3187G0 1

10 |WRT100 94 4 DITUY 913-022-1004 1

11 |2002-1095 0')Jv%" 1BG95 1

11 |2002-1090 0Y)v4" 1BG90 1

12 |2002-1060 0Y)v4" 1BG60 1

13 |\VH00-M0028 7 UNABYMFIVINILTASSY| 1 £ 5 46-15FIVH00-MO0S5CTIE X
13 |[VH00-MO0055C 7 NNARYMFIVIN VT ASSY| 1 R E46-28 8 EIB/FY
14 |0311-1065 AN VNS WED! 3

15 |0991-0608 TYPRY)A(6HITF M HE) H 1

17 |BRT2- 85100 3-31BF |n'99797°)u4" B/C GN4687F0, 2

17 |BRT3- 85100 3-19YF |n"949797)Y" E/L GN6484VO0 2

18 |BRT2- 60 70 3-31BF |n'Y97Y77»9 B/C GN4676F0 1

18 |BRT2- 60 70 3-19YF |n'Y497977v9" B/C GN4676VO| 1

19 |ZS95-01095 NYITY7)09 G95 B/C 1

19 |2S95-11090 NY97I79 P90 B/C 1

21 |1502-0635 AF—IR—I(1/4) 6.35M/M 2

23 [4M-11709 h7—(B)(PH75-25 3RD) 1

24 |2002-1100 0Yv4" 1BG100 1

25 |PE11-M1037 7"9Y1 50X60X30L 4 VE36-M0015T5EX
25 |VE36-M0015 7"9%1 50X60X30L 4

26 AYAIT+YX7°39 PT1/8 2

X |VEOO-MO047D(KIT) 4434914 =% Yb 1 ~200907 BREEAS G RBERILLS

OHDGEIL. VT BENLELR,

—HARBEHES D NIV EERT

1089

JAMYACTH ANMA EETOHOHACODCDE

91123

+191E0710333




46-1 ATy Fzvo/N)LT (8903~9008)

TSRS BIENO.

& MITSS | ABITSY | ERIES 73545
. [
NS N E RE| e
A | VHO0O-M0025 014 $1.8 25
0.8 08
B VHOO-M0026 ¢1.2 ®1.8 26 ¢
1. 1
C | VHOO-MO0027 ¢1.0 $1.2 27 ¢1.0
D| VHOO-M0028 0.8 b1.2 28 612 2
014 4
»1.8 8

SENOC. $TZIZ=%E
8 2 (MS) 24A 1

uﬁtﬂll EEEBRR BHES

A—H—T—4
#WERBW0A—0, 118—N, 128—D)
HEEEREERE)

Ta.l 3AM4YALCTH ONA EETOHOHACODCDE
A +7T9I20710333



P-CP-KH00234 87 N 40YRFIYIN L 7°(89039008) 46-1

%5 BRES BREF YK my L ZREE %
VH00-M0025 E7NNARINF YN LT Y 394°30) 8903~9008 FRUA )
VH00-M0026 FTUNADIMEIIN LT 199295 39) 8903~9008 (B1REIFVIVT D
VH00-M0028 A7 NN ABYMFIVIN LT ASSY 8903~9008 (B3R A

1 |3M-10561 W7 w44 1

2-1 AND7°39° (PT1/8-1.4M/M) 1 A

2-2 AND7°35°(PT1/8-1.2M/M) 1 B

2-3 ANI7°35°(PT1/8-1.0M/M) 1 C

2-4 AND7°35°(PT1/8-0.8M/M) 1 D

3-1 Bh'77°3%°(PT1/8-1.8M/M) 1 A

3-2 BH'77°34°(PT1/8-1.8M/M) 1 B

3-3 B#'77°54°(PT1/8-1.2M/M) 1 o}

3-4 Bh'D7°3%° (PT1/8-1.2M/M) 1 D

1089 1165

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



46-

AITILISAAYRFvH/8)LT (9009~)

:_g*: 3AM4YALCTH ONA EETOHOHACODCDE
A +7T9I20710333



P-CP-KH00234

7 NN AOYrFIVIN L7 (9009 )

46-2
%5 BRES BREF YK my L ZREE %
0 |VH00-M0052C T7MNARYMFIVIN VT ASSY| 1 9009~ 9202~
0 |VH00-M0053C 7 NNAOYMFIVIN LI ASSY, 9009~ F1BHFTIIUY
0 |VH00-M0054C L7 WNARIMFIVIN LT ASSY| 1 9009~
0 |VH00-M0055C F7NNAOYMFIVIN LT ASSY, 9009~
1 |VH13-MOO013A 7= 1
2 |VH47-M0004 NABYRRT =)l 1
3 |VH52-M0006 W7 Y—h 2
4  |VH46-M0032 W7 2
5  |VH22-MO0O016A hn'— 2
6 |VE48-Q0001 AN 2
7 |2002-0026 0')v4" 1BP26 2
8 |2S95-11026 WYYTIVIG P26 NATARYE 4
9 |2002-0036 0'v% 1BP36 2
10 |2002-0012 0'v% 1BP12 2
11 ]0311-1230 R IWM6HITH) H M12X30XP1.75| 8
12 |AA30-M0007 UbVAY 8
13 |VH89-M0038 TY74A(*7%9) 1.4M/M 1 1l
13 |VH89-M0036 TY74R(5 41,259€Y) 1.0M/M 1 {8
13 |VH89-M0035 TU74R(5°4399%Y) 0.8M/M 1 Z4
14 |VH89-MO0019 TU24RHF1199€Y) 1.3M/M 1 Al
14 |VH89-M0037 H)74A(5°42,359€Y) 1.3M/M 1 A1l

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1166




ZBE5 ASSY (8903~9201)

47-

IS IAMYACTH OMA EETOHEHALCOCODE
- +T9IZN7INI33



P-CP-KH00234

284 ASSY(8903+9201)

47-1

%5 BRES BREF YK my L ZREE %
PE12-M1001C h% {ASSY 8903~ 9201

1 |PE14-M1004D 10F7—4 2 TENTED

1-1 |PE14-M1016B 794147 (PY110-25) 2 EL

2 |PE14-M1005B 101 7—L(LOW) 2

3 |PE14-M1015A Y ¥YEASSY 4 mBES48SH

4  |PE14-E8005B A-7ASSY 4 &5~9

5 |PE14-E8025 77k 1

6 |PE14-E8026 $¥7M30M/M,L=134) 1

7 ZU00-6306ZZ w =LA TIY 2

8 |PE14-E8027 AN —#(38M/MXT3.5) 1

9 |PE14-E8028 AN —#(38M/MXT3.5) 2

10 |PE14-E8013A -3 4 E11-12

11 |PE14-M1042 Y9 7M(30M/MX41L) 1

12 |ZU00-63062Z K =ATYIY 1

13 |PE14-M1032 ANINEVASSY(F295°8) 4 &14~18

14 |PE12-M3827A (} 1

15 |PE14-M1033 Frv7 1

16 |MB51-E0050 YAIVIA 1

17 |0690-2030 7Y% 1

18 |ZP00-060028 A-ILE"V(6M/MX28L) 1

19 |PE14-M1034 ARYNASSY(1) 4

20 |PE14-M1035 AR 1

21 |0500-1613 FYb 1

22 |0701-1640 YRV 1

23 |PE14-M10370 ARYNASSY(2) 4

24 |PE14-M1038A 7YIASSY(RAMINASSY)¥19hs 1

25 |0131-1030 wIb 16

26 |0701-1025 YRV 16

1089

1167

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333




l
o~
o
N
o
Y
9]
%]
<
4o
K

3AM4YALCTH ONA EETOHOHACODCDE

+7T9I20710333



P-CP-KH00234

285 ASSY(9202)

47-2
%5 BRES BREF YK my L ZREE %
PE12-M1001D 4 4ASSY IRV
1 |PE12-M1002C na4 1
2 |PE14-M1004F A0F7-L(71) 2
3 |PE14-M1005B 101 7—L(LOW) 2
4  |PE14-M1015A Y ¥YEASSY 4 mEBES48SR
5 |PE14-M1043 A-7ASSY 4
6 |PE14-M1041 -3 4
7 |PE14-E8010B ] 4
7-1 |PE14-M8001 7-LOYHEY 1
7-2 79Y9%(SS) 30XT4.5 1
7-3 |PE14-E8044 VA 1
7-4 |PE14-E0023 4% L=500 1
8 |PE14-E8041 by 4
9 |PE14-M1034 AMINASSY(1) 4
9-1 |PE14-M1035 Abyn 1
9-2 PE14-M1036 7'7rk 1
9-3 |0500-1613 FTYb 2
9-4 |0701-1640 YRV 1
10 |0131-1030 Kk M10X30 16
11 |0701-1025 YRV 16
12 |PE12-M8735 IN47" 24X34X90L 4
13 |PE14-M8733 AMTEY 4
13-1/PE14-M8738 ATVUTE Y 1
13-2|PE14-E0024 4% =200 1
14 /0100-0830 Lk M8X30 4
15 |0500-0865 TYk 8
16 hyiE'r) G25X25X120FA 2
AS20-MO0004A FI-UMN)YrInyIy
AS20-M0004B FI-UM)YFIYIY 0611~
AS20-M0004C FI-UM)YranyIy 0712~
17 |AS20-M0005 794 2
17 |PE12-M7009 794 2 0712~
18 |AS20-M0006 794 2
18 |PE12-M7008 794 2 0712~
19 |PE17-M5027 AT— 4
20 |AS10-M0003 FI-Y ¢ 6X2M 4 L=IRR
21 |AS10-M0004 Y¥Y91(SCh™3) JISB2801 4
22 |ZH60-E255000 E'Z—lik—2 4 L=3RiR

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1168




Ty yXASSY (TR M)

4—

IS5 IAMMACTH ANA GETOHDHACOCOR
. +7T9I20710333



P-CP-KH00234 'YX ASSY (7R ME)) 48

%5 BRES BREF YK my L ZREE %
PE14-M1015A Y YYEASSY 7°0vMal

1 |PE14-M1016B 774N 47 (PY110-25) 1

2 |PE14-M1017B 19N 47°(PY110-25) 1

3 |PE14-M1018B AT RBIASSY 1

4  |VE0O0-MO0048 VYRV ASSY(70U1) 1 mBEF49SH

5 |VH00-MO0017A WU FTUAN VT ASSY PT 1 REBE505 8 8ERT

5 |VH00-M0017B hIUANFTUAN VT ASSY PF 1 0505~ mE&S505HE PF1/4

6 |PE14-M1021A 7L+ 2

7  |0111-16110 A WMIAYIEVTTF) H M16X110 1

8 |0540-1613 FYRLTIR 1

9 0131-1025 K IWMH) M10X25 4

10 |0701-1025 Y ORIV RV 4

11 |0301-0850 AYAYTHYFE WMH) M8X50 3

12 |1300-4030 A7TUIREY 1

1089 1169

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



49

TyyExIYUAASSY (A YA faD

;I
)

A

o

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

Y YEVUTASSY(7RVb. )4

49

%5 BRES BREF YK my L ZREE %
0 |VE00-MO0048 Y YYEV)UTASSY 1 700 E
0 |VE00-MO0049 YYYE)UTASSY 1 VYA

1 |3M-10889 YU F1-77(L=813.9) 1 70U A
1 |3M-10891 Y8 F1-77(L=643.9) 1 VY H

2 |1300-6365 A7)V V(6.5M/MX65) 1

3 FYMM36XP 2) 1

4 |0ODI85709 Uny%> FU0977HO 2

5 |4M-11167 £ AFUnY% (0D 85X70X9) 1

6 |2002-0034 0Y)v4" 1BP34 1

7 |3M-10890 EAbvBEyR (Y% F) 864L 1 70 A
7 |3M-10892 EArvAYN (Y4 R) 694L 1 ¥ A

8 |4M-11168 Ayk A — 1

9 |2002-1080 0Y)v4" 1BG80 1

10 |SNY 70C Uny%y 70X80X6 1

11 |4M-11153 7Y% 1

12 |SCK 70 4 A=)l 70X84X10 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1170




20

HHRINS AINJLTASSY

IS IAMYACTH OMA EETOHEHALCOCODE

+7T9I20710333



P-CP-KH00234 NIV FUAN VI ASSY 50

%5 BRES BREF YK my L ZREE %
VH00-M0017A BIVENTYAN VT ASSY PT1/4 £EHIE

0 |VH00-M0017B hIVANFVAN VT ASSY 1 PF1/4 BIZTXti&

1 |VH13-MOO07A wWh7°7°899 1 PT1/4 £ EHIE

1 |VH13-M0007B wWL7°7°899 1 PF1/4

2 |VH09-M0026 NAOYMIYIN V7 ASSY 1 VH00-MO0053AT;EX

2-1 |VH13-M0008 N7 R T - 1

2-2 \VH43-M0004 fAYh 1

2-3 VH47-M0005 WAOYPRT =) 1

2-4 |OVH-E90067 ANy 1

2-5 |OVH-E90949 799 1

2-6 |2001-0021 0')v4" 1AP21 1

2-7 |2002-0012 0')v% 1BP12 1

2-8 [2001-0016 oYy 1AP16 1

2-9 |PG4400160-T46N ERNY=GFAN)IY) 1

3 |2001-0011 0vy 1AP11 2

4 |7S62-0180705 7°54" SPA01-000J 1

1089 1171

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



51

a—33> 7L —RASSY

AXHR

B&X 1R

2

RATSyah—FK

@

~ D&E#
Jaq bRy IR

—
I
FRR
B
—

EXR
FAINEHER

(5)” 3AMYACTH ONA GETOHOHACDCOR
A +191Z0710333



P-CP-KH00234

1-Y37°L—FASSY

51

He MRES LR my L ZREE =
PB98-M1001 1-Y3V7L—FASSY

1 |PB98-M7506A =53V L—bEYNBATY,AFAE) [RYN TYANTINA =]

2 |PC98-E7003B 1-3v7°L—+t 1 DXEEIA)

3 |PC98-E7004B 1-3v7°L-+ 1 [Rv7 129 MAHEAE)

4  |AR90-E0006 19AN799307° -} 1 2

5 |AR90-M0012 1-3v7°L-+ 1 [k R ~FEIE |

6 |PB98-M1006A 1-3v7°L-+ 1 [PoMh —1@ 4B EIE)

7 |PB98-M1003 1-Y3V7°L-+ 1 T 9308 LN —184E)

8  |AR90-MO0056 1-3v7°L-+h 4 rmyye’vaEsR

9 |AR90-E0030 1-3v7°L—+ 2 17 —LPE4E)

10 |PB98-M1002 1VAN99307 L=} 1 ravyy—bvA7 BRI E |

11 |AR90-W0001 ¥3I9be=49(x1h4) ABS 1

12 |ZR90-PAO125A 7’04937 -+ 1 [7°0%°9%3UNO.7°L—}]

13 |PB98-E7003A K'Y YIVT—IASSY 1 [ Y3AVASSY ]

14 |PB98-M1502 1VAN9307° b= 1 [R"y7 {58 FR &R )

15 |PC98-M7002 PZSSUVEVINVE 1 [EZEYIELN IR EESE)

16  |AR90-M0065 1-5307 -+ 1 (77474 v—ER{+ E 4]

17 |PE98-MO0001A TUTVR IATYN 1 [RREHATIN—]

18 |AR90-MO0140B 1-Y3v7°L-+ 1

19 |PB98-M1004A 1-Y3v7°L—+ 1 17 -LIREE ]

19 |PB98-M1004B 1-5307 -+ 1 0507~ [7°-LIREE )

20 |AR90-E0031 1-Y3V7°L-+ 1 [RO94R°9)—b]

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1172




Tt H1)—ASSY

22

O
O
O
O
O
o
o
O
—

3AM4YALCTH ONA EETOHOHACODCDE

5 r
.

+7T9I20710333



P-CP-KH00234

THEY¥1)-ASSY

52

%5 BRES BREF YK my L ZREE %
PB93-M1001 T7)tHY—-ASSY

1 |PC91-E7007F KUtVy F1-7" 55PTS-4300 | 2
1 |PC91-E7007G R VEVYF1-7 55PTS-4300 | 2 0904”
2 |PC91-E7010A AR VY PQ14 4
3 |PC-68008D FYN =N —ASSY 1
3-1 |PB22-M7002 RININ =47 )3 1
3-2 |PB22-M7001 FINhN =32 1
4  |AH90-M0023 2U9Y=MV47" 5BX3M 30
5  |AH90-M0024 AVH)—-bN47° 5BX2M 2
6 |AH90-M0025 2U9Y=MV47° 5BX1M 1
7 |PK-E18501B-4 A YN INA7" 5BX90° 3
8 |PK-E18501B-5 A'UF 47" 5BX45 2
9 |PK-E18501B-6 AU IN47" 5BX30° 1
10 |PC97-M7004 ¥Z30-7° D12X20M 1
11 |PK93-E1001 AMTE YN LT (5B) 1
12 |AH40-MOO005A ¥'34UM5B) S-125 34
13 |AH40-M0004B ¥ 3{yMAaM¥IL) S-100 2
14 |PC97-M7003 NEI1-LF(07A°0) 1L 1
15 |PC79-M2009 FI-UAA(1L) 1
16 |PC-47013C S4Y ANIN (B9 EA) 4
17 |PK51-E3013B Ly79A"LASSY 80M 1
18 |PC91-E7004A YITANYT VY (FI-09%) 1
19 |PC91-E7011 F1-7EX2%74% 8M 1
20 |PC79-E2018-10 F1-7"Y%9=191%(1L) 1
21 |PB53-M1002A 7°—LYEIVASSY(30M) PH75 1
21-1/PB53-M1003 7 =LYEIVT—AMNUIE) SWHY| 1
22 |PC97-M7002 I - 1
23 |PC-68013C F—-IN"'I{7° 5BX4BX1000L 1

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1173




*J—JLASSY

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

Y—IVASSY

53

5

BaEs

BB HIX

%

iy
ERSH

"%

0 N O G b W DN =

— o e e ) ek e - O
~N O b~ W N = O

18-1
18-2

PC91-E7002B
T470

PC-68006A
PK91-M5001C-2
PK91-M5001C-3
PK91-M5001C-4
PK91-M5001C-14
PK91-M5001C-5
PK91-M5001C-7
PK91-M5001C-6
CG-400
PK91-M5001C-10
PK91-E3055
PB93-M1503A-12
PB93-M1503A-17
PC91-E7003A
PK91-M5001C-8
PC91-E7002B-19

PC91-E7006A
PC91-E7006A-1
PC91-E7006A-2

Y—ILASSY
1992

WTIVRT =
FFIYMUF(B-21X26) JISB4641
A9F3A99°3ANT JISB4630
Ev%-LYF 300-12 JISB4604
7°74% 200MM

W47 LYF(450MM)

F74n (+) 100MM

FJ4n (<) 01447°, 100M
Y=AV7’

N2 VL) JISB4613

A7

h449F Zin+(46M/M) JISB4630
h39FANT(41M/M) JISB4630
99 MHY47 -+

61471 YF(4MM,5MM,8MM,12MM)
Nr(RY)

A-5AMINE Y
A-3AM7°EY
1-3A07° -+

Y[ /]

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1174




kTR (LVFSP-CVRITKA)

1=

54

D

3AM4YALCTH ONA EETOHOHACODCDE

+7T9I20710333



P-CP-KH00234 1ZYMI)UMULNE SP-CVR17KFE) 54

#e HRAES LR my L ZREE =
IPB-M11002B 1ZYMIVMA AR P-CVR17K3")

1 |AB50-MO0O003A Ll WAV 2

2 |PX23-M0119 LIV 2

3 |AB50-E0012 L) WAV 2

4  |PX21-M0004 Uk Ibh 8

5 |PX29-M0004 IUNTA LMW E5XT10X950L) 2 PX29-M0004(4200L) CE&
6 |PX29-M0004 IUATA LMV BEEXT10X3100L) | 2

7 |0500-2419 FYb 16

8 |0510-2414 FYMEYY) 16

9 |0100-1855 KLk 2

10 |0500-1815 FTYb 2

11 |0510-1811 TYk 2

12 |0100-1655 R IWb 8

13 |0500-1613 FIb 16

14 |0510-1610 FYMEYYH) 12

15 |PX23-M0087 AV WAVY 1

16 |UH-220,T600 ANTA{ Y)Y 1

17 |AR50-MO003A STC7'77Yh 1

18 |0101-1650 KA H 4

19 |0701-1640 YRV 4

1089 1175

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



55 KSA47a>kAB—)LASSY(LVF SP-CVR17KA)

45 3 26
23 29 22 PTOJL—FKRSLL/N\—A
54
—— ! @
30
—

49 \ \\w‘

I \

| e ¢/%
£ ﬁ -
e m—dl
25 il /
NI
|
I

2 38 23 22
|
|
I

}

f
-
]

]
-

\ —e\e]] / / ]
| i 7 )
IED [ ]
L b==d 3 5 4 30
38
) o
9% 51
52
R
/ R
42 @©-
43
44
45

PTOL/\—A

CX1R

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333




P-CP-KH00234

F347 30— LASSY(LVNF SPCVR17KFH)

55

Fob

iy

we HaES ERRBFR- AR B e o e
IPB-M11001A F347" 20— LASSY {AA'P-CVR17K3")

1 |XZ00-M0040A F5YAIFPTO ASSY(XZ55-13-1)| 1 mEHEBES56S R

2 |PX14-M0032 T494%7 5 9b 1

3 PB-M11006 70Uk7°0N 79474 1 t°VRE 1030MM

4 IPB-M11007 NX7°0A 599 7h 1 t°VFE 1185MM

5  |PX11-M0005 N347° % 7FASSY(440L) 1 mEBES9SR

6 |PX13-M0027 FIVRITr—A%R —h 1

6 |[PX13-MO0027A FIURIT =AY~k 1 0105~

7 |PX13-M0053 77k 2

8  |PX12-M0046 wV277b 1

9 |PX14-E0001A PTOTIA74XAMYN 1

10 |PX15-M0020 Y79 770" PHT5-25 1

11 |138100-1014 PTOLN'—ASSY 1 LVg S HliE

12 |ZJ60-1010076 VA LMAT'S 76) 1

13 |PX17-M0024 T74F7ASSY 1

14 |047482-0011 T4N37—)ASSY 2

15 |PX17-M0004 Vawl) 2

16 |PX17-M0005 AN'—H 2

17 |0500-1008 VA 2

18 |0701-1025 YRV 2

19 |0500-1411 FIb 2

20 |0701-1435 Y ORIV 2

21 |0720-1425 7Y% 2

22 |PX16-M00194 F190% 7' L—%74¥ASSY L=1300, 1

22-1/PX16-M0008 F190%7 L—%74YASSY L=1400| 1 CK450MF

23 |ZK20-B5600 avbA-L74¥ HJ52E88 1

23-1|ZK20-B5300 IvkA=IL71¥ HJ52E88 1 BHEA

23-2ZK20-B6600 avbA-L74¥ HJ52E88 1 FP415L

24 |PX13-M0008 TNy XZ55 1

25 |AR90-M0096B 1-Y3v7°L—+ 1 PTOLN =Y9%3%137

26 |AK40-E0005 -9 1

27 |1310-1025 £y 2

28 |0730-1016 7Y% 2

29 |1300-3020 A7y 2

30 |0701-1230 YYOV/VVAY 8

31 |0170-1220 iR IWb 2

32 |0120-1445 A 6

33 05001411 FIb 6

34 |0701-1435 YOOV/VVAY 6

35 |AK40-M0001 AEEVL 1

36 |0510-0805 TYk 1

37 |0311-2065 iR Ib 4

1089 1176

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



P-CP-KH00234

F347 30— LASSY(LVNF SPCVR17KFH)

iy

s HaES ERRBFR- AR SR e
38 |0500-1210 FIb 6

39 |0730-2032 7Y% 4

40 |0121-1265 KN YEVTTH) H 4

41 Y 74%(1M/M) 1 WHE
42 |AC10-K0004 997’ 9

43 |0130-0620 KLk M6X20 9

44 |0500-0605 FIb 9

45 |0701-0615 YRV 13

46 |0101-1445 I H 10

47 |0500-2016 VA 4

48 |0701-2051 YYOV/VVAY 4

49 |0100-1245 /A 2

50 |AK40-M0007 -4 1

51 |AP40-M0004 ] 1

52 ZS72-007008 ATV (ES47) 1

53 |0130-0615 /AN 4

54 |0720-0616 ObVAY 4

55 |AS30-Y0006 YRPDIN 1

56 |ZA21-21411 N—rov9+9 M14P15H 10

1089 1176

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



26

FS2XT7PTO ASSY(XZ55-13-1)

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234

FYATTPTO ASSY(XZ55-13-1)

56

%5 BRES BREF YK my L ZREE %
0 |XZ00-MOO040A F5YZAIPPTO ASSY(XZ55-13-1)| 1 LV SP-CVR17K
1 |XZ11-E0003KA FIVRIT—A XZ55 1

2 |XZ36-MO006A A7 7407909 PY21-60 1

3 [XZ21-E0007A Y= EXY7° XZ55 1

4  |XZ21-E0008A Y=E¥Y7" X255 1

5 |XZ21-E0002 7°709%%97° X245 2

6 |XZ51-E0012 AT T—F XZ55 1

7 |XZ51-M0019B KV TR 74(XZ55-13 T/F) 1

8  |XZ33-E0009A 17"Ib X7k XZ55 1

9 |XZ33-E0010A TN U ¥ b XZ55 1

10 |XZ33-E0011 TAN 9% X255 1

11 |XZ33-E0012A PTOTIF7"YM ¥ 7h XZ55 1

12 |XZ31-E0003 197IM' ¥ X255 1

13 |XZ31-E0008 TAN % %(A) 31T X255 1

14 |XZ31-E0001A 7433 %(B) 29T X255 T35 1

15 |XZ31-E0002 PTO%'¥ 28T XZ50,XZ55 1 HEART]
15 |[XZ31-E0002B PTO%'¥ 28T(R7°74Y) XZ55 1 XZ51-M0026h7— L B
16 |XZ35-E0003 ¥ Y979F XZ55 1

17 |XZ41-E0003 Y7haYE D20 XZ55 1

18 |XZ69-E0021 AFARNIYUY XZ55 1

19 |XZ39-MOOO05A 197"9Y 7727 CVR17 1

20 |XZ39-MOO006A TN URI70Y° CVRI1T 1

21 |XZ39-E0012A PTO75V%" XZ55-16A 1 XZ39-E0012B Tt s
21 |XZ39-E0012B PTO77VY" XZ55-16A 1 XZ31-E0002B 3L #uh B
22 |XZ42-E0003A Y7bik—49 D20 XZ55 1

23 |XZ51-E0015 h7— XZ55 1

24 |XZ51-E0016 h7— XZ55 1

25 |XZ51-E0017 h7— XZ55 2

26 |XZ51-E0019 h7— XZ55 1

27 |XZ69-E0022 799% X255 1

28 |XZ61-E0003 Y1y XZ45 1

29 |XZ37-E0002 7'L—%F74 XZ55 1

30 |XZ69-E0016 TARANIN 1

31 |XZ49-E0001B Y %309 ASSY 1

32 |XZ69-E0015 Ik M16X45L 4

33 |XZ61-E0012 A7k PCD175 1

34 |XZ61-E0004 hArYk PCD110 4

35 |XZ61-E0006 nArYb 1

36 |XZ89-E0001 S UES PPN 2

37 |XX89-E0125 YORV/NIVIY 1

38 |XX61-E0301 hArYE 1

39 |XX48-Q0003 AUy 1

1089

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333

1177




P-CP-KH00234 F7UAITPTO ASSY(XZ55-13-1) 56

%5 BRES BREF YK my L ZREE %

40 |XX43-Q0002 FIVYE =W 1

41 |XZ37-E0003 7' L—%ASSY(44420-42001) 1

42 |ZU00-6213 F =TI 1

43 |ZU00-6211 K =ATYIY 1

44 |ZU00-6311NR =TSy 1

45 |ZU00-30308 A=A 7YY 3

46 |ZU00-32011 =3 TV 1

47 |ZU01-K707620 =N ATIIY 2

48 |ZUO1-RNA4906R =N IATYUH (HRNA4906R) 2

49 [TC 7510013 14— INBR) AE3618A0 2 XZ61-M0008% 1% FH
49 |XZ61-M0008 F4y—IW(ACM) TC 7510013 2 9012~ (MELEE)MAERLE
50 TC55729 14— INBR) AE3040A0 2 XZ61-M0007% 1% FH
50 |XZ61-M0007 F4Y—IW(ACM) TC 55 72 9 2 9012~ (MEZEE)MAERLE
51 |TC 25408 F4—IW(NBR) AE1314A0 1 TC 20 32 8%{E1E
52 |AN6227-31 oy 2

53 |2001-0035 0Yu4 1AP35 1

54 |2001-0039 0Yu4" 1AP39 1

55 |1565-6525 ATY7UY" S-65 1

56 |1555-0030C AUV (FHIVCH S 100M/M)| 1

57 |ZJ41-12035 *—(1377)1) 12X8X35L 1

58 1024-2014 797 1

59 |1300-4030 A7y 1

60 |XZ69-E0025 W ANEVI N YS! 8

61 |0501-1610 VA 8

62 0701-1640 YYOV/VVAY 8

63 |0181-1238-25 K IWMY=9) H 4

64 |0101-1240-20 FIEH 4

65 0161-1235 K WA EYTT) HP1.75 12

66 |0100-1025 Kb 12

67 |0131-1030 A 4

68 |0540-2013 FYRLTYE 1

69 |XZ69-E0026 +YHM30,P1.5) 2

70 |0500-1210 FYb 8

71 |0500-1613 VA 4

72 10701-1230 YYOV/VVAY 32

73 AV LNWED) 1

74 |0701-1025 YRV 16

75 |0701-1640 YRV 4

76 Y974 ¥(1M/M) 1

77 |1300-6050 A7y 2

78 |1421-1230 - 1

79 |XZ69-E0012A IVVal 2

1089 1177

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



P-CP-KH00234 F7UAITPTO ASSY(XZ55-13-1) 56

%5 BRES BREF YK my L ZREE %
80 |1555-2040 ATY77s9 H-120 1

81 |0161-1240 /A 4

82 |0720-1225 7Y% 12

83 |XZ51-E0024 h7— XZ55 1

84 |XZ61-E0013 Y1, 76X89X0.2T 1

85 |XZ61-E0014 I 1

86 |ZH10-000034 FATAILE(PT3/4) 1

87 |1024-2617 799 1

88 |0161-1245 R Ib 2

89 |XZ36-M0005 AEEPL 1

90 |XZ51-M0020 IVZA 1

91 |XZ83-M0001 7759 1

92 |ZS62-0381008 7°5%" SPA03-000J 1

93 |ZS62-0180705 7°5%" SPA01-000J 1

94 2001-1040 0Yv% 1AG40 1

95 |1555-3212 ATY7YsY H-32 1

96 |1555-7825 ATY7oY H-78 1

97 |0130-1235 Kb 6

1089 1177

JAMYACTH ANMA EETOHOHACODCDE
+191E0710333



27

X7 o)A

v

-2

55—

=
g\ﬁf%@

" ZAMUACTH OMA EETEHOHACOCOE

+7T9I20710333




P-CP-KH00234

YYTIONIN

57

%5 BRES BREF YK my L ZREE %
PE14-M1022A XTI

1 |PE14-M1025 Y YEASSY(JY) 1 ~0405

1 |PE14-M1025A YYEASSY()YHT) 1 0406~

2 |PE14-M1026A TIANA7 1

3 |PE14-M1027 1FN47° 1

4 |PE14-M1018B AT RIILASSY 1

5 |VE00-M0049 Y YYE)U8ASSY(Y) 1 mEBES49SER

6 |VHO0-MO0017A BIVANFIAN VT ASSY PT 1 REBE508 8 SR

6 |VHO00-M0017B hIVANFUAN VT ASSY PF 1 0505~ BEES505H PT-PFILE

7 |PE14-M1021A ¥-7'L-+ 2

8 |1340-01690 JIHIEY ~0405

9 |SPA04-000J 735" (PT1/2) ~0405

10 |0131-1025 I H 4

11 0701-1025 YORVIVVAY 4

12 |0301-0850 K IWMN6HITT) H 3

13 |0111-16110 K WAV VT H 1 0406~

14 |0540-1613 FYANTYIL 1 0406~

15 |1300-4030 A7y 1 0406~

1089

JAMYACTH ANMA EETOHOHACODCDE

+191E0710333

1178




28

ANFarra—)L

o O N

A

3AM4YALCTH ONA EETOHOHACODCDE
+7T9I20710333



P-CP-KH00234 ' Favka-L 58

%5 BRES BRAH-HR my L ZREE %
IPB-M16021 n N Favko—)

1 |PX51-M0038 T894%7 74 9b 1

2 |JA41-A0066 TAYN—2A7 =Y 1

3 |AK40-E0004 ARV 1

4  |PX51-M0022A THAWLIN - 1

5 |0720-0610 YDA 1

6 |1300-2015 YRIVIN S, 1

7 0130-0620 Kb 2

1089 1179

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



FS4T L v IRASSY




P-CP-KH00234

F347° 9% IRASSY

59

%5 BRES BRAH-HR my L ZREE %
0 |PX11-M0005 N347° ¥ 7FASSY(440L) 1
1 |004-01300 Y IMUMYF KUJ-80 2
2 |004-02103 77039 2
3 004-01102 INEI-H 1
4 |024-08101 A=73-9 1
5 A7 740 7h 1
6 |004-01204 A=7737 1
7 HVRZY7N PT1/8 AbL—F 1

1089

1180

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES mEES &
004-01102 59 3 0130-0414 39-1 59 0130-1230 1 27 0270-0516 14 61
004-01204 59 6 0130-0414 39-2 65 0130-1230 18 1 0270-0612 14 50
004-01300 59 1 0130-0512 16 5-5 0130-1235 19-1 71 0270-0614 26 17
004-02103 59 2 0130-0518 13-1 17 0130-1235 19-2 70 0280-0516 14 64
0100-0470 39-1 57 0130-0612 14 48 0130-1235 30 19 0280-0612 26 16
0100-0470 39-2 62 0130-0614 19-1 60 0130-1235 56 97 0301-0835 21-1 49
0100-0520 24 1 0130-0614 19-2 60 0130-1450 10 2-3 0301-0835 21-2 42
0100-0610 24 16 0130-0615 15 7 0130-1635 3-1 23 0301-0840 21-1 48
0100-0640 12 12 0130-0615 55 53 0130-1635 3-2 23 0301-0840 21-2 41
0100-0640 9-1 40 0130-0620 1 29 0130-1635 5 10 0301-0845 29 1
0100-0830 47-2 14 0130-0620 13-1 14 0131-0816 26 15 0301-0850 48 1
0100-0830 9-1 75 0130-0620 13-2 13 0131-1025 32 28 0301-0850 57 12
0100-0850 38 33 0130-0620 39-1 54 0131-1025 48 9 0311-10110 25 "
0100-1025 56 66 0130-0620 39-2 57 0131-1025 57 10 0311-1030 21-1 46
0100-1030 36 24 0130-0620 39-2 75 0131-1030 47-1 25 0311-1030 21-2 22
0100-1045 28 27 0130-0620 55 43 0131-1030 47-2 10 0311-1030 21-2 39
0100-1050 25 17 0130-0620 58 7 0131-1030 56 67 0311-1055 21-1 44
0100-1060 9-1 65 0130-0635 39-2 56 0131-1035 33 39 0311-1065 45 14
0100-1235 10 15 0130-0815 39-2 59 0131-1230 32 26 0311-1075 37 14
0100-1235 21-1 40 0130-0816 42 5 0131-1235 33 36 0311-1075 44 14
0100-1235 21-2 34 0130-0820 14 46 0131-1235 41 17 0311-1230 21-1 43
0100-1235 9-1 58 0130-0820 23 49 0131-1250 32 32 0311-1230 21-2 37
0100-1235 9-2 12-6 0130-0820 7 13 0131-1440 27 6 0311-1230 46-2 1
0100-1245 55 49 0130-0825 12 9 0131-1445 36 28 0311-2065 55 37
0100-1245 6 12 0130-0825 14 14-4 0131-1470 32 24 047482-0011 55 14
0100-1245 9-1 59 0130-0825 17 10 0131-1480 32 24 0500-0324 14 57
0100-1245 9-2 12-9 0130-0825 28 32 0131-1625 33 34 0500-0432 14 53
0100-1445 9-1 13 0130-0825 31 1 0131-1630 32 22 0500-0432 39-1 60
0100-1445 9-1 63 0130-0825 38 34 0131-2035 3-1 25 0500-0432 39-2 64
0100-1445 9-2 23 0130-0825 39-1 51 0131-2035 3-2 25 0500-0540 14 62
0100-1645 7 12 0130-0825 39-2 54 0131-2040 32 20 0500-0605 1 30
0100-1655 3-1 22 0130-0825 9-1 37 0140-1650 8-1 16 0500-0605 13-1 15
0100-1655 3-2 22 0130-0830 19-1 61 0141-1235 19-1 66 0500-0605 13-2 14
0100-1655 54 12 0130-0830 19-2 61 0141-1235 19-2 65 0500-0605 14 51
0100-1655 9-1 56 0130-0840 22 21 0141-1235 36 26 0500-0605 15 8
0100-1655 9-2 29 0130-1020 14 44 0141-1645 41 44 0500-0605 19-1 62
0100-1660 7 1 0130-1020 9-1 66 0141-1645 8 30 0500-0605 19-2 62
0100-1855 54 9 0130-1020 9-2 26 0141-1650 8 33 0500-0605 23 44
0101-1240-20 56 64 0130-1025 14 13-6 0161-1235 56 65 0500-0605 39-1 55
0101-1245 33 37 0130-1025 16 1 0161-1240 56 81 0500-0605 39-2 58
0101-1445 55 46 0130-1025 25 19 0161-1245 56 88 0500-0605 39-2 70
0101-16130 1 24 0130-1025 27 19 0170-1220 55 31 0500-0605 55 44
0101-1650 2 18 0130-1030 18 13 0181-1238-25 56 63 0500-0808 28 33
0101-1650 54 18 0130-1030 23 46 0181-1270 6 14 0500-0816 39-1 63
0101-1685 3-1 27 0130-1060 9-2 12-4 0220-0825 17 15 0500-0865 12 10
0101-1685 3-2 27 0130-1220 25 18 024-08101 59 4 0500-0865 17 16
0102-0535 16 5-3 0130-1220 28 24 0270-0312 14 59 0500-0865 19-1 63
0111-16110 48 7 0130-1225 25 14 0270-0320 14 56 0500-0865 19-2 63
0111-16110 57 13 0130-1225 27 1 0270-0412 14 55 0500-0865 22 22
0120-1445 55 32 0130-1225 35 5 0270-0420 14 52 0500-0865 30 24

— 1 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
0500-0865 38 36 0501-1610 56 61 0701-0615 13-1 16 0701-1230 18 12
0500-0865 39-1 53 0501-1613 1 25 0701-0615 13-2 15 0701-1230 19-1 67
0500-0865 39-2 60 0501-1613 9-2 30 0701-0615 14 49 0701-1230 19-1 73
0500-0865 47-2 15 0510-0535 13-1 21 0701-0615 15 9 0701-1230 19-2 66
0500-0865 7 16 0510-0805 14 13-2 0701-0615 19-1 59 0701-1230 25 16
0500-0865 9-1 38 0510-0805 17 17 0701-0615 19-2 59 0701-1230 27 13
0500-0865 9-1 76 0510-0805 55 36 0701-0615 23 45 0701-1230 28 26
0500-0865 9-2 18-3 0510-1006 13-2 22-3 0701-0615 24 15 0701-1230 30 21
0500-1008 14 13-7 0510-1006 17 9 0701-0615 39-1 56 0701-1230 32 27
0500-1008 16 12 0510-1408 9-2 25 0701-0615 39-2 55 0701-1230 33 38
0500-1008 17 8 0510-1610 1 26 0701-0615 39-2 n 0701-1230 35 6
0500-1008 18 14 0510-1610 3-1 28 0701-0615 55 45 0701-1230 36 27
0500-1008 21-1 41 0510-1610 3-2 28 0701-0615 9-1 41 0701-1230 41 18
0500-1008 21-2 35 0510-1610 54 14 0701-0820 12 1 0701-1230 5 13
0500-1008 23 47 0510-1811 54 1 0701-0820 14 14-5 0701-1230 55 30
0500-1008 27 20 0510-2012 3-1 33 0701-0820 14 47 0701-1230 56 72
0500-1008 28 28 0510-2012 3-2 33 0701-0820 17 12 0701-1230 6 9
0500-1008 55 17 0510-2414 54 8 0701-0820 19-1 58 0701-1230 9-1 61
0500-1008 9-1 67 0520-0815 2 20 0701-0820 19-2 58 0701-1230 9-1 71
0500-1008 9-2 12-5 0520-1008 1 19 0701-0820 22 23 0701-1230 9-2 12-8
0500-1088 9-2 27 0520-1008 25 12 0701-0820 23 50 0701-1230 9-2 18-4
0500-1210 19-1 72 0520-1613 41 45 0701-0820 31 13 0701-1435 10 2-5
0500-1210 19-2 Il 0520-1613 8 32 0701-0820 38 37 0701-1435 27 9
0500-1210 25 15 0520-1815 8 27 0701-0820 39-1 52 0701-1435 32 25
0500-1210 27 12 0520-3024 3-1 30 0701-0820 39-2 61 0701-1435 36 29
0500-1210 28 25 0520-3024 3-2 30 0701-0820 42 6 0701-1435 55 20
0500-1210 30 20 0530-1610 41 46 0701-0820 9-1 39 0701-1435 55 34
0500-1210 55 38 0540-1613 48 8 0701-1025 13-2 22-4 0701-1435 9-1 15
0500-1210 56 70 0540-1613 57 14 0701-1025 14 13-8 0701-1435 9-1 64
0500-1210 6 8 0540-2013 56 68 0701-1025 14 45 0701-1640 3-1 29
0500-1210 9-1 60 0550-0816 14 13-9 0701-1025 16 13 0701-1640 3-2 29
0500-1210 9-2 12-10  |0550-1000 9-1 18 0701-1025 18 15 0701-1640 33 35
0500-1408 27 8 0560-04510 33 31 0701-1025 23 48 0701-1640 41 48
0500-1411 10 2-4 0560-05511 33 30 0701-1025 25 13 0701-1640 47-1 22
0500-1411 27 7 0560-06512 33 29 0701-1025 27 21 0701-1640 47-2 9-4
0500-1411 55 19 0560-07513 32 16 0701-1025 28 29 0701-1640 5 1
0500-1411 55 33 0560-07513 33 28 0701-1025 32 29 0701-1640 54 19
0500-1411 9-1 14 0560-7012 36 15 0701-1025 33 40 0701-1640 56 62
0500-1411 9-2 24 0621-1816 32 18 0701-1025 36 25 0701-1640 56 75
0500-1613 3-1 32 0690-2030 34 5 0701-1025 471 26 0701-1640 7 18
0500-1613 3-2 32 0690-2030 471 17 0701-1025 47-2 1 0701-1640 8 31
0500-1613 47-1 21 0690-2030 9-2 22 0701-1025 48 10 0701-1640 8-1 15
0500-1613 47-2 9-3 0690-2530 27 15 0701-1025 55 18 0701-1640 9-1 57
0500-1613 54 13 0701-0307 14 58 0701-1025 56 74 0701-1640 9-2 31
0500-1613 56 Il 0701-0410 14 54 0701-1025 57 1 0701-1846 2 22
0500-1613 7 15 0701-0410 39-1 58 0701-1025 9-1 68 0701-1846 8 28
0500-1815 54 10 0701-0410 39-2 63 0701-1025 9-2 28 0701-2051 55 48
0500-2016 3-1 31 0701-0504 14 63 0701-1030 211 42 0702-0513 16 5-4
0500-2016 3-2 31 0701-0513 16 5-6 0701-1030 21-2 36 0720-0510 13-1 18
0500-2016 55 47 0701-0615 1 31 0701-1230 1 28 0720-0580 13-2 20

_2_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
0720-0616 13-2 10 11/4B(2CPX1W) 21-1 18 1555-6220 3-1 8-7 2001-1155 7 8
0720-0616 31 10 12813-1102 16 7 1555-6220 3-2 8-6 2001-1160 9-1 52
0720-0616 55 54 1300-0535 34 6 1555-6825 3-1 17 2001-1165 4 6
0720-0816 14 13-3 1300-100125 33 48 1555-6825 3-2 17 2001-1210 8 23
0720-0818 13-1 10 1300-1210 13-1 19 1555-7225 8-1 13 2002-0008 39-2 42
0720-1/2 26 6 10 1300-1215 13-2 19 15565-7525 10 14 2002-0012 46-2 10
0720-1020 13-1 7 1300-1612 13-2 1 1555-7525 8 24 2002-0012 50 2-7
0720-1020 13-2 22-5 1300-1612 31 9 15565-7525 9-1 55 2002-0014 39-2 43
0720-1020 13-2 7 1300-2015 13-1 1 1555-7540 4 10 2002-0018 19-1 69
0720-1225 56 82 1300-2015 2 9 15565-7825 56 96 2002-0018 19-2 68
0720-1225 9-1 62 1300-2015 58 6 1555-8025 3-1 9-4 2002-0018 39-2 44
0720-1225 9-2 12-7 1300-2520 13-1 8 1555-8025 3-2 9-4 2002-0026 46-2 7
0720-1425 55 21 1300-2520 13-2 8 1565-3015 3-1 8-6 2002-0034 49 6
0720-1426 27 10 1300-3020 28 22 1565-4017 3-2 8-5 2002-0036 46-2 9
0720-1830 34 10 1300-3020 55 29 1565-4517 3-1 16 2002-0130 44 "
0720-2032 7 17 1300-4025 2 6-9 1565-4517 3-2 16 2002-0140 43 1
0722-0616 16 5-7 1300-4030 34 1 1565-6525 56 55 2002-0140 9-1 48
0730-0816 17 1 1300-4030 48 12 1565-9030 8-1 14 2002-0140 9-2 17-1
0730-0816 2 24 1300-4030 56 59 172111 14 70 2002-1040 19-1 68
0730-0816 7 19 1300-4030 57 15 18044-1/2,17075-1/2 14 38 2002-1040 19-2 67
0730-1016 18 16 1300-4030 9-1 70 2001-0007 1 20 2002-1040 44 12
0730-1016 28 23 1300-5035 9-2 21 2001-0011 50 3 2002-1060 45 12
0730-1016 55 28 1300-5040 27 16 2001-0012 29 7 2002-1080 49 9
0730-1016 9-1 19 1300-5045 9-2 8-6 2001-0014 20 7 2002-1090 43 12
0730-1223 6 1 1300-6050 56 77 2001-0016 50 2-8 2002-1090 45 1
0730-1432 2 6-8 1300-6365 49 2 2001-0020 1 10 2002-1095 45 1
0730-2032 55 39 1310-0512 13-2 18 2001-0021 50 2-6 2002-1100 37 12
0730-2032 9-1 69 1310-0612 31 8 2001-0022 29 8 2002-1100 45 24
0730-2445 9-2 8-5 1310-0622 13-2 9 2001-0030 211 25 2002-1130 8 20
0740-7015 36 14 1310-0822 13-1 9 2001-0035 56 53 2002-1140 44 25
07S1-0820 211 47 1310-1022 28 20 2001-0039 56 54 2002-1145 43 1
07S1-1025 21-1 45 1310-1024 13-1 6 2001-0044 29 9 2002-1150 43 25
0821A-18155 2 17 1310-1024 13-2 6 2001-1030 211 26 2002-1160 8 21
0891-0610 8 17 1310-1025 55 27 2001-1030 21-2 23 2002-1170 37 1
0891-0808 4 9 1310-1040 28 21 2001-1040 211 24 2002-1195 37 22
0891-0820 25 7 1310-1435 2 6-6 2001-1040 21-2 21 233-300-080002-3 40 6
0991-0506 31 7 1310-1440 2 6-7 2001-1040 56 94 233-300-080003-3 40 7
0991-0608 37 15 1320-0824 2 19 2001-1045 21-2 25 233-300-080006-3 40 8
0991-0608 44 16 1331-0816 26 14 2001-1050 10 12 233-300-080007-3 40 9
0991-0608 45 15 1340-01690 57 8 2001-1050 29 10 233-309-050101-4 40 4
0991-0810 37 16 1360R 14 73 2001-1050 9-1 50 2333-3-150851-01 40 2
0991-0812 10 17 138100-1014 55 1 2001-1055 " 9 2333-3-156018-01 40 5
0991-0812 9-1 54 1420-1550 9-1 49 2001-1060 10 13 2333-3-156900-01 40 1
0991-0812 9-2 12-11  |1421-1230 56 78 2001-1060 9-1 51 240878-05 17 1-1
0991-0815 8-1 12 1502-0635 37 21 2001-1065 211 27 270796-04 17 1-2
0991-0820 33 41 1502-0635 43 21 2001-1065 21-2 24 2B(2CPX1W) 21-1 16
0991-1016 10 18 1502-0635 44 21 2001-1080 4 7 2M-10565 45 1
0991-1028 8 16 1502-0635 45 21 2001-1090 21-1 23 2M-10604 45 2
1024-2014 56 58 1555-0030C 56 56 2001-1090 21-2 20 2M-10797 43 2
1024-2617 56 87 1555-2040 56 80 2001-1100 24 5 2M-10798 43 1

— 3 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
2M-11446 37 2 6208Z2Z-LP03 3-2 9-3 AC20-MO0001 22 19 AF50-M0194 39-2 21
2M-11447 43 2 6232-4-145041-11 21-1 13 AC20-M0011 39-1 45 AF50-M0195 39-2 20
2M-11448 44 2 6232-4-145041-11 21-2 12 AC20-M0015 39-1 66 AF80-MO0012A 19-1 65
2M-11449 45 2 6232-4-145041-12 21-1 12 AC20-M0020 38 27 AH-3175E 14 1
2M-11450 37 1 6232-4-145041-12 21-2 1 AC20-M0042 38 26 AH00-M0018 38 40
2M-11451 43 1 6251-4-130471-26 40 3 AC20-M0043 38 29 AH40-M0004B 52 13
2M-11452 44 1 6316AV 36 30 AC20-M0052 19-2 51 AH40-MO0005A 30 9
3M-10561 46-1 1 6908ZZ-LP3 3-2 8-4 AC20-MO0054 19-1 78 AH40-MO005A 41 13
3M-10889 49 1 7228-3085 14 37 AC20-M0054 19-2 77 AH40-MO0005A 52 12
3M-10890 49 7 7229-3085 14 60 AC20-M0055 19-1 81 AH40-M0019 21-1 10
3M-10891 49 1 8001-661 19-1 50 AC20-M0055 19-2 81 AH40-M0019 21-2 9
3M-10892 49 7 AA00-E0007A 7 9 AC20-M0057 22 20 AH40-M0025B 41 36
3M-10896 37 2 AA00-M0005 2 6-4 AC20-M0096B 39-2 51 AH70-E0002B 16 6
3M-10897 37 3 AA00-M0008 8 26 AC20-M0098B 39-2 52 AH90-M0023 52 4
3M-10898 37 4 AA00-M0009 3-1 26 AC20-M0099B 39-2 53 AH90-M0024 52 5
3M-10899 37 5 AA00-M0009 3-2 26 AC20-M0102 39-2 49 AH90-M0025 52 6
3M-10900-1 37 6 AA00-M0016 32 17 AC30-M0001 211 28 AH90-M0052 41 40
3M-10909 45 3 AA00-M0041 39-2 50 AC30-M0001 21-2 26 AH91-M0024 41 10
3M-10910 45 4 AA00-M0045 41 47 AC40-MO001A 41 49 AJ20-M0001 26 21
3M-10911 45 5 AA20-M0003 2 6-5 AC40-MO0002A 41 50 AK10-E0001A 2 13
3M-11441 44 3 AA20-M0003 30 15 ACSN0-234-S2-C2003 14 21 AK10-E0001B 2 13
3M-11442 43 3 AA20-M0003 41 35 ACSN0-234-S2-C2003 14-1 21 AK20-M0004 31 4
3M-11443 44 5 AA30-M0007 46-2 12 AF00-E0002 19-1 25 AK20-MO0005A 13-1 2
3M-11444 43 5 AA40-M0001 14 39 AF00-E0003 19-1 50 AK20-MO005A 13-2 2
3M-11445 43 4 AA50-K0001 3-2 37 AF10-E0001 19-1 79 AK20-N0403B 13-2 1
3M-11637 37 3 AA99-M0010 41 39 AF10-E0001 19-2 78 AK40-E0004 58 3
3M-11638 37 4 AB-01 8 18 AF40-MO0002A 19-1 24 AK40-E0005 55 26
3M-11639 37 5 AB50-E0012 54 3 AF40-M0003 19-1 9 AK40-M0001 55 35
3M-11880 45 3 AB50-M0002 8 25 AF40-M0003 19-2 7 AK40-M0007 55 50
4055-1625 17 1-4 AB50-MO0003A 54 1 AF40-M0004 20 3 AK40-M0O009A 13-1 5
4055-2225 23 37 AC10-K0001 19-1 55 AF40-M0012 19-1 5 AK40-MO0015A 13-1 20
4055-3025 23 36 AC10-K0001 39-1 50 AF40-M0013 19-1 24 AK40-M0015A 13-2 5
4055-3225 19-1 52 AC10-K0001 39-2 13 AF40-M0013 19-2 21 AK40-M0023 13-1 4
4055-3225 19-2 49 AC10-K0004 55 42 AF50-E0016 39-1 68 AK40-M0025 13-2 4
4055-3425 23 38 AC10-K0007 19-1 80 AF50-M0005 23 8 AK40-N0027 28 9
4055-5035 21-1 39 AC20-E0002 19-1 56 AF50-M0006 39-1 21 AL00-M0012 14 13
4055-5035 21-2 33 AC20-E0002 19-2 56 AF50-M0010 20 4 AL00-MO013A 14 13-1
48272470 25 4-1 AC20-E0002 38 32 AF50-M0018 21-2 30 AL00-M0014B 14 13-4
48333941 25 4-2 AC20-E0002 39-1 49 AF50-M0040 22 1 AL00-M0015 14 13-5
4M-11153 49 1 AC20-E0003 39-1 48 AF50-M0042 39-1 28 AL20-K0015 14 36
4M-11167 49 5 AC20-E0004 38 31 AF50-M0104 39-1 23 AL20-K0015 14-1 36
4M-11168 49 8 AC20-E0006 28 31 AF50-M0104 39-2 23 AL20-MO0011 14 75
4M-11703 37 23 AC20-E0007 19-2 53 AF50-M0105 39-1 22 AL20-MO0011 14-1 75
4M-11704 43 23 AC20-E0007 23 39 AF50-M0105 39-2 22 AL60-M0027 13-2 24
4M-11705 43 24 AC20-E0010 23 40 AF50-MO0119 39-1 20 AL60-M0106 14 12
4M-11706 44 23 AC20-EO0011A 19-1 57 AF50-M0133 38 42 AN6227-31 56 52
4M-11707 44 24 AC20-E0011A 19-2 57 AF50-M0134 19-1 25 AOB-108-RC1(R) 25 2-1
4M-11709 45 23 AC20-EO0011A 23 41 AF50-M0134 19-2 22 AOB-108RC-1 25 2-2
4M-12206 44 27 AC20-E0014 28 30 AF50-M0136 22 10 AOB-108RC-2 25 2-3
62062Z-LP03 3-1 8-5 AC20-E0014 39-1 47 AF50-M0144 33 50 AP40-M0001 9-2 20

— 4 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
AP6W122-R 14 19 CPB-10T 16 5-1 JA43-A0002D 13-2 22 PB21-M7003A 9-2 3-1
AP6W122-R 14-1 19 CR-15-2P0-30 36 18 JA43-A0097 13-2 22-2 PB21-M7005 9-2 18
AR20-N0022 1 20 DG-E1172 36 8 JA43-A0098 13-2 22-1 PB21-M8710A 9-2 7
AR20-Y0002A 1 21 DG-E1174 36 4 JA43-A0160 13-2 22-6 PB21-M8716 9-1 20
AR50-MO0003A 54 17 DG4V-5-2A-M-KU4-H- 28 2 KC-6PT1/4-B 15 13 PB21-M8716 9-2 6
AR90-E0006 51 4 DGSM-01X-10-JA-J 28 3 KGA06-020E 39-2 36 PB21-M8718 9-2 8
AR90-E0030 51 9 DKH 30426 9 1 7 KGA06-020N 39-1 37 PB21-M8719 9-2 8-2
AR90-E0031 51 20 DW31-P15-CP 14 24 KP-C-05 19-1 53 PB21-M8721 9-2 5
AR90-K0011 26 20 DWI 80 94 8 44 9 KZC20-450E 19-2 1 PB21-M8722 9-2 5-1
AR90-M0012 51 5 DWI100114 8 37 9 L-615-5P 14 29 PB21-M8723 9-2 5-2
AR90-M0056 51 8 DWIR 60 74 811.3 45 9 L2N-1/4-PT1/4 42 9 PB21-M8724 9-2 5-3
AR90-M0065 51 16 DWIR 90104 811.3 43 9 LIN-1/4-PT1/8 12 5 PB21-M8725 9-2 5-4
AR90-M0096B 55 25 DWIR100114 811.3 37 9 LIN1/4-PT1/8 9-1 33 PB21-M8727 9-2 12
AR90-M0140B 51 18 EA65-W5130 17 3 LS66-00312 17 5 PB21-M8729 9-2 3-2
AR90-W0001 51 " EA66-W2034 23 33 LS84-WO0003A 17 5-1 PB22-E7001E 9-1 26
AS10-M0003 47-2 20 EA66-W2050 23 7 LVG-75-110P 5 9 PB22-E7001E 9-2 2
AS10-M0003-1000 9-2 8-7 EA68-W5001 24 0 MB51-E0050 471 16 PB22-M1001 9-2 3
AS10-M0004 47-2 21 EA68-W5001A 23 1 MD0610086 14 23 PB22-M7001 52 3-2
AS20-K0002 9-2 3-3 EAG68-W5001A 24 0 MD0610086 14-1 23 PB22-M7002 52 3-1
AS20-M0005 47-2 17 ERC16-06 14 31 MI-300009-1 24 1 PB22-M8502 10 1
AS20-M0006 47-2 18 F-7111-4P 14 33 MI-300009-9 24 1-1 PB22-M8706 9-2 5-5
AS30-Y0006 55 55 FJ80-301 15 5 ML91-A0198 9-2 3-4 PB23-M8502 10 2-1
AS568-031 26 12 HA208-03 39-2 24 ML92-A0013 9-1 n PB23-M8502 9-1 10
AS60-N0002 37 20 HA208-06 21-1 34 ML92-A0013B 9-2 32 PB23-M8701 10 2
AS60-N0002 43 20 HGC-E0400C 1 0 ML92-A0020 9-1 72 PB23-M8702 10 2-2
AS60-N0002 44 20 HC-E0400C 9-1 46 ML92-A0020B 9-2 13 PB23-M8702 9-1 12
AT30-E0002B 16 2 HC-E0400C 9-2 1 MX250A0-20N-01 8 1 PB33-M1005 14 67
AT30-E0002B 16 2 HC-E0400C(KIT) 1 X MZF7401-034012 39-2 66 PB45-M0006D 1 15
AT30-M0003A 16 2 HGC-E0401B 1 1 N2-2 1/4 9-1 34 PB45-M0007 28 5
AT30-M0003B 16 2 HC-E0402C 1 2 N2-2-1/4 12 6 PB45-M0008B 28 6
AT50-E0005 16 3 HGC-E0403 1 4 N2-2-1/4 3-2 20 PB45-M1001A 1 4
AT80-M0004 25 9 HC-E0404 1 15 N2-2-1/4 42 1 PB45-M1001B 1 4
AT80-M0005 25 9-1 HC-E0405B 1 16 N2-21/4 3-1 20 PB45-M1002B 13-2 3
AV00-S0006 21-1 15 HC-E2003A 1 3 NB50-E0002A 42 7 PB45-M1003 13-2 16
B-1-4 18 10 HGC-E2005 1 5 O1T6X*xxxCU 9-1 43 PB45-M8505 13-2 17
BRT2- 60 70 3-19YF 45 18 HC-E2006 " 1 OAH-M000030149 41 8 PB50-M1001A 1 5
BRT2- 60 70 3-31BF 45 18 HC-E2007 1 12 ODI 85709 49 4 PB50-M1001B 1 5
BRT2- 80 90 3-31BF 44 18 HC-E2008 1 13 OSI100 85 9 45 7 PB50-M1002D 1 35
BRT2- 85100 3-31BF 45 17 HGC-E2010 1 18 0OSI140125 9 44 7 PB51-M1001A 14 1
BRT2- 90105 3-19YF 43 18 HF-K9051A 17 6 0SI150136 8.5 43 7 PB51-M1002A 14 2
BRT2-136150 3-31BF 43 17 HF-K9051A-SUS 17 6 OSI180165 9 37 7 PB51-M8505 14 6
BRT2-175190 4-19YF 37 17 HL204-04 19-1 7 0SI190175 9 37 7 PB51-M8507 1 23
BRT3- 85100 3-19YF 45 17 IPB-M11006 55 3 OVH-E90067 50 2-4 PB51-M8508 31 1
BRT3-125140 3-19YF 44 17 IPB-M11007 55 4 OVH-E90949 50 2-5 PB52-M1001A 14 15
C1IN-1/4-PT1/8 12 15 IS1 60 70 6 45 8 PA61-M1032A 16 5 PB52-M1001A 14-1 15
C2N-1/4-PT1/8 3-1 19 IS1 80 90 6 44 8 PA61-M1033A 16 5-2 PB52-M1002A 14 14
C2N-1/4-PT1/8 3-2 19 IS1 90105 9 43 8 PA77-M5002 27 4 PB52-M1003 14 14-1
C2N-1/4-PT1/8 42 8 ISI100115 9 37 8 PB20-E7001E 1 3 PB52-M1005B 14 14-2
C3604BD 24 9 JA41-A0066 13-2 23 PB20-E7001G 1 3 PB52-M1006B 14 14-3
CG-400 53 10 JA41-A0066 31 14 PB21-M7001 9-2 4 PB52-M8502A 14 16

— 5 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TYIR

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
PB53-M1003 52 211 PB81-M1004A 21-2 6 PC-43000F—(6A) 2 15 PC12-E7038 3-1 35
PB60-M1001A 1 6 PB81-M1005 21-1 7 PC-43415 30 16 PGC12-E7038 3-2 35
PB60-M1001B 1 6 PB81-M1006 21-1 8 PC-43415 9-1 73 PC12-E7040 3-1 7
PB60-M1001C 1 6 PB81-M1007A 21-1 9 PC-43415 9-2 18-1 PC12-E7041A 3-1 36
PB60-M1002 1 7 PB81-M1007A 21-2 8 PC-43416 30 17 PC12-E7041A 3-2 36
PB60-M8503A 17 4 PB81-M1008 19-1 3 PC-43416 9-1 74 PC12-E7042 3-1 34
PB60-M8504A 17 7 PB81-M1008 19-2 2 PC-43416 9-2 18-2 PC12-E7042 3-2 34
PB61-E8008A 16 8 PB81-M1009 19-1 4 PC-47013C 52 16 PC12-E8022 5 6
PB61-E8009 16 9 PB81-M1009 19-2 3 PC-63204C 6 7 PC12-E8031C 5 1
PB61-E8010A 16 4 PB81-M1009 23 9 PC-65007A 10 8 PC12-M7003 4 3
PB61-M1001B 16 1 PB81-M1010 21-1 1 PC-65007A 9-1 21 PC12-M7004 3-1 8-2
PB61-M1001C 16 1 PB81-M1010A 21-2 1 PC-65013C 9-1 44 PC12-M7004A 3-2 8-1
PB61-M1003 17 1 PB81-M1011 21-1 2 PC-68006A 53 2 PC12-M7005A 3-1 8-3
PB61-M1004 17 2 PB81-M1011 21-2 2 PC-68008D 52 3 PC12-M7005C 3-2 8-2
PB71-E7006A 1 33-2 PB81-M1012 21-1 3 PC-68013C 52 23 PC12-M7006 3-2 7
PB71-M1001 1 33 PB81-M1012 21-2 3 PC10-E7001J 1 2 PC12-M7007 3-2 38
PB71-M1001A 1 33 PB81-M1013 21-1 1 PC10-E7001J-29 2 28 PC13-E7005C 6 1
PB71-M1002C 1 33-1 PB81-M1013A 21-2 10 PC11-E7007E 2 2 PC13-E7007 6 5
PB71-M1015A 1 33-3 PB81-M1015B 19-1 70 PC11-E7009E 2 1 PC13-E7010B 2 4
PB71-M1016C 1 33-4 PB81-M1015B 19-2 69 PC12-E7001E 2 3 PC13-E7011B 6 2
PB74-M1001A 1 8 PB81-M1019A 21-2 16 PC12-E7001F 2 3 PC13-E7012B 6 3
PB74-M1001B 1 8 PB81-M1020 19-1 5 PC12-E7002D 3-1 1 PC13-E7012C 6 3
PB74-M1002A 18 3 PB81-M1022 19-2 35 PC12-E7002D 3-2 1 PC13-E7014 6 6
PB74-M1004A 18 6 PB81-M1023 20 1 PC12-E7003B 3-1 2 PC13-M7001 6 4
PB74-M1006 18 7 PB81-M8315 38 28 PC12-E7003B 3-2 2 PG13-M7002 6 13
PB74-M1007 18 8 PB82-M1001 1 12 PC12-E7004B 3-1 3 PC14-E0019A 7 7
PB74-M1008 18 1 PB82-M3503 23 2 PC12-E7004B 3-2 3 PC14-E7001D 2 5
PB74-M1009 18 2 PB82-M7001 2 29 PC12-E7005A 3-1 4 PC14-E7002D 7 1
PB74-M7501A 18 4 PB82-M7001 23 4 PC12-E7005A 3-2 4 PC14-E7003E 7 2
PB74-M7502A 18 5 PB83-M1001A 1 13 PC12-E7006K 3-1 5 PC14-E7004E 7 3
PB74-M8507 18 17 PB83-M1001B 1 13 PC12-E7006K 3-2 5 PC14-E7008B 7 6
PB77-M1001A 1 14 PB83-M1001C 1 13 PC12-E7007G 4 1 PC14-E7009A 7 4
PB77-M1002C 27 1 PB83-M1002A 25 1 PC12-E7008B 4 2 PC14-E7010F 7 5
PB77-M1003 27 2 PB83-M1006 25 10 PC12-E7010C 4 4 PC19-E7001D 2 6
PB77-M1004 27 3 PB83-M1007 25 20 PC12-E7011A 4 5 PC19-E7006A 2 7
PB77-M1006 1 34 PB89-M1001B 25 4 PC12-E7012B 3-1 6 PC19-E7007A 2 8
PB77-M1007 27 17 PB91-M1001 1 16 PC12-E7012B 3-2 6 PC19-E7009C 2 10
PB77-M1008 27 14 PB93-M1001 1 17 PC12-E7023B 3-1 10 PC19-E7011B 2 12
PB77-M6010A 27 5 PB93-M1503A-12 53 13 PC12-E7023C 3-2 10 PC19-E7012A 2 14
PB81-E8011B 25 9 PB93-M1503A-17 53 14 PC12-E7024A 5 3 PC19-E7014A 2 25
PB81-E8014 19-1 2 PB94-M1001 1 18 PC12-E7029 3-1 24 PC19-E7015 2 6-3
PB81-E8015B 39-2 14 PB98-E7003A 51 13 PC12-E7029 3-2 24 PC19-E7016 2 "
PB81-M1001 1 9 PB98-M1001 1 19 PC12-E7029 5 7 PC19-E7017 2 27
PB81-M1001A 1 9 PB98-M1002 51 10 PC12-E7030C 3-1 8-1 PC19-E7018 2 26
PB81-M1001B 1 9 PB98-M1003 51 7 PC12-E7030D 3-2 8 PC19-M7001 2 6-1
PB81-M1001C 1 9 PB98-M1004A 51 19 PC12-E7032C 3-1 9 PC19-M7002 2 6-2
PB81-M1001D 1 9 PB98-M1004B 51 19 PC12-E7032C 3-2 9 PC20-E8002A 9-1 25
PB81-M1002A 1 10 PB98-M1006A 51 6 PC12-E7033B 3-1 9-1 PG20-E8002A 9-2 12-1
PB81-M1002B 1 10 PB98-M1502 51 14 PC12-E7033B 3-2 9-1 PC21-E7001G 9-1 1
PB81-M1003B 1 11 PB98-M7506A 51 1 PC12-E7034A 3-1 9-2 PC21-E70011 9-2 1

_6_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES B 5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
PC21-E7012C 9-2 17 PC71-M7011 1 33-5 PE11-M1015A 32 15 PE12-M8735 47-2 12
PC22-E7003E 9-1 17 PC74-E7010 18 9 PE11-M1015D 32 15 PE13-M1001B 32 3
PC22-E7005B 9-1 27 PC79-E2018-10 52 20 PE11-M1017D 33 15 PE13-M1016 32 30
PC22-E7005B 9-2 9 PC79-E7014A 18 2 PE11-M1018D 33 16 PE14-E0023 47-2 7-4
PC22-E7006A 9-1 28 PC79-M2009 52 15 PE11-M1019B 33 17 PE14-E0024 47-2 13-2
PC22-E7006A 9-2 10 PC82-E7002A 23 10 PE11-M1020E 33 18 PE14-E0024 7 7-2
PC22-M3804A 10 3 PC82-E7006A 23 26 PE11-M1021D 33 19 PE14-E8005B 47-1 4
PC22-M3806A 10 10 PC82-E7007 23 4-2 PE11-M1022D 33 20 PE14-E8010B 47-2 7
PC22-M3807 10 1 PC82-E7011A 23 4-8 PE11-M1023D 33 21 PE14-E8013A 471 10
PC22-M8004 9-1 45 PC82-M0004 23 1 PE11-M1024D 33 22 PE14-E8025 471 5
PC22-M8004 9-2 16 PC82-M7008 23 3 PE11-M1025D 33 23 PE14-E8026 47-1 6
PC25-E7001C 9-1 29 PC83-E7004A 25 5 PE11-M1026D 33 24 PE14-E8027 471 8
PC25-E8002B 12 1 PC83-E8022A 25 2 PE11-M1027B 33 25 PE14-E8028 47-1 9
PC25-E8002B 9-1 30 PC83-M7017 25 6 PE11-M1028D 33 26 PE14-E8041 47-2 8
PC25-E8003 12 2 PC91-E7002B-19 53 17 PE11-M1030C 33 32 PE14-E8044 47-2 7-3
PC25-E8003 9-1 31 PC91-E7003A 53 15 PE11-M1031C 33 33 PE14-M1004D 471 1
PC25-E8004B 12 3 PC91-E7004A 52 18 PE11-M1034A 33 47 PE14-M1004F 47-2 2
PC25-E8005 12 8 PC91-E7006A-1 53 18-1 PE11-M1035A 33 6-1 PE14-M1005B 471 2
PC25-E8005 9-1 36 PC91-E7006A-2 53 18-2 PE11-M1035A 37 24 PE14-M1005B 47-2 3
PC25-M8001A 12 14 PC91-E7007F 52 1 PE11-M1035A 43 26 PE14-M1015A 471 3
PC25-M8501 9-2 15 PC91-E7007G 52 1 PE11-M1037 33 10-1 PE14-M1015A 47-2 4
PC52-E7002E 14 7 PC91-E7008A 30 1 PE11-M1037 45 25 PE14-M1016B 471 1-1
PC52-E7004C 14 6-1 PC91-E7010A 52 2 PE11-M1040A 27 18 PE14-M1016B 48 1
PC52-E7004C 14 7-1 PC91-E7011 52 19 PE11-M1040A 33 42 PE14-M1017B 48 2
PC52-E7005B 14 6-2 PC97-M7002 52 22 PE11-M1105 33 5-2 PE14-M1018B 48 3
PC52-E7006E 14 7-2 PC97-M7003 52 14 PE11-M1106 33 6-2 PE14-M1018B 57 4
PC52-E7010D 14 6-3 PC97-M7004 52 10 PE11-M1107 33 6-3 PE14-M1021A 48 6
PC52-E7010D 14 7-3 PC98-E3011 3-1 12 PE11-M1110 33 8-2 PE14-M1021A 57 7
PC52-E7013 14 3 PC98-E3011 3-2 12 PE11-M1111 33 10-2 PE14-M1025 57 1
PC52-E7014A 14 4 PC98-E7003B 51 2 PE11-M1112 33 10-3 PE14-M1025A 57 1
PC52-E7015A 14 5 PC98-E7004B 51 3 PE11-M1150 33 43 PE14-M1026A 57 2
PC52-E7016B 14 9 PC98-M7002 51 15 PE11-M1151 34 1 PE14-M1027 57 3
PC52-E7017D 14 76 PE10-M1001A 1 1 PE11-M1152 34 2 PE14-M1032 471 13
PC52-E7018 14 17 PE10-M1001B 1 1 PE11-M1153A 34 3 PE14-M1033 47-1 15
PC52-E7020A 14 66 PE10-M1502A 32 33 PE11-M1154 33 44 PE14-M1034 471 19
PC52-E7021 14 6-4 PE11-E0028 33 9-2 PE11-M1156 34 8 PE14-M1034 47-2 9
PC52-E7021 14 7-4 PE11-E8096 7 7-1 PE11-M1164 32 7 PE14-M1035 471 20
PC52-E7023B 15 1 PE11-M1001A 32 1 PE11-M1165 34 4 PE14-M1035 47-2 9-1
PC52-E7029 14 40 PE11-M1001C 32 1 PE11-M1166 34 9 PE14-M1036 47-2 9-2
PC52-M1007 14 8 PE11-M1002C 33 1 PE11-M1172A 33 49 PE14-M10370 471 23
PC52-M7002 14 10 PE11-M1003D 33 2 PE11-M1178 33 51 PE14-M1038A 471 24
PC52-M7003A 15 15 PE11-M1004B 33 3 PE11-M7033 33 27 PE14-M1041 47-2 6
PC52-M7004 15 16 PE11-M1005B 33 4 PE11-M8539A 33 8-1 PE14-M1042 471 1
PC52-M7005 15 17 PE11-M1006A 33 5 PE11-M8539A 44 26 PE14-M1043 47-2 5
PC55-E7003 14 65 PE11-M1007C 33 6 PE11-M8554 34 7 PE14-M8001 47-2 7-1
PC59-E7003B 5 4 PE11-M1008C 33 7 PE12-M1001C 32 2 PE14-M8733 47-2 13
PC59-E7005G 3-1 1 PE11-M1009E 33 8 PE12-M1001D 32 2 PE14-M8738 47-2 13-1
PC59-E7005G 3-2 1 PE11-M1010A 33 9 PE12-M1002C 47-2 1 PE15-M1001A 32 4
PC59-E7007B 5 2 PE11-M1011B 33 10 PE12-M3827A 471 14 PE15-M1001A 35 0
PC59-E7012A 5 5 PE11-M1013A 33 14 PE12-M7008 47-2 18 PE15-M1001B 32 4

— 7 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333




12TYIR

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
PE15-M1002A 35 1 PE17-M2016 41 9 PG4400160-T46N 50 2-9 PK93-E1001 52 1
PE15-M1002B 35 1 PE17-M2023B 30 8 PK-E18501B-4 52 7 PX11-M0005 55 5
PE15-M1003A 35 2 PE17-M2023B 41 42 PK-E18501B-5 52 8 PX11-M0005 59 0
PE15-M1003B 35 2 PE17-M5027 47-2 19 PK-E18501B-6 52 9 PX12-M0046 55 8
PE15-M7004 35 4 PE17-M7021B 41 38 PK11-E3067A 28 19 PX13-M0008 55 24
PE15-M7005 35 3 PE17-M7027B 41 37 PK22-E3001B 9-1 2 PX13-M0027 55 6
PE17-E2009C 30 7 PE19-M1001 32 1 PK22-E3002B 10 5 PX13-M0027A 55 6
PE17-E2009C 41 12 PE19-M1002A 42 1 PK22-E3002B 9-1 3 PX13-M0053 55 7
PE17-E2132 30 2 PE19-M1003 32 12 PK22-E3003A 10 4 PX14-E0001A 55 9
PE17-E2134E 30 3 PE19-M1006 42 2 PK22-E3003A 9-1 4 PX14-M0032 55 2
PE17-M0064 9-2 18-5 PE19-M1007 42 3 PK22-E3004A 9-1 5 PX14-M0049A 13-1 3
PE17-M1001B 32 10 PE19-M1008B 42 4 PK22-E3004B 10 6 PX15-M0019 21-1 5
PE17-M1002C 41 1 PE19-M1012B 32 13 PK22-E3005C 10 7 PX15-M0020 55 10
PE17-M1003A 41 2 PE19-M1501A 32 13 PK22-E3005C 9-1 6 PX16-M0008 55 22-1
PE17-M1004B 41 3 PE45-M0007 39-1 32 PK22-E3007B 9-1 7 PX16-M00194 55 22
PE17-M1005C 41 4 PE45-M0007A 39-2 25 PK22-E3008B 10 9 PX17-M0004 55 15
PE17-M1006B 41 5 PE45-M0008A 39-1 31 PK22-E3008B 9-1 23 PX17-M0005 55 16
PE17-M1007C 41 6 PE45-M0008A 39-2 26 PK22-E3009 9-1 22 PX17-M0024 55 13
PE17-M1008C 41 7 PE81-E0006B 38 15 PK22-E3009A 9-2 12-2 PX21-M0004 54 4
PE17-M1010B 41 14 PE81-E0013 38 16 PK23-E3001A 9-1 8 PX23-M0087 54 15
PE17-M1020 30 14 PE81-E3022 20 9 PK23-E3002 9-1 9 PX23-M0119 54 2
PE17-M1020 41 34 PE81-M1001A 32 8 PK23-E3003 9-1 10 PX29-M0004 54 5
PE17-M1021B 1 22 PE81-M1002 32 9 PK23-E3004A 9-1 1 PX29-M0004 54 6
PE17-M1022D 30 5 PE81-M1002A 32 9 PK23-E3005A 9-1 12 PX51-M0022A 58 4
PE17-M1023A 30 10 PE81-M1003 39-1 1 PK24-E3001A 9-1 16 PX51-M0038 58 1
PE17-M1024A 30 1 PE81-M1004 39-1 2 PK24-E3001B 9-2 12-3 PX51-M0042 13-2 21
PE17-M1027B 30 13 PE81-M1004A 39-1 2 PK29-E3007C 9-1 20 PX51-M0042 31 5
PE17-M1028A 41 1 PE81-M1004A 39-2 2 PK29-M5011 9-2 8-1 PX66-E0001 1 18-3
PE17-M1030 41 19 PE81-M1004A 40 0 PK29-M5012 9-2 8-3 S-2AW 14 20
PE17-M1031 41 20 PE81-M1004B 39-1 2 PK29-M5014 9-2 8-4 S-2AW 14-1 20
PE17-M1032 41 21 PE81-M1004B 39-2 2 PK33-M5009B 21-2 4 §-301 14 74
PE17-M1033 41 22 PE81-M1005 38 13 PK33-M5010 21-2 5 S-301 14-1 74
PE17-M1034 41 23 PE81-M1006 38 14 PK40-M2003 28 4 S-308 14 22
PE17-M1035 41 24 PE81-M1007 38 30 PK43-E3012 28 7 S-308 14-1 22
PE17-M1036 41 25 PE81-M1008 39-1 3 PK43-E3013 28 8 SA 18.26 31.75 7.9 26 10
PE17-M1037 41 26 PE81-M1009 39-1 4 PK45-M5017 31 2 SA1-45BSS 3-1 18
PE17-M1038 41 27 PE81-M1010A 39-1 46 PK45-M5018C 31 3 SA1-45BSS 3-2 18
PE17-M1039 41 28 PE81-M1013 38 35 PK51-E3013B 52 17 SC 60 8212 36 19
PE17-M1040 41 29 PE81-M1014 32 31 PK52-M5010A 15 1 SCK 70 49 12
PE17-M1041 41 30 PE81-M1016 21-2 44 PK61-M5010 16 5 SIB01-06 14 30
PE17-M1042 41 31 PE81-M1016 39-1 62 PK83-M5208 211 4 SL04-5009NR 8 14
PE17-M1044 41 32 PE81-M1018 38 41 PK91-E3055 53 12 SM-A02-05-1901 5 14
PE17-M1045 41 33 PE81-M1019 39-2 73 PK91-M5001C-10 53 1 SNY 70C 49 10
PE17-M1048B 41 43 PE81-M1020 39-2 3 PK91-M5001C-14 53 6 SPA04-000J 57 9
PE17-M1049B 30 6 PE81-M1509 39-2 1 PK91-M5001C-2 53 3 S§SS03-040J 39-1 38
PE17-M1050 30 12 PE81-M1511 39-2 1 PK91-M5001C-3 53 4 SW-300865-1 24 1
PE17-M1051A 30 22 PE81-M8006B 39-1 6 PK91-M5001C-4 53 5 SW-300865-15 24 14
PE17-M1066A 41 15 PE81-M8015 39-1 5 PK91-M5001C-5 53 7 SW-300865-2 24 2
PE17-M1067 30 23 PE85-M1044 39-2 69 PK91-M5001C-6 53 9 SW-300865-3 24 3
PE17-M1069 4 4 PE85-M1045 39-2 77 PK91-M5001C-7 53 8 SW-300865-4 24 4

— 8 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
SW-300865-9 24 8 VB33-M0016 8-1 6 VH00-MO0017A 48 5 WRT18017418 37 10
T-15-14P 14 28 VB51-E0002C 36 12 VH00-MO0017A 57 6 XX43-Q0002 56 40
T470 53 1 VB51-E0003 36 31 VH00-M0017B 48 5 XX48-Q0003 56 39
TB-112 21-2 32 VB51-E0005B 8 8 VH00-M0017B 50 0 XX61-E0301 56 38
TB112,TP112 211 38 VB51-E0006C 8 9 VH00-M0017B 57 6 XX89-E0125 56 37
TC 25408 56 51 VB51-E0010A 8-1 8 VH00-M0025 37 13 XZ00-M0040A 55 1
TC55729 56 50 VB51-M0021 8-1 1 VH00-M0026 43 13 XZ00-M0040A 56 0
TC 7510013 56 49 VB51-M0025 36 33 VH00-M0028 45 13 XZ11-E0003K{ 56 1
TC 8011515 36 13 VB51-M0027 36 6 VH00-M0049 19-1 85 XZ21-E0002 56 5
TC 9512013 4 8 VB53-M0002 8 10 VH00-M0049 19-2 85 XZ21-E0007A 56 3
TCN12015014 3-1 15 VB59-M0007 36 34 VH00-M0052C 37 13 XZ21-E0008A 56 4
TCN12015014 3-2 15 VB61-E0001 36 36 VH00-M0052C 46-2 0 XZ31-E0001A 56 14
TCX 4 18021518 8 15 VB61-E0003 36 1 VH00-M0053C 43 13 XZ31-E0002 56 15
TP-112 21-2 32-1 VB61-E0004 36 35 VH00-M0053C 46-2 0 XZ31-E0002B 56 15
UH-220,T600 54 16 VB61-E0005 36 32 VH00-M0054C 44 13 XZ31-E0003 56 12
UMA-0061 25 4-3 VB61-M0037 8 22 VH00-M0054C 46-2 0 XZ31-E0008 56 13
UNC5/8-40L 7 10 VB61-M0038 8 29 VH00-M0055C 45 13 XZ33-E0009A 56 8
UPH 45 6010 1 6 VB61-M0039 8-1 10 VH00-M0055C 46-2 0 XZ33-E0010A 56 9
UPI 30 38 5 " 8 VEO00-MO0044A 32 6 VH09-M0026 50 2 XZ33-E0011 56 10
VB 8 144 24 21 VE00-MO0044A 37 0 VH13-MO0007A 50 1 XZ33-E0012A 56 1
VB00-E0003C 32 5 VEO00-MO0044D 32 6 VH13-M0007B 50 1 XZ35-E0003 56 16
VB00-E0003C 36 0 VEO00-M0044D 37 0 VH13-M0008 50 2-1 XZ36-M0005 56 89
VB00-MO003A-26 8 22 VEO00-MO0044D(KIT) 37 X VH13-MO0013A 46-2 1 XZ36—-MO006A 56 2
VB00-MO003A-26 8 29 VEO00-MO0045A 43 0 VH22-MO0016A 46-2 5 XZ37-E0002 56 29
VB00-MO003A-26 8-1 10 VEO00-M0045C 43 0 VH43-M0004 50 2-2 XZ37-E0003 56 41
VB00-M0019B 2 16 VEO00-M0045D 33 1 VH46-M0032 46-2 4 XZ39-E0012A 56 21
VB00-M0019C 2 16 VEO00-M0045D 43 0 VH47-M0004 46-2 2 XZ39-E0012B 56 21
VB00-M0020B 8 1 VEO00-MO0045D(KIT) 43 X VH47-M0005 50 2-3 XZ39-MO0005A 56 19
VB00-M0020C 8 1 VEO00-MO0046D 33 12 VH52-M0006 46-2 3 XZ39-MO006A 56 20
VB11-E0001F 36 1 VEO00-M0046D 44 0 VH89-M0019 46-2 14 XZ41-E0003 56 17
VB11-MO001A 8 2 VE00-M0046D(KIT) 44 X VH89-M0035 46-2 13 XZ42-E0003A 56 22
VB11-M0006C 8 3 VE00-MO0047A 45 0 VH89-M0036 46-2 13 XZ49-E0001B 56 31
VB11-M0012A 8-1 1 VEO00-M0047D 33 13 VH89-M0037 46-2 14 XZ51-E0012 56 6
VB12-E0001C 36 2 VEO00-M0047D 45 0 VH89-M0038 46-2 13 XZ51-E0015 56 23
VB21-E0001 36 17 VE00-M0047D(KIT) 45 X VKO00-E0003D(R) 25 3 XZ51-E0016 56 24
VB21-E0002 36 20 VE00-MO0048 48 4 VKO00-E0003D(R) 26 0 XZ51-E0017 56 25
VB21-E0004 36 22 VEO00-M0048 49 0 VK11-E0002A 26 1 XZ51-E0019 56 26
VB31-E0001C 36 5 VEO00-MO0049 49 0 VK19-E0022 26 7 XZ51-E0024 56 83
VB31-E0002A 36 21 VEO00-MO0049 57 5 VK21-E0002 26 5 XZ51-M0019B 56 7
VB31-M0007 8 4 VE00-MO0052 28 1 VK25-E0002A 26 4 XZ51-M0020 56 90
VB31-MO0007A 8 4 VEO00-MO0052 29 0 VK31-E0002B 26 3 XZ61-E0003 56 28
VB31-MO0008A 8 5 VE12-K0046 29 1 VK32-E0002 26 6 XZ61-E0004 56 34
VB31-M0008B 8 5 VE23-K0022 29 2 VK33-E0002C 26 2 XZ61-E0006 56 35
VB31-M0027A 8-1 2 VE32-M0020A 44 4 VK51-E0001 26 1 XZ61-E0012 56 33
VB31-M0028C 8-1 3 VE32-M0034 29 3 VK59-E0002A 26 13 XZ61-E0013 56 84
VB31-M0029A 8-1 4 VE34-M0034 29 4 WEP-0-243H 39-2 45 XZ61-E0014 56 85
VB31-M0030B 8-1 5 VE36-M0012 33 5-1 WR14013323 44 10 XZ61-M0007 56 50
VB33-E0001D 36 16 VE36-MO0014 33 9-1 WR15014320 43 10 XZ61-M0008 56 49
VB33-E0006B 8 7 VE36-M0015 45 25 WR15014420 43 10 XZ69-E0012A 56 79
VB33-E0010 8-1 7 VE48-Q0001 46-2 6 WR19018225 37 10 XZ69-E0015 56 32

— 9 —_

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
XZ69-E0021 56 18 ZF02-034012 19-1 15 ZF40-015038 19-2 17 ZF58-020034 19-2 91
XZ69-E0022 56 27 ZF02-034012 19-2 12 ZF40-015038 20 5 ZF59-012014E 39-2 27
XZ69-E0025 56 60 ZF02-034014 19-1 16 ZF40-015038 39-1 61 ZF60-0330045 39-2 10
XZ69-E0026 56 69 ZF02-034014 19-2 13 ZF40-015038E 38 38 ZF61-0330 21-2 7
XZ83-M0001 56 91 ZF02-034038 28 12 ZF40-015038E 39-2 35 ZF61-23320950 19-1 34
XZ89-E0001 56 36 ZF02-038014 20 8 ZF40-020012 39-1 39 ZF61-23320954 19-2 31
ZA20-22016 7 14 ZF02-038014 21-2 47 ZF40-020012E 19-2 18 ZF61-33320800 19-1 35
ZA21-21411 55 56 ZF02-038014 39-1 42 ZF40-020012E 39-2 34 ZF61-43300504 23 12
ZA21-21613 2 21 ZF02-038014 39-2 47 ZF40-020034 19-1 22 ZF61-43300654 23 13
ZA30-08020 21-2 40 ZF02-100034 19-2 48 ZF40-020034 39-2 67 ZF61-4330068 19-2 37
ZA30-10025 21-2 38 ZF02-100034 21-2 27 ZF40-020034E 19-2 19 ZF61-43300804 19-2 32
ZC00-06022 23 43 ZF02-112012 19-1 14 ZF40-020034E 23 21 ZF61-43320680 19-1 40-A
ZC00-06024 39-2 72 ZF02-114012 19-2 1 ZF40-020034E 23 4-5 ZF61-43320780 19-1 40-B
ZC00-06035 19-1 54 ZF03-034038 23 31 ZF40-106018E 39-2 37 ZF61-43321000 21-1 22
ZC00-06035 19-2 54 ZF05-000014 22 9 ZF40-112012E 39-2 29 ZF61-43321004 21-2 19
ZC00-06035 23 42 ZF05-000034 19-1 13 ZF40-112038E 39-2 30 ZF61-6330080 19-2 36
ZC00-06039 19-1 77 ZF05-000034 19-1 13 ZF40-115038E 39-2 31 ZF61-63320750 19-1 39
ZC00-06039 19-2 76 ZF05-000034 19-2 10 ZF41-006018 39-1 36 ZF62-0030053 19-1 86
ZC10-006146 15 6 ZF05-000038 38 39 ZF41-015038 20 10 ZF62-00300534 19-2 86
ZC10-006146 19-2 55 ZF05-000038 39-2 46 ZF44-015038E 22 13 ZF62-00300534 22 1
ZC10-008156 13-1 13 ZF05-000100 19-1 6 ZF44-015038E 22 15 ZF62-03301154 22 3
ZC10-012176 13-1 12 ZF05-000100 19-1 91 ZF44-020034 19-1 17 ZF62-03301354 22 2
ZC10-012176 13-2 12 ZF05-000100 19-2 4 ZF44-020034E 39-2 33 ZF62-13300550 22 5
ZC10-020218 19-2 79 ZF05-000100 19-2 84 ZF45-000060 39-1 44 ZF62-13300880 22 4
ZC10-06146 39-2 76 ZF05-000114 19-1 10 ZF46-000060 39-2 74 ZF62-2332048 19-2 95
ZC10-112176 39-2 12 ZF05-000114 21-1 36 ZF46-000120E 28 17 ZF63-43320850 21-1 20
Z2C22-038001 38 24 ZF06-000012 23 4-7 ZF46-000120E 39-2 32 ZF63-43320854 21-2 17
ZC22-038002 38 23 ZF06-000012 39-2 28 ZF46-000200E 23 20 ZF65-03322000 39-1 7
ZC22-038003 38 22 ZF06-000114 19-2 94 ZF51-006018 19-1 76 ZF67-0330240 39-2 4
Z2C22-038004 38 21 ZF07-000034 21-1 51 ZF51-006018E 19-2 75 ZF67-1330045 39-2 8
ZC23-1038012 38 25 ZF07-000034 21-2 43 ZF51-010038 211 29 ZF67-1330047 39-2 9
ZC42-B02040040 19-2 52 ZF08-000034 19-1 8 ZF51-012014E 28 16 ZF67-1330049 39-2 7
ZC42-B07025025 19-2 80 ZF08-000034 19-1 8 ZF51-012038E 28 14 ZF67-1330052 39-2 6
ZF00-000014 19-1 84 ZF08-000034 19-2 6 ZF51-015012 19-1 1 ZF67-1330060 39-2 5
ZF00-000014 23 4-6 ZF08-000034 28 1 ZF51-015012E 22 14 ZF67-13300674 38 1
ZF00-000034 19-1 23 ZF08-000038 39-1 41 ZF51-015038 39-1 35 ZF67-13300734 38 2
ZF00-000034 19-2 20 ZF40-006014 19-1 19 ZF51-020012E 19-2 8 ZF67-13301654 38 3
ZF00-000034 23 30 ZF40-006014 39-1 43 ZF51-020012E 19-2 93 ZF67-13320550 39-1 10
ZF00-000034 28 10 ZF40-006014E 19-2 16 ZF51-020012E 20 2 ZF67-13320550 39-1 1
ZF00-000038 39-1 40 ZF40-006018 19-1 18 ZF51-020034 19-1 83 ZF67-13320550 39-1 9
ZF00-000100 19-1 82 ZF40-006018 9-1 42 ZF51-020034E 19-2 83 ZF67-13320600 39-1 12
ZF00-000100 19-2 82 ZF40-006018E 12 4 ZF51-020034E 23 23 ZF67-13320600 39-1 13
ZF01-012038 39-1 64 ZF40-006018E 19-2 15 ZF55-000014 39-1 27 ZF67-13320600 39-1 14
ZF01-038014 19-1 75 ZF40-012014E 28 15 ZF55-000038 22 12 ZF67-13320600 39-1 8
ZF01-038014 19-2 74 ZF40-012038 39-1 30 ZF55-000038 38 20 ZF67-13320624 38 10
ZF01-112114 19-1 33 ZF40-012038E 19-2 72 ZF57-015038 19-1 12 ZF67-13320624 38 9
ZF01-112114 19-2 30 ZF40-012038E 28 13 ZF57-015038E 19-2 9 ZF67-13320684 38 7
ZF02-010034 19-1 51 ZF40-015012 19-1 21 ZF57-020034 39-1 67 ZF67-13320700 39-1 15
ZF02-012014 19-1 88 ZF40-015012 39-1 29 ZF57-020034 39-2 68 ZF67-13320764 38 4
ZF02-012014 19-2 88 ZF40-015012 39-1 34 ZF57-020034E 19-2 14 ZF67-13320824 38 5

— 10 —

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



12TvY

BaRES mEES #H5 BRES mEES #H5 HaES mEES 5 HaRES @mEES #HS
ZF67-13321744 38 6 ZF79-000038 22 25 ZK20-B5300 55 23-1 ZU00-32011 56 46
ZF67-23321300 211 21 ZF79-000038 22 6 ZK20-B5600 55 23 ZU00-5204 26 8
ZF67-23321304 21-2 18 ZF79-000038 38 19 ZK20-B6600 55 23-2 ZU00-6036 8 12
ZF67-53300524 19-2 33 ZF79-000038 39-2 39 ZK20-F4300 13-1 1 ZU00-608Z 24 18
ZF67-53300654 19-2 34 ZF79-000100 21-1 31 ZL10-3010 14 32 ZU00-62012Z 24 17
ZF67-53320520 19-1 36 ZF84-2012012 19-2 5 ZL10-3015 14 68 ZU00-6204 26 9
ZF67-53320650 19-1 37 ZF84-2014014 21-2 46 ZP00-025016 29 6 ZU00-6211 56 43
ZF67-53320650 211 19 ZF86-000034 21-1 35 ZP00-030028 1 14 ZU00-6213 56 42
ZF67-53320800 19-1 38 ZF86-000034 21-2 31 ZP00-060028 47-1 18 ZU00-63062Z 471 12
ZF71-000012 19-2 92 ZF90-006018 15 4 ZR90-PA0125A 51 12 ZU00-63062Z 471 7
ZF71-000012 39-1 65 ZF91-006014 22 16 ZS50-A8100 33 45 ZU00-6311NR 56 44
ZF74-000012 19-1 26 ZF92-006014E 15 12 ZS50-A8100 42 10 ZU00-6313 36 9
ZF74-000012 19-2 23 ZF92-006014E 15 2 7S50-B8100 3-1 21 ZU00-6932 8 13
ZF74-000012 21-1 33 ZF93-000060 15 3 ZS50-B8100 3-2 21 ZU00-NF316 36 3
ZF74-000012 21-2 29 ZH04-100034 23 29 Z7S50-B8100 33 46 ZU01-62062Z 3-1 8-4
ZF74-000014 21-2 48 ZH10-000034 23 28 ZS50-B8100 4 1 ZU01-69082Z/P03 3-2 8-3
ZF74-000014 22 8 ZH10-000034 23 4-1 ZS50-C8100B 3-1 13 ZU01-K707620 56 47
ZF74-000014 39-2 40 ZH10-000034 23 4-4 ZS50-C8100B 3-2 13 ZUO01-RNA4906R 56 48
ZF74-000034 21-1 32 ZH10-000034 56 86 7S62-0121210 4 14
ZF74-000034 21-2 28 ZH11-000034 23 27 Z7S62-012210 19-1 53
ZF74-000034 23 25 ZH16-219034 19-1 51 7S62-012210 19-2 50
ZF74-000038 22 24 ZH16-219034 19-2 47 ZS62-0140906 19-1 89
ZF74-000038 38 17 ZH16-219034 23 32 7S62-0140906 19-2 89
ZF74-000038 39-1 24 ZH16-232114 21-1 37 ZS62-0180705 26 19
ZF74-000100 19-1 27 ZH50-B12070 17 1-3 ZS62-0180705 4 12
ZF74-000100 19-2 24 ZH60-A08100 14 69 Z7S62-0180705 50 4
ZF74-000100 21-1 30 ZH60-A15100 12 7 7S62-0180705 56 93
ZF74-000114 19-1 28 ZH60-B 15k 9-1 35 7S62-0341414 16 10
ZF74-000114 19-2 25 ZH60-E255000 47-2 22 7S62-0341414 19-1 90
ZF78-000014 19-1 87 ZH64-012100 23 35 7S62-0341414 19-2 90
ZF78-000014 19-2 87 ZH64-019100 23 15 7S62-0341414 26 18
ZF78-000014 22 7 ZH64-019100 23 16 7S62-0341414 36 10
ZF78-000014 39-1 26 ZH64-0192000 23 34 7S62-0381008 21-2 45
ZF78-000014 39-2 41 ZH65-019019 19-1 64 Z7S62-0381008 35 7
ZF78-000034 19-1 29 ZH65-019070 19-1 64 ZS62-0381008 36 7
ZF78-000034 19-2 26 ZH65-019070 19-2 64 7S62-0381008 56 92
ZF78-000034 23 24 ZH65-019100 23 14 7S62-0381008 8 19
ZF78-000034 39-1 69 ZH92-000034 23 6 Z872-007008 55 52
ZF78-000038 38 18 ZH92-000114 21-1 15 ZS95-01095 45 19
ZF78-000038 39-1 25 ZH92-000212 21-1 14 ZS95-01145 43 19
ZF78-000038 39-2 38 ZH92-100114 19-1 1 ZS95-01170 37 19
ZF78-000100 19-1 30 ZH93-280034 23 4-3 7S95-10130 44 19
ZF78-000100 19-2 27 ZH93-280034 23 5 ZS95-10140 43 19
ZF78-000114 19-1 31 ZJ40-04016 31 6 ZS95-11026 46-2 8
ZF78-000114 19-2 28 ZJ41-12035 56 57 ZS95-11090 45 19
ZF79-000014 20 " ZJ41-15050 10 19 7S96-10136 43 17
ZF79-000034 19-1 32 ZJ60-1010076 55 12 ZU00-22220B 3-1 14
ZF79-000034 19-1 74 ZJ70-0601068 9-1 24 ZU00-22220B 3-2 14
ZF79-000034 19-2 29 ZJ70-0601070 9-2 14 ZU00-22316 4 13
ZF79-000034 19-2 73 ZK10-A3711 14 6-5 ZU00-30308 56 45

— 1 1 —

JAMYALCTH OMA EETOHOHACDCODE
+191E0710333



